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W
RR(HE)= € 7.500, £:9,700, £:9,700, H:9,700
[JL493 600 57% _ A:17.500, £:20,000, £:20,300, H:16.100
[JL495 700 59%
[JL497 500 52%
499 800 46%
BmHRE [ JL490 700 49%
[JL492 500 52%
[ uL494 700 59%
[JL496 600 49%
1498 600 49%
HR CRIE)=# L RERERCAE)E [ _JLdsi .300 50%
[ 1433 900 52%
[ JL435 300 59%
[ 1437 300 59%
[JL439 700 50%
1443 1300 46%
EATTES [ JL430 800 47%
[JL432 800 47%
[uLa34 000 57%
[JL436 000 57%
[JL438 200 49%
L44 600 50%
RRCAE)=ALAM RRCAE R L .000 54%
L. 900 56%
L 500 52% 000, £:11,000, H:15,000
L 000 76% 00
FEAME L 100 60%
L. 100 56% 7
L. 100 56%
L. 900 60%
B (FE)=X5 RRCAE) % [ JU .000 70%
[JL663 600 46%
[ JL665 600 6%
[ JL667 000 | 75% (A
[ JL669 800 43% ,600, £:25.000, 1:19.800, H:25.500
L671 000 75% 000, H:14,000
K55 | _JL662 000 75% 000
[ JL664 .000 48% 100, £:25,600, £:21.700, H:20.600
[ JL668 000 | 75% | H:14000
L670 400 49% 2,700, £:20.500, H:20.300
672 200 45% 00, +:21.900. A:24.700
L674 000 70% 4,900
HR(HH)=R& RER(FHE)FE [ _JL605 ,000 9,500
[ JL607 1900 5100, £:21,000, B:19.100
[ JL609 000 3,500, £:21.400, B:21.700
L611 000 3,500, £:21.400. A:21.700
613 1000 4,000
L615 1000 7
RIEE [ JL606 1000 7"
[ JL608 000 75%
1610 500 53% 5:23,100, £:20,300, H:21.500
1612 100 52%
614 100 52%
L616 000 7%
R (CFHE) =X RRERCAE) % [ _JL623 000 80%
[ JL625 300 51%
[JL627 600 50%
[JL629 500 50%
[JL631 000 76% 000
[JL633 400 48% :21,600, £:19.500, H:20.700
[JL637 000 47% 2,300, £:19.000. A:21.700
639 000 76% 4,000
MRS | JL622 000 76% | £:14000
[ JL624 100 51% 700, %:23.700, £:21.300. B:18,000
[ JL626 100 51% :20,000, #:21.100, £:19.100, H:18.400
[JL628 000 76% —
[JL630 800 50% 5:23,000, £:19.100, H:21.600
[JL632 800 50% 5:24,000, £:19.100, H:22.700
[ JL634 800 50% >:24,000, £:19.100, H:22.700
1638 000 | 69%
B (FH)=8% RER(FHE)FE [ _JL6s7 000 60%
[ JL689 900 58%
[ JL691 900 56%
[JL693 500 59%
[ JL695 500 59%
1697 000 76%
BR[| JLess 000 76%
[JL690 100 56%
[JL692 400 53%
[JL694 700 52%
[ JL696 700 50%
1698 900 52%
RECHE)=ER RRECAE) % L 000 81%
L 600 65%
L 600 65%
L 700 59%
L 100 58%
L 000 1%
[ JL653 500 59%
655 000 1% 4,000,
EREH 000 FIE
L 800 59%  A:22.200, 2:23.100, £:19.500, H:18.200
L 500 59% 0. 7K:19.000, A:23.800, %:25.100, H:16.900
L 000 81% 24600, B
L 600 55%  A:21.900. & 20,500
[ JL650 .500 59% A NES 20,300
L652 100 | 58% 425100, &
100 58% A 0. &
R () =BfE PNAGIE L: 000 79% [£:11,000, £
AR L: 000 | 79%  €:11000, £
REE(PE)=ALIR FF&| 2R (P 3 [ L 300 52% & 0, £:27.
L: 400 67% 216,800, F:16,800, H:16.700
L: 500 79% | +:8800
FLIREFFR) L 000 78%
L: 800 51% _ H:24.700
200 50% _ £:24,000. £:24.000, H:26,500
R (HE)=RE HREWEE |97 000 | 79%  £:18,000, £:18,000
L97: 000 | 82%  £:16000, £:16,000
aiEsE L97: 000 82% | H:16,000
L97: 000 79%  F:18.000, H:18,000
IR (EX) =R FIR(EH) % L2895 800 62%
RRFE 1289 800 62%
ALIR (B 3) =BfE EGEESE L275' 900 55%
EEE L274 ,900 55%
AR (EH)==R RE L281 11,000 58%
R (HE)=8d HRCAE)FE | JL9st 15000 | 78% 218000, £:18,000
BHE 936 15000 | 78%  /:18,000, H:18,000
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RRCAB=-AIRFHTR)| RRFRE 100

700, £:30.000, 525800

FLIE (BT 5 UL

2
26,000, £:23.900
£:25.100, H:25.900

R CHE)=18R RRCAE R

BERE

700, 526,100
,700, H:26.100
700, H:27.100

RRCAB) =98 BB | RREIDR

PR RER)

300
500
500
.300, H:27.700
,300, H:27.700
500, H:27,700

AR (EFA=-ARFTFR)| KRG E

FLIE (BT 5 L

KR (BIE) =ALIR G Fi%) | KBk (B ) %

FLIE (BT ) 5 L
AR (FFH=98 BB | KREFMHR
REGRE R [
BE=FLIEFHTR) BERE
IR FFR) R

RRCRE)=X#31 RRCAE R

ESTES

RRCHE) =Nl RRCAE R

FEIES

R CHE) =HIEE RRCAE R

ElES

RRCHE)=HIE RRCAE R

0
H:13,000

HILSE

400, H:24,400
400, H:24,400
700, H:21,500
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B (FIH) =g RERERCAE) % 12,000 69% 500
17500 55% 1700, £:20,000, H:21.400
600 75% .000
E3E] 600 75% K
200 48% 300, ©:21.100
000 69% 300, H:21,100
R CHE)=H RRCAE R L 500 58% 00
L 000 57%
L 500 58%
L 000 57%
L 500 69% &: 00, H:13,000
L 000 70% & 00, H:12.500
EHRE L .000 70% E3 000
L 500 69% S .000
L 500 58% E2 000
L 000 57% B:16.
L 000 57% 2]
L150 500 58%
RRCHE R (FE)E [_JLI53 000 70% & 00, H:10,000
[JLi55 000 59% k: 00
[JLi57 300 55% 2. 000
L159 .000 72% B3 00, H:16.300
[JLi52 300 55% |
[ JLi54 .000 70%  A: £:16.300, £:16.300
[ JL156 000 59% Al £:16.300
158 .000 70%  A:1 £:16.300, £:15,000, H:15.000
R CFIE) =B RRECHE) % L 9,000 70% K9 00, £:9,900
L 18700 38% +:10, .
L 14900 51% A5, .700. H:10.700
L 9,500 69%  A:1 700, £:10.700
HER L 11,000 64%  A:18. ,900, £:10,700, H:10.700
L 14900 51% 10, 0
L 17600 42% %
L6t 000 70% K9
B CFE) =1L RRERCHE) % L175 800 57% A9
L 600 48% &
73 L 400 49% 01
L 800 57% Kl
B CHE) =M RRECHE) % L 800 68% A9
L 800 53% Al
L 400 62% L
L 900 63% | t9
L 800 68% K9
L 800 68% A1
IMRFE L ,800 68% _ :10,400, £:10.400,
L 800 68%  A:9,900. £:9.900, £:9,500
L 400 62% £
L 11800 56% %l
L 12400 54% N N 00
L 8.800 68% .300, £:9,500, H:12.000
RR CRE) =R RRCAE R L23 ,900 65% 3,700, H:13.000
[JL233 400 64% 00, E.9,700
[JL237 200 62% 00, £:16,000. £:13.700. H:13.000
[JL239 000 57% 00
L241 1900 68%
[ZES [ JL232 .900 68%
[JL234 000 57% 700, H:13.000
[ JL236 900 65% 13,700, H:13,000
240 000 57% .000
1242 000 57% 700, H:13.000
RRCHE)=ES RRCAE R L253 ,200 65%
[JL255 200 63%
[JL257 300 52%
[JL259 300 52%
261 200 63%
[JL263 500 64%
[ JL265 200 55%
267 200 57%
LEB% [ JL252 400 62%
[JL254 600 54%
[ JL256 200 63%
[ JL258 200 63%
[ JL260 500 64%
[JL262 900 56%
[JL264 300 52%
1266 500 49%
RRCAB)=LOFEH | RRFEE L291 100 46%
[JL293 100 46%
[ JL295 100 46%
297 100 46%
[I=E22%3 1290 100 46%
[JL292 100 46%
[UL294 100 46%
1296 100 46%
RRCHE)=HE RRCAE R L277 ,300 49% 700, £:21,200, B:10,500
[JL279 600 39% 00
[JL283 200 52% 00, H:11,000
[ JL285 700 53% 00, H:10,000
287 600 39% 00
HER L276 .000 63% X 00, H:10,500
[JL278 700 42% 400, H:18.900
[ JL280 200 52% 000, H:11,000
[JL284 200 38% 00
1286 000 1 0. £:22.200, £:19.400. H:21,600
R (HE)-EE R CAE)5 | JL453 ,000 1 500, 15,900, H:9.400
[ JL455 ,000 1
[ JL459 500 7
[JL461 500 7
[ JL463 100 3
L465 100 3
BER [ JL452 500 7
[JL454 400 55%
[ JL456 400 55%
[ JL460 300 55%
[ JLd62 300 55%
L 800 54%
RRCHE) =/ RRCAE R L: 500 57%
L 800 46%
L 800 51%
[JLa 100 59%
[JL483 100 59%
[JL4ss 500 55%
487 100 42%
BINRE L474. .000 56%
L476 600 52%
[JLa78 100 59%
[ JL480 100 59%
[ JL482 400 55%
[JL4sa 000 4% X
1486 300 41% X 500
R CHE)= R (FE) S |_JL4ol 600 57% 500, 2 ,300, H:9,700
[JL493 600 | 57% _ A:17.500, 2 300, H:16.100
[JL495 700 59% 00,
[JLdg7 500 52%
499 800 46%
BmHRE [ JL490 700 49%
[ JL492 500 52%
[JLd94 700 59%
[ JL496 600 49%
L498 600 49%

JAL
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E
HR CFIE)=#l RERERCAE) % .300 <:17.000, £:19.000, 1:19.400, H:16.600
[ JL433 .900 52% :21,100, £:20,000, H:11.000
[JL435 300
[ 1437 300
[JL439 .700
1443 300
[AITES L430 800
[ 1432 .800
[uL434 1000
[ JL436 1000
433 .200
L44 600
RECAE) =AM RRECHE) % L. .000
L. .900
L 1000 100, 18,900, H:15,000
L. 500 100, 18,900, H:15,000
M L .000 318,100, £:18,900
L. 100
L. 100
L. 1000 4,000
B (FE)=X5 RRECHE) % 000 000
[ JL663 300 900, B:1
[ JL665 300 900, B:1
[ JL667 1000 00
[ JL669 600 800, H:25,500
671 1000
K55 | _JL662 1000
[ JL664 100
[ JL668 1000
L670 700 300, £:20.500, H:2!
L672 .000 1,900, H:24.700
L674 000 4,900
B (FH) =R RRECAE) % L605 .000
[JL607 000
[JL609 1400
L611 400
L613 1000
L615 1000
REFE | JL606 1000
[ JL608 000
610 100
1612 000
L614 000
L616 ,000 200, H:22.700
R () =X RRECHE) % L623 000 500
[ JL625 500 600, +:19,500, H:17.000
[ JL627 500 600, +:19.500, H:18.600
[ JL629 500 800, A:20,700, £:21.600
[JL631 1000 X
[ JL633 700 800, £:21,600, :19,500
[ JL637 .100 300, +:19,000. H:21.700
1639 1000
MRS | Jl622 1000
[ UL624 700
[ JL626 .000
[ JL628 1000
[JL630 600 100, H:21.600
[JL632 600 100, H:22.700
| JL634 .600 100, H:22.700
L638 000 00
RRCHE) =B RRCAE R L687 .000 .900
[ JL689 ,900 600
[JL691 600 200
[JL693 800
[ JL695 600
L697 1000
LS [ _JL688 ,000
[JL690 300
[JL692 .300
[ JL694 .300
[ JL696 000
1698 300
RECHE)=ER RRECHE) % L 000
L 4,000
L 4,000
L 1,100
L 600
L 000
[ JL653 .000
L655 000
ERER L 000
L 200
L 500
L 000
L .900
[ JL650 .900
[ JL652 100
7} 400
R () =BfE PNAGIE L: 000
fE L: 000
REE(PE)=ALIR FF&| 2R (P 3 [ L ,300
L: 000
L: 800
HLIREFFR L 000
L: 800
000
B (FE)=R1E RRECHE) % L .000
L 000
RER L 000
,000
AR (FHE)=8d RR(FHE) % L93 .000
BHRE L936 ,000

JAL
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B51E BAMAR
R CHE)=XR (B | RECHE) % 28E A 8700 69%  £:8,000, £:10600
288 9700 65%  F:11.100
288 12,500 55% 15,100, +:13,300
288 12000 57% 4500, %:12.800
288 12,000 57% 4,000, £:12,800
900, :12,600
3,000
900, :11,000
1,800, +:11,000
713,600, 1:10,600
900, £:8,000
500, £:10,600
800, 10,600
0, :10,600
300, £:11,000
GRS 600
800
200, £:11,100
600, £:10,600
600
300, £:11,000
1,800
1800
00
00
00, £:11,100
288 57%  £:14000, +:10,600
288 66%  %:14,800, +:8000
(E) =XKWk (B&) |RR M@ f[ J221 [ 288 68%  £:11200, F:11,200
[[JL225 | 288 60%
| JL229 288 68% £:11,000, +:10800
KB (B97E) [ JL220 | 288 400
|_JL224 288 200 63%
228 | 288 900 | 68%  %:12,100, £:10000
% B F %) L501 | 288 900 78%  £:14000, F:14,700
503 | 288 700 62% _ 7K:11,800. A:13,800, %:15,000
L505 | 288 200 61% k12,900, A:14,900, :15900
507 | 28 400 | 70% _ %:16900. +:17.200
L509 | 288 900 71% _ £:17,200, £:17,200
288 200 58% 7K:14,300. A:16,300
288 500 60% JK:13,500, A:15,500, £:16,200
288 700 62% _ 7K:12.500, A:14,500
288 700 62% JK:12,500, A:14,500, £:15400
288 400 | 72% %:15,700, +:11,000
288 900 | 74%  £:15300, £:10,500
[CuL52 288 400 | 75%  %:15300, +:10000
[[Jiso5 | 288 900 | 76% 16,000, £:9500
[CuL527 | 288 400 77% 4:17,000, £:9,000
[[Jis29 | 288 900 | 78% 17,000, £:8500
531 | 288 700 79%  %:14500
(FLIR (37 Fm)5]_JL500 | 28BAT | 8900 78%
[uLs02 | 288 400 77%
[uLs04 | 288 900 764
[JL506 754
[JLs08 4%
634
62%
60%
60%
[ 624
[JLs20 70%
[uL522 7%
[ L524 | 68%
[JL526 68%
[CJis28 72%
530 74%
R CHE) F [ JL303 | 80%
[JL305 76%
[JL307 ] a7% 3,500, £:20,900
[JL309 434 4,900, +:20900
47% 3,500, +:20,900
454 3,900, +:20,900
49% 0,500, +:21,300
534 7,200, £:20,600
53% 7,200, :20,600
[ 7% 15,900
[JL323 | 59% 21,600
[JL325 59% 600
[_JL327 47% 16,800, 1:20,200
[JL329 74% %:17.900
[ JL331 | 52%  7K:15.400, £:15.900, F:19300
[JL33s 76% 5900
335 764
\EFE [ JL300 76% 900, F:13.900
[uL302 74% 900, :14,900
[uL304 69% 900, +:16,900
[ JL306 | 58% 700, £:21,100
[uL308 504 )
52% 7}
55% )
55%
700, :17.200, +:21.500
[ 400, %:23000
[CuL320 400, £:23,000
[uL322 900, +:13,900
[CuL324 900, +:20400
[ JL326 | 3,900, +:20,400
[uL328 600, +:21,600
[CJLa30 900, :12,900
[Cut3s2 900
(HE) =L (V8 | FR CRED 3 [ JL901 -
[JLo03 500, £:25500
{JL905 | £:25,500, 1:25,500
[JLeo7 500, +:25,500
[_JL909 500, +:24,500
K:21,700, :22.300. :23,900
900
200
12,900
[ 1,900
[[Jioos | 2eEf] | ¢ 11,900, F:11.400
[JLo2s | 288 2,900, F:11,000
Sl (IR ER) % [_JL900 288
[[JLoo2 | 288 —
[uLooa | 288 700 | 79% %1200, £:11.200
[CJLoos | 288 900 | 76%  %:12,400. F:12,400
[[Jioos | 288 900 | 76% _ £:12400, F:12.400
288 200 58%  %:21600, F:22,200
288 200 58%  £:21,600, +:22200
288 200 58%  %:21600, F:21,500
288 400 57%  £:23400, +:21500
[ 288 400 57%  £:23400. F:21,500
|_JL920 288 200 62%  £:19,700, +:20200
927 | 288 200 72%
KB (B 7D =4LIR (7 F#%) | KB (F+7%) % [ JL2001 [ 288 100 66%  £:21,400, 25600
[[JL2005 | 288 200 | 64%  £:22.200. F:24,600
(LI (T F &) 5 _J +:21,200
[ 600
N I I 700
RIR (B3E) =HLIR (3 F %) | A (BAEE) 3¢ [ J 100, £:23,500
4:10,900, £:11,100
FLIR (37 F ) 5 £:12,800, 11,800
419,100, £:18,600
RIR (B =040 B8 | KIR (A % £:19.200
(AR ER) % [
wEE=TR () [EEES 400, +:22,600
300, +:11,900
LR (3T F ) 900
[ X 000, £:22,600
g FR (M) K [_JLse5 | 288 500 54% _ 7K:15,600, A:17,500, £:22,000
[[uLs67 | 288 000 63% 500, £:22500
[Jis69 | 288 900 | 79% 900
TR [ _JL562 288 900 79%
[ JL564 | 288 000 67% 700, +:15,000
566 | 288 800 | 73% | %:17.400. F:12,100
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o e [ TR, #EE [
EIEES AR
R CRE) =Rl R CHE) $ [ JL551 | 80%  £:18200, 1:19.200
[JL553 59% 7K:17,300, A:17,700, £:20000
|_JL555 78%  1:18000
[JL557 804
TeN%E | 552 80%
[uLs54 78% _ %:17.900
| JL556 65% £:17,900, +:16,300
558 80%  %:17.200
R CHE) =3I R CHE) % 77%  £:11,900, $:11,900
62% 7K:15,800, A:16,100, £:17.100
80%
ElES 80%
74% £:13900, +:12,100
7%
R CAR) =R R (P %[ JL573 | 80%  £:20700, 1:20600
[uL575 61% 7K:17,600, 718,200, :18500
[_JL577 77% £:18600, +:18500
579 754
HLFE | JL5T0 75% 212,900, £:12,900
[uL572 63%  £:19,600, :17.600
{JL574 | 75%
576 80%
R CHE) =B R CHE) $ [ JL585 | 69%  £:15800, F:17400
[JL587 64%  %:15900, %:15500
[JL589 754
EER | JL584 | 75%
[_JL586 62% £:17,000, +:153800
588 69%
R CHE)=H R CHE) % 68%  1:13500
57%  +:15300
HERE 400
900
100, X:15400
400
400
200
R CAE R (PE) % 900
900, :11.900
900, +:11,900
70% _ %:16,000, £:16000
56%  7k:11,900, +:10,700
704 £:16,000, £:9.900
R CHE)=RE R (PE) % 71%
404 £:10400
53%  +:10400
69%
HER 64%  £:10,400
53%  +:10400
46% £:16,700, +:10400
7%
R CHE) =17 R CHE) % 58%  £:7,500, £:9,300
53%  %:10200, :10200
%3 55% | £:10,800
58% 500, £:7500
TR CHE) =/ R CHE) % 68%  £:8,000, +:10.300
60%  +:10.800
288 64%  1:9.300
288 64%  +:8300
288 700 | 68% 28000, 7,500
288 700 68%  £:8000. F:7,000
IR 285 700 | 68% 27000, 7,000
288 700 | 68%  £:8000. F:7,500
288 900 | 63%  +8300
288 900 | 63%  +:8300
28EF] 9,900 63% __ £:10,900, £:8300
288 700 | 68%  £:8000 F:7,500
R (PE) % 288 300 35%  7K:20800, A:22,300, £:22,800
288 900 | 64% _ +:22.300
74%  #:13,000
PR ERE 71%
6%
42% _ %:22800, 122300
R CRE) =R R CHE) % 65%  £:13300, 3:13200
65% %9600, F:9,600
65% _ +:12,800
60%  %:14,800, 13400
68% 28900, 8,000
TS 68%  :8,900, +:8900
|_JL234 59% £:14,900, +:13,400
236 65%  £:13,000
240 61% 29900, £:9900
247 58%  %:16,000, 1:13.400
RECHE)=ES R CHE) F [ JL253 | 75%  K:13,100, 7:13,300
[JL255 62% 7k:14,100, 1:13,700
[CuL257 53% 210,100, +:10,100
[JL259 54%  +:13,700
261 63% 29,100, £:9,100
[JL263 66% +:13,
[JL265 62%  £:15000, T:12,200
267 64% [ %:10,100, +:10,100
252 65%
254 59%
256 66%
258 66% —
260 66% 0,100, £:10.100
262 56% 00, £:13,700
264 56% 7,100, +:13,700
266 56% 0100, +:10,100
291 66% 700
293 634 0400, F:10400
295 62% 16,400, 1:15,200
[JL207 710,100, +:10,100
WOFHFE [ JL200 10,100, +:10,100
[CJL202 200
[CuL204 400, E:10,400
296 800, £:14.200
R CHE)=HE R CHE) % 277 400, F:10.400
[CuL279 800
[Jioss 900, £:10900
[JL285 700, :16,100
287 100, +:17,500
HESR 276 000, A:12.700
[uL278 200
[uL280 900, F:10900
[CuL284 1,900, F:11,900
286 700
RECHE)=#S R CHE) % 453 300, £:9,300
[JL4ss 3,900
[ JLase £:9,400, £:9,400
[CuL4s1 63%  %:15200, :13,900
|_JL463 59% 15,200, +:13900
465 59% 900, £:8.900
ERE [ 452 76% K:13,400, %:14,100
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2,800, +:8,000, B:12,800
(AE) =Xk (B&) |RR@E) %[ _J >11.200, +:11,200
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k15,500, £:16,500, 1:16,200, H:14,200
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[[JLs2s | 288 600 | 50%  3:19.100, :20,000, :22,500, +:21,600, H:20600
[_JL327 288 000 47% 900, :17,700, 7k:16,300, £:16,800, +:18,100, H:19,500
[[JL329 | 288 900 | 74% A:12,000, £:18,000, +:12,000, H:14900
[ JL331 288 900 52% §:15,000, 16,800, 7K:15,400, #:15,900, +:17,200, H:17,600
[JL333 | o288 900 | 76% 000, £:16,000, +:11,000, H:13.900
335 | 288 900 | 76% 000, %:16,000, F:11,000, H:13900
wmm% [ JL300 | 28H 900 76% 000, £:14,000, £:14,000
[[Jia0z | 288 900 | 74% 000, 15,000, F:15,000
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[[JLazz | 288 900 | 71% [A:13000, £:15,000, +:14,000, H:14900
[[uLs2a | 288 400 55%  j3:18.400, 7K:19,800, :19.800, %:23.900. H:21.300
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500, B
[ 1,500, B2,
[JLe20 200, B
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[JL2005 19,400
(L2009 000, £:9,000, £:9.000
2019 00, %:11,00 11 aaa
fFLOE (37 F &%) H{_JL2000 00, £:9,000, +:2
[JL2006 oy EaniT aaa B:21,800
[JL2010
[JL2016 aoo
KB (B37) =#LIR (37 F &%) | KR (BAE) & [ JL2501 500, +:23500, B:17.000
2505 1100, B:11,100
FLIE (37 F2%) H_JL2504 800, H:13,500
2506 300, +:18,600. H:23,000
RIR (B2 =040 GBRER) | KBR (F27%) % [ JL2081 000, +:19,200
[JL2087 000, %:9,000, +:9.000
AL GHVER) % | JL2084 | 2880 900 79% 00, £:9,000, £:9,000
[JL208s | 288 900 | 69% 000, %:13,000, +:13,000, H:20300
wEE=-ILR (&) EERE 3513 | 288 900 67%  A:21,300, +:22,600, H:22,600
3515 | 288 900 | 83% 000, %:17,300, +:11,000. H:17.300
(LI (37 F 2%) 3510 | 288 900 83% 200, F:11,000, H:20,300
[ULasi2 | 288 900 67% +:22,600, H:22,600
R FR (M) K [_JLse5 | 288 500 54% 3,600, 15,600, 7K:15,100, :16,500, £:22,000. H:18.500
[CJLs67 | 288 600 63% 500, £:22500, +:22.500. H:20500
[Jis6o | 288 900 | 79% 000, :12,000. EI 11,900
Ki@mzE | Js62 | 288 900 79% 1,000, :12,000, B:11,900
| JL564 288 500 58% ,000. Zﬁmsﬂﬂ iﬂsﬂﬂ £:16,700, +:15,000
566 | 288 800 | 73% 100, %:17.400, +:12.100, H:17.700
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[JL553 7,100, :17,700, %:18.700, +:18,500. H:19.000
[CUL555 1,000, %:11,000, +:18,000, H:19,200
[JLss7 | 288 900 0% :10,000, %:10,000. +:10000
TBII%E | Jis52 | 28H 900 80% :10,000, %:10000, +:10000
[[uLs5a | 288 900 | 78%  A:11,000, £:17.900, +:11,000. H:19.400
| JL556 288 000 65% 3:16,000, £:17,900, 1:16,500, H:19.400
[JLss8 | 288 500 | 80% :9600. %:17.200. F:9,600, H:17.700
R CHE) =3I R CHE) % 288 900 77% _ 7:11,000, :12,000, £:12,000
15400, :15,600. 7K:16.400. £:16.900. £:17.100
600, £:9,600, F:9,600
HIEESE 288 500 80%  7K:9.600, £:9,600, 1:9.600
288 300 4% 311,400, £:13900, +:12,100, H:13300
288 900 | 77% A:11,000, £:11,000, +:11000, H:11.900
R CHE)=HIL FR(PAM) %[ JL573 | 28HF1 | 9500 | 80% 9,600, £:20,700, F:20,600
[[uL575 | 288 600 63% 7,300, :18.200, %:18,600, :18.500, H:19.500
[uLs577 | 288 900 | 77% [A:11,000, £:18,600, +:18,500
579 | 288 900 | 75% _ A:12,000, £:12,000, +:12,000. H:12.900
HLFE | JL5T0 2,000, :13,000, F:13,000
[uL572 500, £:19.600. F:17.600. B:19,600
[CuL574 12,000, £:12,000, +:12,000, B:19,600
576 0,600, 9,600, +:9,600, H:16.700
R (FE) =HiR FS(CHM)F|_JL585 | 28H[] | 11900  69% 12,000, £:15,800, £:17,400
[CJLss7 | 288 13900 64% 200, £:15.900. F:15,500. B:18,000
[JL589 | 288 9500 | 75% |A.9,600, %9600, +:9600
EfEFE [ JL584 | 288 :9,600. :9,600, +:9.600
| JL586 288 3:14,800, £:17,000, 1:15.800, H:19,100
[JLsss | 288 000, £:12,000, +:12,000, H:19.100
R CHE) = R (AE) % 288 12,000, £:12,000, +:13,500, H:11,200
288 300, H:15,300
288 800
288 400
285 500, 211,500, F:11500, H:12,900
288 000, £:11,000, +:11,000, H:12.400
HERE 286 +11,000, #:11,000, +:12,500
288 1,500, €:11,500, +:13,000
288 15400, £:15.800, 1:15800, H:15800
288 3,100, £:16,400, B:16.400
288 3,100, £:16.400, H:16.400
288 12,000, %:12,000. F:11.200. B:15,000
R CHE R CHE) % 288 k11,000, £:11,000, £:11,900, H:9.900
288 16,000, 7K:16.000. :16.000, B:10,700
288 16 1,900, £:11,900, +:11,900
288 0,000, %:10000. F:10,000, H:16,000
288 1 —
288 10900 | 70% [A:11,000, £:16,000. F:16000
288 11,900 67% _ A:16,000, £:16,000, +:10,700
28EHT | 10900 | 70% :11,000, £:16000. F:10,000. H:11,900
R CHE)=HE R CHE) % 28BF] | 8900 | 71% A:9,000, £:9,000, :9,000
28EH] | 18100  40%  +:10400, H:10400
28EF] | 14400 __ 53%  j3:14,700, £:10400, B:10400
288 9400 | 69%  A9,500, £:9500, +:9,500
EGE 28EH | 10900 6% :11000, 11000, +:10400, H:10,400
288 14400 53%  +:10400. B:10,400
28HE] 16,500 46% _ £:16,700, +:10400, H:10400
288 900 71% .90, £:9,000, +:9,000
R CHE) =17 R CHE) % 28BF] | 7.500 63%
288 700 53%  %:10.200, £:10200, H:10800
23 28HE] 9200 55%  1:10,800, H:10,300
288 500 | 63%  H:9,700
R CHE) =/ R CHE) % 28BF] | 8000 70%  3:10,300, H:7,500
288 900 60% _ +:10,800, H:8,300
28EH | 0800  64% | +:0300, H:8.300
288 800 64%  +:8.300. H:8,300
288 000 | 70%  +:7,500, H:7,500
288 000 | 74% %3000
INAFE 285 000 | 74%
288 000 | 70% | F:7,500, H:7,500
28EH 0900  63% | +:8300, H:8.300
288 900 63%  +:8,300, H:10300
28EF] 9,900 63% _ £:10,900, +:8300, H:10,800
288 000 | 70% 47,500, B:10800
R (AE) % 288 800 42% _ A:22,300, £:22,800, +:23,300, H:22,300
288 000 | 64%  +:22300
28R | 9500  73% :13,000
PR ERE 288 500 71%
288 000 | 64%  H:223
288 800 42% 322 300 22,800, £:22300, H:23.300
TR CRE) =W ESAEE:ES 288 800 65% 213,300, +:13200, B:12,700
288 800 65% %9700, +:9.700, H:9,600
288 000 65%  +:12,.800, B:12,700
288 900 60%  %:14800. F:13.400, H:12.700
285 10 o 9,000, 9,000, H:8900
=TS 288 .700 £:9,000. £:9,000, H:8,900
[JL23a | 288 wﬂwwcc £:13.400, B:12.700
236 | 288 800 %:13,000, H:12.700
240 | 288 500 ew 110000, +:10000, H9,900
247 | 288 600 58% _ J:15800. :16,000, £:13.400, H:12.700
RECHE)=ES RRCHE) %[ JL253 | 288 100 66% | A:13,300, £:9700, £:9,700, H:9,600
[[JL2s5 | 288 100 63%  :14,300, £:14300. F:13.700. B:13,000
[uL2s7 | 288 900 | 53% %1000, +:10.200, H:10,100
[[JL259 | 288 400 54% 317,300, F:13.700, B:13,000
261 | 288 100 63% 714,600, &9 g 9200, £9,200, H:9.100
[[JL263 | 288 000 | 66% F
[ JL265 | 288 800 62% ’kNBOO 215,000, +:12,200, H:11,500
267 | 288 500 X:13,700, %:10.200. F:10,200, B:10,100
L252 | 288 W 13,000
254 | 288 500 59% | 3:15,800. £:10.200, £:10,200, H:10,100
256 | 2881 100 66% %9200, 39200, H:9,100
258 | 288 100 66%
260 | 288 000 | 66% 13200, 10200, F:10200, H10,100
262 | 288 700 56% _ 3:16,600. %:17,000, £:13,700, B:13,000
L264 [ 28H 700 56%  X:16,900, £:17,100, +:13700, H:13000
266 | 288 700 56% | J:16,900. %:10,200, £:10,200, H:10,100
291 288 600 66%  £:17,400, 1:15,700, H:14,200
203 | 288 800 63% %:10,500, F:10,500, H:10,400
295 288 200 62%  £:18,700, +:15200, H:18,500
[JL207 | 288 200 62% %:10200. F:10,200, B:10,100
WOFE%E | J200 | 288 700 | 61% %1000, +:10.200, H:10,100
[[JL202 | 288 700 61% _ £:19.300. B:15.200
[ JL294 288 200 62%  #:10500, £:10.500, H:10,400
206 | 288 700 66% _ £:20900. F:14.200. B:18,500
R (FE)-HE R (AE) % 277 288 400 51% B:17,700, X:17,600, £:10,500, £:10.500, H:10,400
[CuL27e | 288 300 46%  3:19,600. +:19,800
[UL283 | 288 700 | 53% F:16.900, %:11,000, 11,000, H:10900
[CJL2s5 | o288 700 56% | A:16,100, :10,000, +:10,000, H:9.900
287 288 200 46%  7k:18,900, A:18,900, £:19,100, :17.500, H:19,100
R 276 | 288 000 66% | A:12,700. £:10,500, +:10,500, H:10400
[uLe78 [ 288 700 45% _ 1:20,200, B:17.900
[CJL280 | 288 700 | 53% |%:11,000, F:11,000, H:10900
[uL2sa | 288 700 | 45% | X:19.900, £:12,000, F:12,000, B:11900
286 | 288 100 | 46%  X:19,300, £:19,700, H:19.700
RECHE)=# S R (Pm)F[ JLas3 | 288 200 58%
[[JL4ss | 288 200 | 56%  +:13,900. B:13,900
[JL4aso | o288 400 | 63% 120500, F:9500, H9400
[[JLdei | 288 400 | 63%  £:15200, F:13.900, B:13,900
[ JL463 | 288 000 59%  £:15200, +:13900, H:13900
465 | 288 000 59% £:9,000, +:9,000, H:8900
®E® | Jis2 | 28H 400 63% 14,100, £:9000, +:0000, H8,900
[[JL4sa | 288 400 | 634
[CJL4se | 288 400 | 63% |29500, 9500, H9400
[CJL60 | 288 400 | 634
[ JL462 288 400 63%
4 | 288 400 63% %9500, 9500, H:9.400
R CHE) =B R CHE) % 5 | 288 000 62%  £:10,100, 3:10,100, H:10,000
7 | 288 400 55%  f3:16,700. %:16,800, £:16,900, B:15.300
9 | 288 400 | 63% 110,100, +:10,100, H:10000
[CJL4si | 288 400 63%
[uLs3 | o288 400 | 63% 29900, £:9,900, H9:800
485 | 288 900 | 59%  £:16900. F:13,600, B:17.100
487 | 288 600 52%  £:18000, £:14,700, H:18,100
IR 474 | 288 900 59%  #:10,100, F:10.100, H:10.000
476 288 100 56%  £:16,800, +:16,900, H:14,000
478 | 288 500 | 63%  £:15,100, F:14,900, B:15,100
[ JL480 | 288 500 63% £:15,100, +:14,900, B:15,100
[(JL4s2 | 288 900 59% £:9,000, +:9,900, H:0,800
[JLasa | 28| 400 52% 17,600, :17,800, T:15800, H:17900
486 | 288 900 | 54% | £:17.300. +:14,700
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= E4 - _ ERUTAGALE—I) ER/ITBEALE—I)
pagE | TR g s el
R CHE R CHE) % 491 28B1 ] 800 62% | B:15,100, £:9,700, £:9,700, H:9,600
[[JL4es | 288 800 62%  f3:15.100. +:15.300
[CuL495 9,600, £:9,600, H.9,500
[CuLag7 ;15,500 +:14,600, H:15,800
[JL499 X:17,600, £9,100, F:9,100, H:9.000
HmaRE [ _JL490 300, +:13,500
[CuLas2 :14.400, 9,100, 9100, H:9.000
[CuL40a 200, +:14200
[JL4g6 X:16,000, £:9.700, £:9,700, H:0.600
498 X:16,000. %:16.200. F:14,500, B:16,300
TR CRE) =L R (PE) % 431 500, £:14,900, +:15300
[CuL4ss 100, %:11,000. F:11,000. B:10,900
435
[CuLas 600, £:9600. H.9,500
[ JL439 18,800, +:17.400, H:18,900
[ura4s 600, F:9.600, H:9,500
MLFE [ JL430 000, 7:18,100, £:0,600, 9,600, H:9500
[CuLas2 200, +:17.400, H:14200
|_JL434 300, +:15,300, H:15,300
[CJL4se 000, +:10,000, H:9.900
[CJLaas 600, 211,000, F:11,000, H:10900
4 5,500, :16.700, +:14900, H:16.800
R CAE) =AM R (PE) % 400
000, % 15,000, F:11,000, H:14900
900, 7:11,000, %:15,000. F:11,000, H:14,900
EZES 000, %:11,000, F:14,000
000, H17400
400, 1:15900, H:19,900
000, %:14,000, +:11,000. H:13.900
R CHE) =K% R (PE) % 1 000, #:18,300, +:18,900, B:11,900
[JL663 700, 7:21400. %:20900. F:19.400, B:17,900
[ _JL6BS 300, £:17,900, £:19,600, +:19.400, H:17,900
[JLe67 000, £:11,000, +:11,000, H:13.900
[ JL6BY 300, #:18,400, £:19,600, +:19.400, H:19.400
671 000, £:14,000, +:11,000, H:13.900
A% | JL662 000, 11,000, F:14,000
[uL664 600, 7:18,000. %:19.100. £:19,400
[uL66e 000, %:11,000, :11,000, B:13900
670 900, %:17.700. +:18.400, B:18,000
672 000, £:22,000, 1:18.400, H:19.400
674 000, %:15,000, +:13,000, H:18.900
R CHE) =R FR (M) % [_JL60S 000, #:18,600, +:19,400
[JLe07 700, 7:20400, %:22,300 F:19.400, B:17.400
[ JL609 19,800, +:18,900, H:17.400
611 719,800, +:18.900. B:17.400
613 000, %:14,000, 11,000, H:13900
[JL615 000, £:14,000, +:11,000, H:13.900
RE% | JL606 000, 11,000, F:13,000
[JL608 000, %:12,000, +:14,000
610 18,500, +:18,900, H:18,900
612 100, %:21,400, :18.400. H:19.400
614 100, £:21,400, 1:18.400, H:19.400
616 000, %:19,800, +:13,000, H:19.400
R CAE)=A FR (A % [_JL623
625
[CuL627 17,900, %:19.800, H:16,100
629 16,900
631 14,000
633 17,900
637 18,900, H:18.000
[JL639 11,000, H:13.900
BAE | J622 4,000
[CuL624 400, %:18,400, +:19,000. H:17.400
| JL626 400, £:18.400, +:19.000, H:17.400
[uL628 000, £:11,000, +:11,000, H:13.900
[ _JL630 300, £:19,300, +:17,400, H:18,400
632 300, %:19.300, F:17.400, B:18.400
| JL634 500, 16,100, £:17,400, £:21,900, H:18,900
638 000, £:21,400, +:14000, H:19.400
R CHE) =B W (FM) % [_JLesT 700, +:17,500, B:15.100
689 8,600, £:18,400, H:15900
691 8,600, +:18.400, H:15,900
[JL693 7,600, B:16,600
[ _JL6YS 8,600, +:18,400, H:17.400
[JL697 000, £:14,000, +:11,000, H:13.900
EEE | JL6es 000, £:11,000, £:14,000
[uL690 800, +:17.400, H:15.900
[ JL692 6,600, H:16.900
[CJL69a 6,900
|_JL696 8,400, H:17.400
[JL698 7,900
TE-ERE [RRCEE)% 00, +:12,600
11,500, 7:11,600, £:13,100. F:14,600, B:10,700
311,500, 11,600, :13.100, +:14,600
10,000, :10,000, £:13,100, F:15.100, B:10,500
0,000, 7:10,000, £:13,100, +:14,100, H:10,500
[ 12,100, $:12.100, £:13200, H:10,600
[ _JL653 0,100, :9,900, 7k:11,500, £:12,100, H:12,700
655 000, %:12,100, +:9000, H:11.900
BERER 000, £:9,000, £:9,000
10500, 7K:10.400, +:12,600, H:13.300
0,500, 7K:10,400, +:12,600, H:13,300
288 8900 8% 000, %:12,100, £:9000, H:13.300
| JL64 288 14,600 70% §:13,100, 12,500, 7K:12,900, £:15,200, H:19.400
[JLes0 | 288 14600 70% 00, X:12,500, 7K:12.900, %:15.200, B:19.400
[ JL652 288 11,600 6% §:10,100, :9,700, 7k:9,900, £:12,600, H:16,700
4 10, $.9,100, 8,700, 7K:8.900, H:14.700
KR (FD=-Ef | KB (B % 3 0000, £:11,000, +:11,000, H:10,900
BES 4 0,000, %:11,000. F:11,000, H:10,900
BEE (PE) =t FHFR[E S E (P 1,100, £:21.700
0,000, %:15.700. F:15.700, B:15,700
IR (3 F %) 000, £:9,000. £:9,000
000, £:19300, F:19,300, H:20,700
2,000, $:18,300, F:18,300, B:20.400
R CHE)=RE R (PE) % 7 000, #:18,000, +:18,000
7 000, %:16,000, +:16,000
BER 7 000, %:13,000, F:13,000, E:15900
7 900, :14,900. 7K:14.900. B:17,900
LR (R0 =HER ALIR (E3) % [ JL2861 400, H:8900
[JL2863 400, B:13400
[JL2865 100
[JL2869 900, £:8.900. B:19,100
g% [ JL2860 8,100, 1:18,100, H:18,100
[JL2862 500, :18,100, %:18,100, £:18.100
| JL2864 500, #:18,100, £:18,100
[JL2868 500, 7K:13,400, +:0.500, B:13.400
AR (EH=RR = [ JL2895 7,900, H:7.900
AR | JL2894 | 00, H:7,900
AR (B3 =B HLIR (B3 5 741 800, H:13,800
743 800, H:13,800
745 800, H:13.800
2749 | 800, H:13,800
2753 |
755 —
751 900, H:8.900
EER 900, +:8900
800
800
800
748 | 800
757 |
4 13800 ________
AW(ER=FR | HLiE (%) % 3 2,100, 14,800, H:8.900
FRS 882 . 2,100, £:14,800, H:8.900
BfE-ER BUfRR | JL2891 >:7.500, +:4900, H:4,900
AR% 890 500, +:4900. H:4,900
AMER-=R | HLiE (BB % | J2817 1 000, +:10,000, B:15,600
SRE | 12700 52% 0,000, +:10,000. B:10,000
AR (B3 =250 IR (EH) % 1 £:7,500, H:7,500
[ 500, B:13,500
ESCTIE N ] | 7 500
[ 500, F:13,500
RAECHE)=-EE [REGE) % 000, #:18,000, +:18,000
EHR 15,000 78% 3 7K:14.90
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=45 73 FFITABALE—IL) _Aiwiﬂ\t—ﬂ»)
3 % %
R (PR =K () | RR(FE) %
KIR(FH %
H:13.300
55%  H:13,300
)00 57%  H:12.800
288 9500 66% _ B:12,800
(Hm) =XKWk (B&) | "R M| R _JL221 | ] 9000  68%
[CJL225 000 60% H:10500
[JL229 000 | 68%  H:10500
KB (BI7E) 58 [_JL220 000 75%  H:8400
|_JL224 200 63% _ H:10.600
228 000 | 68% B:11,900
1% (%) L501 | 000 | 78%
503 71% B
505 900 69% H:I1
507 500 | 70% B
509 000 | 7i% Bl
300 65% B
500 67% H:14
500 70% B:14,
500 70% _H:1
000 | 73% @i
5% H:15
[JL52 000 | 76%
[[Jso5 | 288 500 77%
[CuL527 | 288 000 78%
[[Jis29 | 288 500 79% B:15900
531 | 288 000 81% B:13400
FLIR (37 Fm)H]_JL500 | 28HAT [ 9000 78%
[uLs02 | 288 500 7%
[uLs04 | 288 000 | 764
[JL506 | 288 500 | 75%
[[Jisos | 2880 000 | 73
288 800 50% B
288 300 | 56% B
288 700 55% A1
288 700 55% A:
[ 288 700 55%  3:16,300, 15,500
[[Jis20 | 288 500 | 70%  H:18.700
[[JL522 | 288 000 | 71% H:17.700
|_JL524 288 700 57% F:14,900, X:13.400
[[JL526 | 288 700 | 60%  3:14,900, 13,400
[ JL528 | 28H 300 63% 7:12,800, X:11500
L530 f H:11900, X:10600
TR () % |_JL303 | Bk
[JL305 76% _ X:10.700
[ JL307 52% H:14.000
[JL309 ¥ 48% 814,000
52% H:13.100
49%  5:22,600, B:14,000
57% H:14.000
[CJLazs
[CJL325
[ JL327
[JL329
[uL3st
[uL33s
335
wmEs | JL300 |
[ JL302 |
[ JL304 |
[ JL306 |
[ JL308 |
[ JL320 |
[ L322 |
[ JL324 |
[ JL326 |
[ JL328 |
[ JL330 |
N — Y
(AE) =94 (BF) | 7= (FM) F[_JLoo1
[ JLo03 |
[ JL905 |
[JLeo7
[ JL909 |
[FJLozs |
[JLo25
#E (AR ER) % [_JLI00
[JLo02
[JLsoa
[JLo06
[JL908
[JL920
922
RER (B2 =4LIR (3 F i) | KBR (B & [_JL2001
[JL2005
[JL2009
2019
FLIR (37 F ) 5_JL2000
[JL2006
[JL2010
[JL2016
KB (%) =FLIR (37 F i) | KR (BAE) & [ JL2501
2505
FLIR (37 F ) 3_JL2504
2506
RIR (B2 =040 GBRER) | KBk (F27%) % [ JL2081
2087
(AR ER) 3¢ [ JL2084
[JL2088
TRRI=FLIR (B F 2 [T 3513
3515
LR (3T F ) 3510
[ULasi2 | 288 900 67% 600
R FR(CHM) % |_JL565 | 288 500 64% §:15,600, X:15,100 1:16.50(
[[uLs67 | 288 500 60%  3:19.500. 18,500 17,500, X:16,500
[Jis69 | 288 000 | 78% 000 900
K@z | Js62 | 288 000 | 78% 000 900
| JL564 288 500 58% 000, X:16,800 900, X:14.100
566 | 288 700 67% 600 45B8] | 7000 | 86% B:12.400
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F = EEE = T BEE EEH i
EIEES AL EEIES
R CRE) =8Il W (HE) [ JLs51 | 26ER] | | 80%  H:17000 458 7,000 86% H:10.100
[JLs53 | 288 000 61%  3:17.700. J:17,300 4588 | 15500 68% 3:15000, X:12,000
|_JL555 288 000 77% _ H:19.200 45E 8] 10,900 78% H:15.500
[JLss7 | 288 000 | 79% 45E 8 | 9900 0%
TeNsE | Jiss2 | e 000 | 79% 9,900
[[uLs5a | 288 000 | 77% H:19400 458 | 10900 78% 18500
| JL556 288 17,000 65% _ H:19.400 5 B A 12,500 74% H:18.500
558 | 288 9600 | 80% H:17,700 SEE | 7000 | 86% H:15500
R CHE) =3I R (PE) % 286 11,000 7% =] 10.100 79% 7,000
288 16,100 66%  H:18,300 B[ 16000 | 67%  H:15500, 48900
288 9600 | 80% 45Ef | 9500 | 80% %8900
SIEEse 288 9,600 80% 45181 8.900 81% H:9.500
288 12,300 74% __ H:13.300 45T 12,300 74% A:11,100, k8,100
288 11000 77% @:12,000 11,900 75% H:10900. X:7,000
R CHE)=HIK RF(PM) %[ JL573 | 28HF] | 9,600 80% 45EF] | 9500 80%
[uL575 | 288 59%  F5:18.200, X:17.600 458 16600 65% 7900, H:9.900
[_JL577 288 7% 10,900 77% _ X:7.900, H:9.900
579 | 288 75%  B:13,000 11,900 75%  H:12.900
WELRE | _JL570 288 75% Hi 11900 75%
[CuLs572 | 288 634 [:19,600 fil 6,600, 48900
|_JL574 288 75%  H:19.600 1,900, X:8.900
576 | 288 80%  {:16,700 700
R CHE) =B R (PM) [ JLses | 288 12,000 69%
[CJLss7 | 288 13900 64% H:18000
[JL589 754
EiER [ JL584
[JLs86
588
TR CHE) =7 R (CPAE) %
HHER
; ;15,800 100, K:15.100
288 400 56% 3,100, :X:15.800 100, k:15,100
288 000 | 70% 000 600
R CHE R (PE) % 288 000 70% 000 900
288 000 56% 900, H:10,700 1,400, B:10.200
288 000 56% 900 1:11.400
288 000 | 72% 000 1:15.300
288 000 56%
288 000 | 70%
288 900 7%
288 11000 70% B:11,900 45 10900 70% H:11400
R CHE)=HE R (PE) % 288 9,000 70% 45 8,900 1
288 18100 40% H:10400 45B8] | 17200 43% | H.9.600
288 14,700 52%  :14.400, B:10,400 56% 12,800, H:9.600
69%
HER 64%  H:9.600
58%  H:0.600
49% H:9.600
H: 71%
R CHE) =17 R CHE) % 45B8] | 7400 | 64% ¢
kil . 584
%3 45 B AT 60%
BRI 7 64%
RE (FE) =ML R (AE) % 45B8] | 7900  71% F
X 60%
4561 64% B
Eil 9. 64%
4587 7 7i%
6 75%
INAFE 45E ] 758
HE | 7900 1%
45Ef 0800 64w
Eil 64%
B 84%
HE | 7900 _7i%
WRCAE) 45EIHT 16700 | 534
45B 8] | 12900 | 64%
45EE | 9400 | 74%
PR ERE 45181 10.400 71%
122,300 4587 12900 | 64%
1:22,300, 20,800 20800 424
R CHE) =R ESAEE:ES 2,700 45H7] 11,600 69% H
700 BE 11600 _ 69%
2,700 45T 12,500 66%
2,700 B[ 13300 | 64%
000 45BN 11400 | 6ov
=TS 000 =k 10.900 71%
|_JL234 §:15,200, B:12,700 HE 14,100 62%
236 2,700 A5B R | 11600 69%
240 +10,000 45EIF] | 13500 | 64% i3
247 3.15,600. B:12.700 458 | 15300 69%
RECHE)=ES HR (AM) % [_JL253 45818 11,100 1%
[JL255 A5ER] | 12100 68% B:12
[ _JL257 45E 8] 17.400 54% 1:10,
[JL259 2 A58 | 16900 56%
261 288 800 62% 14,100, H:9.200 45T 14,200 83%
[[JL263 | 288 000 66% 11200 71% H:12
|_JL265 288 800 61% 14,600, H:11,500 A5 E Al 14,300 82% 1:14,100, H:10.500
267 | 288 700 | 64% | 73:13,500, B:10.200 B[ 13200 | 65%  H:13.000, H:9,500
252 288 700 64% 13400, B:13,000 45T 12,000 68% 211,700, X:11,500
254 | 288 800 58% 14500, B:10.100
256 288 100 66% 100
258 | 288 100 66%
260 288 200 65% 100, H:10.100
262 | 288 700 56% 300, B:12,000
264 288 900 56% 200, H:12,000
266 | 288 900 56% 200, B:10,100
291 288 800 66% 900
203 | 288 800 63% 400
295 288 200 62% 900
[JL207 | 288 200 62% .100
W& [ Jieo | 288 700 61% 100
[[JL202 | 288 700 61% 900
|_JL294 288 200 62% 400
206 | 288 700 66%  H:18,500 700
R CHE)=HE R (PE) % 277 | 288 700 50% 7,600, H:10,500 700, B:10.400
[CuL279 | 288 300 46% 600
[UL283 | 28| 900 52% 900
[(JL2s5 | 288 700 56% 900
287 288 200 46%
HESR 276 | 288 000 66% 400
|_JL278 288 700 45% 900, H:16.400
[CJL280 | 288 700 53% X
|_JL284 288 900 44% 218,800, H:11,900
286 | 288 700 45% 8.300. :18,500
RECHE)=# S R (Pm)F[ JLas3 | 288 200 58% 00
[[JL4ss | 288 200 58%
[ JL459 288 400 63%
[CJLdei | 288 400 63%
[ JL4e3 | 288 000 59%
465 | 288 000 59%
EeR [ JLs2 [ 288 400 63%
[[JL4sa | 288 400 63%
[JLase 286 400 63%
[CJL60 | 288 400 63%
[ JL462 288 400 63%
4 | 288 400 63% 9,500
R CHE) =B R CHE) % 5 [ 288 000 62% | H:10,100
7 | 288 700 | 54% 16400, B:15.300
9 | 288 400 | 63% [H:10,100
[CJLdsi | 288 400 63% A5E8] | 11000 | 70%
|_JL483 288 400 63% 45B 8] 11,000 70% 1:9.800
485 | 288 900 50% 458 | 15900 66% 300, X:14,000
487 288 800 52% 45T 16,900 54% 300, X:16.000
BT 474 | 288 900 50% 458 | 10900 70% 000
476 288 100 56% Ll 700, H:13,500
478 | 288 500 63% 000
[CJLaso | 288 500 | 63%
[(JL4s2 | 288 900 50% 500, H:9.800
|_JL484 288 900 51% 500, X:16.700
486 | 288 900 | 54% 45B8] | 16800 54%
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F = EEE = T BEE EEH i
m\ m = FHES
R CHE R (PE) % 491 214,800, B:9.700 10,500 73%  H:9.600
[JL4ss | £:15,100 45E|||u 10500 | 73%  H:10800
|_JL495 66%  H:9,600 45Elﬂ 11,600 70% H:9.500
[CuLae7 59%  F:15300, X:15500 458 | 10500 73%
| JL499 55% A:17.400, B:9,100 458 10,500 73% H:9.000
BRFE | JL4%0 66% F:13.300 A5ER | 11200 71% EI 11,600
[ JL492 63% 100, B:9,100 45Elﬂ 10,300 73% H:9.000
[CuL40a 64%  F:14200 10300 73% EI 10,600
[ JL496 59% A:15,800, H:9,700 45 B 10,500 73% H:9.600
498 58%  F:15800, X:16000 A58 | 10500 73%
R CHE) =#al ESAEE:ES 431 65% il _
[CuL4ss 57% 6,800, B:11,000 600, B:10.900
[uLass 60%
[CuLas7 65% 600 100, B:9,500
[ JL439 57% 8,900 100, ::16,000
[uLa4s 534 00 000, B:9.,500
#UFE | JL4do | 54% 900, H:9,600 5,600, H:9.500
[CuLas2 56% 900, H:14200 000, B:13.800
|_JL434 63% 300 200
[JL4se 634 200, B:9.900
[CJLass 55% 400, H11,000 300, H:10.900
4 57% 300, ;16,500 500, K:15.700
R CAE) =AM R (PE) % 59%
624 H:16.900
76% H:14.900
76% 14,900
AT 76%
614 B:16.400
61% H:18.900
66%
R CHE) =K% R (PE) % 1 70% 11,900
[JL663 57% 15,400
[JL665 5% 16,000
[JLe67 75% 13,900
[JL669 56% 16,700
671 75% 13,900
XA [ 662 | 5%
[uL664 59%
[uL66e 5% 900 | 75% B:13900
670 594 000 | 64% H:16200
672 54% 900 59%  :X:17.400, H:17,500
674 70% 900 | 71% H:17.000
R CHE) =R U (39E) 5 [_JL605 | 73%
[JLe07 57%
[JL609 | 63%
611 634
613 7%
[JL615 7%
REzE | Jieos | 7%
["JL608 5%
610 63%  H:18.900 100 66% H:17.000
612 58% X:19,300, H:19.400 800 | 61%  X:18.300. H:17.500
614 58% 19,300, H:19.400 800 61% _ :X:18.300, H:17,500
616 73% _ 8:19400 900 | 73% H:16.700
R CHE) =& R CHE) % 623 80% 900 80%
64%  X:15300 200 71%
60% 17,800, H:16,900 100 684% H:14.300
61% H:16900 14800 | 67% H:14.300
76% 900 | 76%
61% [:17.900 800 67% H:15400
61%  H:17.900 800 87% H:15.400

900 764 H:13.900

900 76%

AR (B3 =25

ﬂ.mi(ﬁﬁ)%

[ 3500
ESCTIE N
RAECHE)=-EE [REGB) % 000 78%
EHR 000 74% X:15000

57% 800, B:17,400 16700 | 63%  F:15800. H:14.700
57% 800, H:17.400 5700 63% | 7:15,800, H:14.700
76% 900 | 76% H:13.900
6% 000 65% H:15800
6% 600 000 | 65% H:15800
58% F:17,400, X:16900 000 62% J3:14.700. 1430
69%  H:19400 900 | 69% _ H:17.300
R CHE)=E4 W (FM) % [_JLesT 65% 100 000 67% H:13.100
689 634 00 200 | 66%  H:13.800
691 63% H.15.900 200 66%  H:13.800
[JL693 634 0 200 | 66%  H:14900
[uL6os 634 200 665  H:14.900
[JL697 76% 900 | 76% H:13.900
EERE | JL68s 76% 900 | 76%
[uL690 634 400 68% H:13800
[CuLe92 63% 400 68%  H:14.500
[JL6a 634 14900 | 67%  H:14500, J:14400
[JL696 634 200 665  H:14.900
[JL698 634 200 | 66%  H:16000
PE)-ERE R (PAE) % 80% 86%
B.12,600 82%  H:0600
312,600, J:12,100 500, 48900
312,600, ;12,100 500, X:8.900
000, %8500 900, :8.400
4,500 000, X:8,600
2,000 :9.100
BRESR 000
2,600
2,600
2,600 300
[CJL6as 400 | 60% | B:15700, J:15,100 45E8] | 14700 69% 12,000, K:11,400
[JL650 400 60% _ 3:15.700, 15,100 B ¥ 112,000, %:11,400
[JLes2 100 75% H:16,600 -
4 100 77% 4,600
KIR (D =B [ KR (7 F%) % 3 000 79% 11,000
BIES 4 000 | 79% 1,000
BEE (PE) =t FHFR[E S E (P 200 63%
000 | 78% H:15,700
500 8%
IR (3 F %) 000 80%
600 60%  H:20300 B:17.700
000 | 74%  H:20400 5:20.300
R CHE)=RE R CHE) % 7 000 79%
7 000 | 82%
BER 7 000 | 82% 6,000
7 75% 5,000
LR (R0 =HER ALIR (E3) % [ JL2861 24% :8,900
[JL2863 400
[JL2865 100
[JL2869 100
fEEFE [ JL2860 100
[JL2862
[JL2s6s
[JL2868 _H:13.400
AR (EH=-ER I= | JL2895
A% | JL289d |
AR (B3 =B HLIR (B3 5 741 800
743 800
745 800
749 | 800
2753 |
755
751
EER
45EIF] 17000 15% H:13.200
458 | 17000 15% B:13.200
wm
5% H:13.200
3800 B:13.200
[z |J
SRS | L2890 900 _
_Mig_iﬁ?é 0,000 45HF 11,700 56% | H:9.900
0,000 4588 | 11700 56% | B:9.900

45H# | 17900 | 74%  J¢14.900
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R B4 ERITAGA L)L) FEMTBGALE—I)
[} ama | 280 W
R CHE)=XR (B | RECHE) % 45HE] _ 7.000 75%
9100 67%
45HF] | 13.900 50%
SEE | 12400 | 55%
458 /] 12400 55%
9000 | 68%
45881 11,900 57%
SEE | 8000 | 71%
10,800 81%
12400 | 55%
000 68
100 53%  H:13000
100 53% H:13000
100 53%  H:13,000
600 51% 213,500
GRS 8,600 69%
9500 | 66%
A58 | 14900 46%  A:13,600
45EIF] | 14000  50% 13100
45B 8 | 9500 | 66%
45Ef 11700 58%
fil 68%
45EIF 11300 50%
A5 8] K 50%
B 66%
K 50%
45EIH] 11800 57%
5EH X 50%
HE 52%
66%
(AE) =Xk (B&) |"RR@E) [ J 68%
[[JL225 | 288 000 60% 62%
| JL229 288 000 60% 68%
KB (BY7E) [ JL220 | 288 400 70% 75%
|_JL224 288 200 63% 87%
208 | 288 800 57% 68%
R (FHFR) Lso1 | 288 900 74% 83%
503 | 288 800 71% 81%
505 288 900 69% 7%
507 | 288 900 64% 72%
509 288 300 63% 1%
288 300 65% 74%
288 500 67% 76%
288 500 70% 76%
288 500 70% 76%
288 500 72% 78%
288 300 70% 79%
[JL52 288 300 70% 79%
|_JL525 288 000 68% 79%
[CuL527 | 288 000 68% 79%
[_JL529 288 500 70% 80%  :K:8200
531 | 288 900 74% 82% 7,000
FLIE (FFA)H_JLs00 | 288 100 7% 78%
[uLs02 | 288 600 67% 77%
[ JL504 288 100 66% 76%
[uL506 | 288 100 66% 75%
|_JL508 288 800 64% 74%
288 800 64% 74%
288 800 62% 73%
288 400 60% 73%
288 300 | 58% 73%
[ 288 300 60% 75%
|_JL520 288 300 60% 75%
[[JL522 | 288 300 60% 75%
|_JL524 288 900 64% 76%
[[JL526 | 288 900 64% 76%
|_JL528 288 800 69% 80%  :K:7.900
530 | 288 900 71% 82% 7,000
R (Pm) [ JL303 | 288 200 69% 78%
[JL30s | 288 100 67% 73%
[uL307 | 288 300 | 53% 5%
[[JL309 | 288 300 53% 5%
288 300 53% 458 19,500 57%
288 300 53% 45B 8] | 20400 65%
288 900 58% 45 EI:EI 18,100 60%
288 900 58% 458 17300 62%
288 300 57% 17.300 82%
[ 288 300 57% 16000 65%
|_JL323 288 800 54% 45EH A 19,700 56%
[[uLs2s | 288 700 56% SEE | 18800 | 58%
[_JL327 288 700 56% 18,800 58%
[[uL329 | 288 600 54% 19800 | 56%
[ JL331 288 700 56% 45B 8] 18,900 58%
[JL333 | o288 700 56% 45B 8 | 12000 | 73%
335 | 288 700 | 56% 12,000 | 73%
@M% [ Js00 [ 288 900 60% 12.000 73%
[ JL302 288 900 60% 458 14,000 69%
[[JLs0a | 288 900 58% SEE 18000 60%
| JL306 288 900 58% 17,100 82%
[CJL30s | 288 100 56% 19000 | 58%
288 500 57% 45EH A 18,200 60%
288 300 57% SEE 18100 | 60%
288 300 57% 17.300 62%
288 300 57% 18200 60%
| J 288 500 55% 45E 8] 19,500 57%
[[uLs20 | 288 500 55% 45B R | 19000 68%
[ _JL322 288 300 51% 458 14,000 69%
[[uLs2a | 288 500 48% 45B 8] | 21800 62%
[_JL326 288 500 48% 45E 8] 21,800 52%
[(JLs2s | 288 500 50% 458 | 20400 65%
[UL330 [ 288 500 50%
[JL3s2 | 288 300 57%
CRIE) =948 (B8 | R (M) % [_JLoo1 288 200 66%
[[JLoos | 288 500 63%
|_JL905 288 700 55%
[CuLoo7 | 288 700 55%
[_JL909 288 800 55%
288 700 57%
288 800 69%
288 100 72%
288 300 2%
[ 288 900 72%
|_JL923 288 300 64%
[JLo2s | o288 800 65%
SRR () % [_JLe00 288 200 66%
[[JLoo2 | 288 600 69%
[_JL904 288 300 2%
[CJLoos | 288 800 69%
|_JL908 288 100 68%
288 200 58% ¥
288 200 58% 458 20,200 60%
288 200 58% 458 | 20200 60%
288 100 56% 45E 8] 22,000 56%
[ 288 100 56% A5B 8 | 22000 56%
|_JL920 288 200 62%
927 | 288 300 72%
RER (B2 =4LIR (3 F i) | KBR (B & [_JL2001 288 100 6%
[[JL2005 | 288 200 64%
|_JL2009 288 800 1%
2019 | 288 100 66%
fFLIE (37T F#) A _JL2000 | 28H 700 63%
[[L2006 | 288 100 68%
[ JL2010 288 700 65%
[JL2016 | 288 100 66%
KB (%) =FLIR (37 F i) | KR (BAE) & [ JL2501 288 400 62%
2505 | 288 200 78%
(FLIR (37 F ) 5 JL2504 | 288 300 76%
2506 | 288 300 60%
KR (B2 =040 (BRER) | KBR (F2F%) % [ JL2081 | 288 200 57%
[JL2087 | 288 400 66%
AR () % [ JL2084 | 28H 400 66%
[JL2088 | 288 200 57%
TRRI=FLIR (B F 2 [T 3513 | 268 900 67%
3515 | 288 300 73%
(LI (37 F 2%) 3510 | 288 200 70%
[ULasi2 | 288 900 67%
R FR (M) %[ _JLse5 | 288 600 69%
[[uLs67 | 288 000 65%
[JL569 | 288 500 67%
TR | _JL562 288 500 67%
[JLsea | 288 600 67%
566 | 288 700 71% 45B8] | 7.000 | 86%
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= E4 - TE ERIUTAGALE—I) E FB/IIBEALE—)
= EL
si51% s HsiE el
R CRE) =8Il R CHE) F [ JL551 | 65% 86%
[JLs53 | 288 200 63%  J:17800 66%  :15500
[Jss5 | 288 700 | 64% 7%
[JLss7 | 288 300 62% 79%
Mg | JLss2 288 400 64% 79%
[[uLssa | 288 200 67% 77%
[[Js56 | 288 000 | 65% 69%
558 | 288 100 73% 86%
TR CRE)=8IER R (PE) % 288 700 65%  X:16,200 79%
288 200 64% _ ):16,700 75%
288 200 64%  X:16.700 80%
ElZES 288 700 63%  :X:17.200 80%
288 700 69% 458 13,500 72%
288 500 66% 16000 4588 | 11000 77%
R CHE)=HIK RRCHE) %[ JL573 | 288 300 66% 45EF] | 9600 80%
[uL575 | 288 400 61% _ J:17,600 A5 | 16600 65%
[_JL577 288 400 61%  X:17,600 11,000 7%
579 X 60% 12000 75%
WELHE [ JL570 4581 12,000 75%
[uL572 SEE] 16600 65% | J8.900
[ g;g 12,000 | 75%  X:8.900
9600 | 80%
R CHE)=H R CHE) % 45881 | 11,000 70%
45B 8 | 15800  67% B:14.900
45E1R __14.600 1%
14900 60%
25EF] 10500 1]
SEE | 10000 | 73%
HERE 10,000 73%
10500 72%
4588] 12100 67%
F:13,100 SEE | 15800  57% H:12100
13,100 15,800 57% B:12.100
11,000 70%
R CHE)= R CHE) % 11900 4561 | 11.000 70%
£:11.900 458 | 15300  68% B:11400
11,900 15,300 58% 11,400
B:11.900 45HRL 10000 | 72%
45887 15300 58%
4588 | 11000 | 70%
45HF] 11,400 69%
4588 | 11000 70%
R CHE)=HE R CHE) % 45881 | 9000 | 70%
A5 8] ‘ 53%
]
69%
HER
58%
49%
288 800 68% 70%
R CHE) =17 R CHE) % 28EF] 8800 57% 63%
288 700 534 58%
23 28HE] 9200 55% 60%
288 200 554 63%
RE (FE)=/M2 R (AE) % 28H[] 9400 65% 70%
288 500 654 65%
288 500 654 65%
288 300 66% 66%
288 300 66% 70%
288 300 664 74%
IS 28HE] 9,100 66% 74%
288 300 664 70%
288 300 | 66% 66%
288 200 664 66%
288 200 66% 66%
288 400 65% 70%
ESAEE:ES 288 400 40% 52%
288 600 5% 64%
285 400 | 65% 73%
PR ERE 288 200 63% 71%
288 300 40%  :20.800 64%
288 300 38%  X:21400 45%  X:17,600
=AM [RREEE) R 288 400 5 62%
288 200 | 624 64%
288 900 | 58%
288 900 | 58%
JAMFE 288 600 66%
288 600 61%
288 800 61%
288 400 66%
R CAE) =K% R (PE) % 1 288 800 57%
[[JLe6s | 288 800 55% _ J:19.000
[JLees | 288 800 57%
[CJLee7 | 288 900 | 57% _ J:18,800
[ JL6BY 288 400 56%  X:18,100 K:17,000
671 | 288 400 56% ;18,100
X9H% | JL662 | 28H 900 7%
[CJLeea | o288 900 57%
[ JL6cs | 288 000 50% X:17900
670 | 288 000 59% 17,900 6900 | 61%
672 288 200 52%  X:20.700 9.200 56% 18,800
674 | 288 800 57% 7000 61%
R CHE) =R RRCHE) %[ Jleos | 288 100 62%  X:17300 16, 66%
[uLeo7 | 288 800 55% 57%
[ JL609 288 800 61%  X:18,000 85%
611 | 288 800 61% ;18,000 65%
613 | 288 300 | 60% | X:18.800 13 73%
[JL6i5 | 288 300 60% ;18,800 73%
R [ JL606 288 800 61% 73%
[JLe0s | 288 800 61% 71%
610 288 800 61% 85%
612 | 288 800 50% 23400 5%
614 288 800 50%  K:23400 55%
616 | 288 800 61% 65%
TR (M) K[ _J623 | 288 200 64% 15,400 80%
[[uL625 | 288 100 62%  3:16300 69%  X:13.900
[_JL627 288 800 58%  A:18000 62%
629 | 288 800 56 63%
631 | 2881 800 | 58% 71%
633 | 288 800 58% 63%
637 | 2881 800 | 58% 63%
639 | 288 200 55% ;19,800 71%
BEARSE | JL622 288 800 58% 71%
[[JL62a | 288 800 58% _ J:18.000 62%  H:16.700
| JL626 288 800 58%  A:18000 82% 216,700
[(JL628 | 288 800 | 58% 71%
[[Jie3o | 288 800 | 58% 62%
632 | 288 800 58% 62%
634 288 400 59%  X:17,.900 86%  K:15.200
638 | 288 400 59% ;17,900 66%  X:15200
R CHE)=E4 W (M) %[ JLes7 | 288 800 63% 66%
[(JLess | 288 800 63%  J:16000 66%
691 288 800 63%  X:16.000 66%
[[JL693 | 288 000 65%  5:15.200 67%
[[Jieos | 288 800 | 63% 66%
[JL6o7 | 288 800 63% 76%
EE% | Jl6ss | o8l 800 | 63% 76%
[CJL6s0 | 288 800 63%  J:16000 67%
[ JL692 288 800 63% 87%
[(JL6oa | 288 800 63% 15200 | 66%  X:14900
[JL696 | 288 800 63% 16,000 5
698 | 288 634
288 800 80% 8,000
288 600 76%  X:10000
288 600 76% 10,000
288 100 71% 12,100
288 100 71% 12,100
[ 288 200 72% 0
[JLes3 [ 288 100 75%
655 | 288 100 75%
ERER 288 600 78%
288 100 66%
288 100 66%
288 100 66%
| JL64 288 800 59%
[JLes0 | 288 600 50%
[JLes2 | 288 600 67%
654 | 288 600 70% 4588 | 11600 76%
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= E4 ERIUTAGALE—I) FB/IIBEALE—)
[T} Top mmm SRE W

KIR (D =B _ﬁgﬁ)% i 45 B R 10,000 79%
_ SEE | 10000 | 79%
EEE (PE -l G T mEaE () 25EF 17100 |__63%
SEE | 10,000 | 78%
4587 8500 | 82%
FLIR (37 F %) 9.000 80%
A45EIHT 17600 62%
_ _ _ SEE | 12000 | 74%
R CHE)=RE R CHE) % ; 458 H] 15,000 79%
_ SEE | 13000 | 82%
BER z B 13,000 2%

_ . 18000 75%  X:15000
AR (E3) =3IR% AL (E3) % | JL2861 45EE] 18,000 24%
[JL2863 SEAT | 18000 | 24%

[ezses 13400 18000 24% 12900

[ Y 12900 4

PIEES | Jios60 | el 100 79,500 7,900 53:

[JL2s62 | 288 400 59,500 12900 | 46% B:8.900

P e 10 oo T 7 1

T (EH) B | AR (GE) % | JL27a1 | 288 100 - i o iy
743 | 288 100 B 17000 15%
745 288 100 17,000 15%
[UL2749 | 288 100 17.000 | 5%
[UL2753 | 288 800 B 13,200 4%
[UL2755 | 288 13,800 1 i 13.200 S
757 | 28 8900 | 55% i 6900 | 654

EEER isg 8900 55% il 7.900 60% |X:6.900
i 100 sS85 1700015t
17.000 | 5%
;gg :gg 45T 17,000 15%
[ i 17000 15%
| JLZ ;gi ;gg :gg 4588 17,000 15%

. Bl 17.00

R (EH=-%ER  [AR(EHR 721 | 28H 500 48% 1 agg ;g:
[UL2727 | 288 500 48% 6900 | 73%
TEAISE | JL2720 | 2880 500 48% 458 H 6,900 73%
_ [JL2726 | 2880 500 48% 4558 | 6900 | 73%
AR (FE)-E& jﬁém)ge L931 286 600 42% 5B A 15,000 78%

R L936 | 288 600 | 424 45B8 | 18000 | 74% 15000
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. — - — 2772 7723 2724 2775
- gy | | REHTROA L) [y R )| AT B LI | AT B L1 ST LD | ERA B LE =) A58 LT BT AG AL —T) %8BT
Higﬂﬂ ERHR SEEE ERHR EEE ERHR EEE SEEE
HR AR =X (FF) [ R CHE) & [_JLi01 28E 81 8,000 .900 11,000 900 700 8,000 8900
[CoLi03 2867 ] 10,700 10,100 11,500 400 200 400 400
[CoLior 286 45H 13,600 13,500 14,200 500 000 300 300
T 286 ] 13,300 13,000 13.700 000 500 800 800
113 286 458 13,000 12.700 13.400 000 500 800 800
115 286 45H 10,000 9,900 13,000 800 500 000 800
17 286 7] 45H 12.200 11,900 400 200 500 800 800
[INIT) 286 45H 9,000 8900 400 200 500 9,000 800
[Tzt 28E] 458 11,500 11,200 400 200 500 500 800
[CoLi25 286 458 12.500 12.200 000 800 500 800 800
[CoLi2r 286 ] 10,000 9,900 500 000 000 000 8,000
INE] 286 ] 458 13,300 000 000 700 400 000 000
(L33 28E7] 45H 13,600 300 10,900 700 400 000 000
[CoLi37 286 7] 458 13,600 300 10,900 700 400 000 000
139 286 7] 458 14,100 800 400 200 13,900 500 500
KA (B 5 | _JLi02 28E 458 11.200 600 000 900 100 300 300
[CoLios 2867 ] 9500 400 000 900 100 9,000 300
[CoLi06 286 ] 13.400 000 800 400 600 9.800 800
110 286 458 12,800 500 300 900 100 9.300 300
112 286 45H 9500 400 500 100 100 9,000 300
114 2867 ] 12,500 100 200 100 100 9.300 300
116 2867 458 9,000 8900 000 9,000 600 9,000 9,000
[CLiis 286 7] ] 11.400 11,100 100 10,800 500 10,800 10,800
[CoLi20 286 ] 11.200 10,900 10900 10,700 500 10,800 10,800
[CoLize 286 458 9500 400 10,900 9,500 500 9,500 9,500
[CoLi26 286 458 11.200 900 10,900 10,500 500 10,800 10,800
[CoLi2s 286 ] 12.300 800 11.400 11,000 13.900 13,500 13,500
[CoL130 286 ] 13,500 200 11.400 11,200 13,900 13,500 13,500
[CoLi3e 286 ] 13,000 700 10900 10,700 13.400 13,000 13,000
138 286 ] ] 13,600 400 10,900 8,000 13.400 9,500 8,000
FOR CRE) =AM () | O (W) 3¢ |_JL221 286 45H 9,000 8900 12,600 12.200 11,100 9,000 10,600
[CoL225 286 458 11,000 10,500 12,600 12.300 11,500 11,000 11,000
229 286 ] 458 9,000 8.900 11.400 10,900 13,300 9,000 2800
I () 3¢ |_JL220 2B 458 7,000 6.900 100 8600 9200 7,000 700
[Co22¢ 286 ] 11.400 10,900 000 1,500 12,900 12,400 400
226 286 458 9,000 8.900 500 000 12.900 9,000 400
HR CAE)=ALIE (37 F 3| BUR () 5 [ _JL501 28B4 458 11,000 .900 400 000 16,800 000 000
[CJL503 286 458 20600 300 300 700 500 000 000
[CJL505 286 ] 23900 300 300 700 500 900 500
[CJLs07 286 ] 900 200 300 700 400 800 300
[CJL500 286 ] 800 200 300 700 400 700 700
[CoLs11 286 458 800 000 300 700 400 700 700
[CJLs13 286 458 600 100 700 500 400 700 600
[CJLs15 2867 ] 500 700 23900 700 400 700 100
[CoLs17 2867 ] 500 500 23700 500 400 700 100
[CiLs19 2867 ] 500 500 23700 500 400 000 000
[CoLs21 286 ] 500 700 23600 600 400 500 500
[CJL523 286 ] 500 700 23600 600 400 000 000
[CJL525 2867 ] 900 900 20200 600 700 500 500
[CoLs27 286 458 600 900 20,300 000 700 000 000
[CJL529 286 ] 000 900 18,600 500 21.900 500 500
531 286 ] 400 800 18,600 000 20.300 000 000
LR (37 /%) 3_JL500 2B 458 000 8900 23200 100 700 000 000
[CoLs02 28E] ] 500 9400 23900 100 500 500 500
[CJL504 286 458 9,900 21,900 100 700 000 000
[CJL506 286 ] 400 21.900 100 200 600 300
[CJL508 286 ] 900 20800 100 200 600 000
[CJLs10 286 458 500 20800 100 20200 600 000
[CoLs12 286 ] 458 800 600 700 20900 400 100
[CiLsia 286 458 500 700 000 22100 400 700
[CJLsi6 286 ] 500 600 700 23800 000 700
[CiLsis 286 458 800 200 300 23600 900 600
[CJL520 28E] 458 2 200 300 24200 400 200
(o522 286 ] 500 200 300 24200 400 600
[CoLs24 286 ] 400 400 600 23800 000 800
[CJL526 286 ] 900 400 000 21,700 900 800
[CJL528 286 458 000 600 500 20500 700 800
530 286 ] 100 600 000 18,300 500 200
R CRE) FOR CRE) 5 |_JL303 28E 458 8900 600 000 4.700 000 000
[CJL305 286 458 900 600 000 700 000 700
(o307 2867 458 900 23900 900 500 000 000
[CJL309 286 458 900 25300 300 500 000 000
o311 286 ] ] 000 23900 900 500 100 100
(o313 286 ] 458 900 500 500 500 000 000
[JL315 286 ] ] 200 200 400 500 000 100
o317 286 ] 500 900 700 500 500 500
NI 286 ] 600 900 000 400 400 900
[Cos21 286 ] 900 900 900 200 000 000
[CoL323 286 ] ] 600 600 700 100 200 200
[CJL325 286 ] 700 600 800 100 300 300
[CoLs2r 286 458 900 200 300 400 500 500
) 286 45H 900 21,000 000 600 000 000
(o33t 286 45H 400 20900 100 18,000 800 800
[CJL333 286 ] 900 21,600 000 18,600 000 000
335 286 458 900 20900 000 18,000 000 000
TESE | JL300 28681 ] 900 600 600 000 000 000
(o302 286 ] 458 900 600 600 000 000 000
(o304 286 458 900 000 900 400 000 000
[CJL306 286 458 600 000 900 400 000 000
[CJL308 286 ] 400 800 700 500 900 900
310 286 45H 400 300 300 600 900 100
o312 286 ] 458 000 600 400 600 900 200
[CoL3ia 286 458 300 600 700 600 600 100
316 286 ] 500 600 600 600 600 100
318 286 ] 500 700 700 600 500 000
[CJL320 286 458 700 700 800 600 600 100
o322 286 458 900 20900 000 100 000 000
[CoLsze 286 458 400 21.900 900 900 900 400
[CJL326 286 458 400 21.900 900 900 900 400
[CJL326 286 458 700 21.600 100 800 900 400
[CJL330 286 458 900 21.600 000 000 000
332 286 45H 900 18,600 000 16,600 000 000
R CAE)=H (B%) | 1R (FE) & [_JLeol 28B 81 458 900 28,200 900 400 ,000 ,000
[CJL903 286 ] 458 800 30000 000 500 000 000
[CJL905 286 ] 458 300 30000 000 500 000 000
[CoLs07 286 ] 458 300 30000 000 500 000 000
[CJL09 286 ] 458 000 29,000 100 500 500 100
[CoLoi3 286 ] 458 600 27.000 000 400 200 600
[CJLoi5 286 ] 458 600 22900 700 600 500 400
[CoLoi7 286 ] 458 100 20800 700 100 900 900
[CoLoie 286 ] 45H 100 400 400 700 700 300
[CoLo2t 286 ] ] 900 700 700 4,500 500 900
[CJLo23 286 458 200 700 200 18,300 500 200
925 286 458 400 500 900 20.300 400 900
SPRE (MR 5 [_JLo00 28E 81 458 700 600 300 200 800 000
(o902 286 458 200 400 400 000 300 000
[CJLs04 286 458 200 300 300 300 300 000
[CJL906 286 458 400 900 000 300 500 600
[CJLs08 286 458 400 400 400 100 500 700
[CoLsi0 286 458 600 900 400 600 600 800
[CoLoi2 286 458 600 900 400 600 600 800
[CoLoia 286 458 500 500 400 600 600 300
[CJLoie 286 ] ] 500 500 400 100 000 300
[CoLois 286 45H 500 500 500 100 000 300
[CJL920 286 ] ] 700 16,800 800 700 300 000
927 286 ] 100 13,700 800 700 800 600
(KB () =AU (37 F )| KB (F+) 3¢ [_JL2001 28B1 81 458 1,200 31,200 100 500 400 100
(L2005 286 ] 458 5800 30.100 000 200 000 000
(L2008 286 458 4,500 16,300 300 800 800 400 400
2019 286 458 4,200 18,900 000 200 000 200 800
LR (3 7 #%) 3_JL2000 28E T 45H 8900 21100 100 200 300 500 400
(L2006 286 458 900 18.900 400 800 800 900 600
28681 458 600 18.500 700 24,000 400 700 700
28E8] ] 700 18,500 900 23800 200 500 700
28E81 45H 000 24.900 600 23500 200 800 800
28881 45H 200 17.300 500 11.200 700 600 400
LR (3 7 %) 3_JL25 28E 8 45H 700 13,300 700 12.300 700 400 900
2506 286 458 100 18,000 000 20.300 100 700 900
KA (B 3¢ |_JL2081 2B 458 400 200 700 19.200 000 200 900
2087 286 458 400 400 400 14.400 400 400 000
PR G 5 | JL2084 2B 45H 8900 400 000 14.400 400 4400 400
(L2088 286 45H 600 000 20.300 000 23300 700
BE-AHR(FFR) BERE | JL3513 28 B8 458 300 000 900 20,300 000 18.200 700
3515 286 ] 600 700 600 17.300 000 17.300 300
LR (37 %) 3_JL3510 2B 458 600 21,500 400 19.200 500 15,600 600
3512 286 ] 500 20800 800 20900 600 20300 000
FRCRE)-Zms | o CHE) 5t |_JL56d 28E 45H 200 26300 900 23.700 900 22700 400
[CJLs67 286 45H 200 26300 900 23700 900 22.700 400
569 286 458 500 18,500 500 20500 000 18.700 000
T@ERR | JLsoz 2B 458 900 19.500 400 16,000 000 19.500 000
[CJLs64 286 458 600 20,000 100 16.700 000 19.900 600
566 286 458 400 300 18.400 000 26000 700
HR (A= FOR (AE) 5 [_JL551 28E 81 458 9.500 200 700 19,800 700 18,300 000
[CJL553 286 ] 458 17,500 300 400 18,600 700 18,900 000
[CJL555 286 ] 458 17,500 400 600 18,600 000 18,900 000
557 286 458 19,000 400 000 500 000 18,900 000
IS | _JLs62 28E 458 9.900 500 400 400 800 18,100 000
[CJLs54 286 45H 10900 200 400 500 300 19,000 300
[CJLs56 286 45H 17.700 700 800 900 000 200 500
558 286 45H 9500 700 000 200 000 000 300
EEEE ] W (AE) &[54l 28B1 81 458 10,900 23,300 600 200 100 400 700
[CJL543 286 458 19.200 23800 800 300 000 700 000
545 286 45H 17,100 18,000 900 300 700 700 700
BEE [ Jl540 286 45H 9,600 9500 19,000 000 400 000 300 000
[CJLs42 286 458 16,300 15.200 15,200 200 16,300 000 700 600
544 286 ] 458 11,000 10,900 20300 100 19.500 000 20800 500
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_ 218 286 ] 458 500 600 St 400 300 ooy
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203 2668 45H 800 500 600 500 oo - 00 00
(o205 2851 458 200 900 600 200 o0 500 800 oy
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(o202 2851 458 700 300 100 700 1% 200 600 2L
(o204 2851 458 200 900 800 500 . 20 600 4o
_ 266 2668 45H 700 400 600 500 5 00 50 200
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[CiLase 2668 45H 17,000 000 500 20,400 o5 Taat5 20 8600
443 2668 45H 18600 000 600 9,600 50 e . 240
WILFE [ JL430 2681 458 17,900 600 500 9,600 o s 2130 9600
[CiLasz 2668 45H 16.900 000 800 1,100 250 it 200 8600
[CoLase 2668 45H 14500 400 200 000 o0 00 o 0
[CiLase 2668 45H 14,500 400 200 000 o oo . X0
[CJcass 2681 458 17,400 300 000 000 oo 0 300 000
_ 440 2668 45H 16.300 500 600 600 50 0 20 200
TECHE) AR | R CHED % | 373 PIEL 58 T8.400 700 400 700 50 o L o0
375 2668 45H 17.400 400 400 400 450 o % 0
[CaLsrr 2668 45H 13,000 500 400 000 450 - 5% o
379 2681 458 15,000 900 400 000 oo 0 10500 000
TANRE | JLa10 26E 5] 458 12,000 900 400 000 Te300 500 15500 000
374 2851 458 17.600 600 000 000 T 200 14300 000
[CiLsre 2668 45H 17600 500 900 500 Tt o {1 40
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WRAE-AS | BR CRE) 5 | JL6ot 28E81 4 17,900 500 000 76,900 500 76,900 500
[CLes3 28881 458 18,600 800 500 900 000 900 000
[CJLess 28881 458 17.900 800 500 500 000 000
[CLes7 26881 458 16,000 900 000 400 000 000
) 28881 458 18.300 200 500 400 500 500
611 28881 458 16,000 900 000 400 000 000
XA | _JLe62 28881 458 11,000 900 000 500 000 000
[CLeed 28881 458 17,900 800 500 900 000 000
[CJLess 28881 458 11,000 900 000 600 000 000
[CL670 26881 458 18,000 200 500 600 000 000
[CuLer2 28881 458 19,800 300 500 400 500 500
674 26881 458 000 18,900 000 000
R (AE) =R B (AE) & [_JL605 28B 81 458 500 16,900 800 800
[CLeor 268881 458 500 17.400 300 300
[CJLeoy 26881 458 000 17.400 300 300
G 28881 458 000 17.400 300 300
INIGE] 26881 458 000 18,900 000 000
615 28681 458 000 18,900 000 000
WS | JL606 26881 458 500 16.900 000 800
[CJLeos 28881 458 500 16,900 800 800
[LL610 26681 458 000 18,900 000 000
[CuLei2 26881 458 500 19.400 500 500
[CLeid 268881 458 500 19.400 500 500
616 28881 458 800 19.400 500 500
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697 28681 458 500 400 000 000
L 28681 458 800 900 800 000
[CLes0 28681 458 500 900 800 800
[CLes2 26681 458 500 16,900 000 000
[CLeod 26881 458 500 400 500 500
[CLes6 26881 458 500 400 500 500
698 26681 458 500 900 000 000
RER(RE)=-ERE |HRFE) [ Jedl 28B 81 458 300 300 400 100
[CLeas 26881 458 500 700 600 100
[CLeas 28881 458 500 700 600 100
[CLear 26881 458 100 100 600 600
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[ JL57 28H 100 500
HRE(FH)-HE ER(FHE) ¥ [_JL585 28H 800 000
[ JL587 28H 600 000
[ JL589 28H 200 ,000
EEER [ _JL584 288 300 ,800
[ JL586 28H 500 400
[ JL588 288 400 300
R CHE)=H RRCHE) [ _JL 288 600 500
L 28H 600 200
L 28H .900 800
L 28H .900 600
L 28H .900 500
L 28H .900 000
HHRR L 288 300 000
L 28H .900 500
L144 288 .900 800
L 28H 700 600
L 28H 700 600
L 28H 300 900
RRCHE) RRCHE) S [_JL 288 .000 ,000
L 28H 000 500
L 28H 300 600
L 28H 300 600
L 28H 300 600
L 28H 300 000
L 28H 200 .700
L 288 200 700
R CHE)=-HE RRCHE) S [_JL 288 ,300 ,000
L 288 500 12,800
L 28H 500 12,800
L 28H 300 500
AR L 288 000 ,000
L 28H 000 400
L 28H 000 400
L 288 000 200
R CFE) =1L R CRE) % L 28H 9,700 500
Li7 28H 11.400 10.700
IEZ3 L17: 28H 11,000 10,500
L17 288 11,000 10,500
R CHE) =M R CRE) % L 28H 100 500
L 28H 600 400
L 28H 600 400
L 28H .800 10,400
L 28H 800 500
L 28H 800 000
INRFE L 288 600 ,000
L 28H 600 500
L 28H 300 000
L 288 1400 100
L 28H 1900 600
L 28H 1900 600
RRCPB)-ALEE |RR@E) %[ I 288 ,300 800
L: 28H 300 000
L: 28H 400 500
EEEEEE S L 286 ,200 500
L: 28H 300 800
L: 28H ,900 800
RR CRE) =R R CHE) % [_JL: 288 1,300 300
L: 28H 100 9,700
L: 28H 100 13,400
L: 28H 700 14,400
L: 28H 300 9,000
EITES L: 28H 100 9,000
L: 28H 900 700
L: 28H 100 400
L: 28H 100 000
L: 28H 500 700
HR(PHE) =L HRCHE) % [_JL2! 2880 600 9,700
[ JL255 28H 600 16,700
[ JL257 28H 900 10,200
[JL259 288 300 17,700
261 288 800 9,200
[ JL263 288 800 200
[ JL265 28H 500 700
267 28H 100 200
EBF% [ JL252 28H 400 100
[ JL254 28H 800 200
[ JL256 28H 200 200
[ JL258 28H 200 800
[JL260 28H 200 200
[ JL262 28H 500 800
[ JL264 28H 200 600
L266 28H 200 200
SIIOFE 291 288 000 100
[ JL203 288 200 500
[ JL295 28H 600 000
297 28H 600 200
IIOFERF L290 288 100 200
[JL202 28H 100 200
[ JL204 28H 600 500
L296 28H 100 200
RRCHE)=HE R CHE) % [_JL277 286 800 500
279 28H 800 700
[ JL283 28H 500 000
[ JL285 288 000 000
287 28H 600 600
HER L276 28H 000 500
[JL278 28H 700 000
[ JL280 28H 400 000
[ JL284 28H 000 000
[ JL286 28H 700 800
B (HE) -8 R CHE) % [_JL453 2880 00 400
[ JL455 28H 00 15,700
[JL459 28H 00 500
461 28H 00 15,700
[ JL463 288 200 17,700
L465 28H 900 9,000
EeR [ _Ju4a52 288 700 9,000
[ JL4sa 28H 900 14,500
[ JL456 28H 900 9,500
[ JL460 28H 700 17,100
[ JLd62 28H 800 17,800
L464 288 800 9500
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- g ORI | R8RS R =T
™ e mam R
TEALIR AR -
RRCHE) =/ HR CHE) 5 |_JL47! 28H AT B 300 100
L47 288 100 500
L47 28H 700 100
L48 28H 800 000
L48 28H 800 900
[ JL4ss 28H 100 500
L487 28H 400 800
S L474 28H 700 100
476 28H 800 100
[JL478 28H 700 800
[ JL480 28H 700 7,800
[ JLds2 28H 800 900
[ JLdsa 28H ,200 500
L486 28H ,200 500
RRCHE) =/ R CHE) % 491 286 300 700
[ JL493 28H 300 19,300
[ JL4g5 28H 300 600
[ JLdo7 28H 300 19,300
L499 28H 600 100
mEFE [ _JL490 28H 300 19,300
[ JL492 288 300 100
[ JLdoq 28H 300 19,300
[ JL496 28H 300 700
498 28H 300 300
R CRE) =L HR CHE) 5 |_JL43i 286 500 100
[JL433 28H 800 000
[JL43s 28H ,600 800
[ JL437 28H 600 600
[JL439 28H 700 19,900
443 28H 000 600
WILFE [ _JL430 28H ,300 600
[JL432 28H 300 ,000
[ JL43a 28H 600 800
[ JL436 28H 800 000
L438 28H ,000 000
L440 28H 600 600
HR@AE =AM | ®RCHE) R | _JL37 286 ,400 400
L37 28H 400 400
L37 28H ,900 000
L37 28H ,900 000
LA L37i 288 .600 000
L37 28H 600 600
L37 28H 600 600
L37 28H 400 300
RRCHE)=X5 HR CHE) 5 |_JL661 286 900 000
L663 288 700 7,100
[ JL665 28H 700 7,700
[ JL667 28H 800 000
[ JL669 28H .900 ,900
L671 28H .000 000
xn% [ _JLe62 288 ,600 ,000
[ JL664 28H ,600 300
[ JL668 28H 400 000
670 28H 400 ,000
L672 28H 800 500
[ JL674 28H .000 700
B (FH) =R HR (FIE) % [_JL605 280 600 500
[ JL607 288 700 700
[JL609 288 .900 000
L611 288 .900 ,000
L613 28H .400 500
L615 28H 400 500
RiG%  [_JL606 2880 900 000
L608 288 ,900 400
L6 28H 500 300
L 288 100 900
L 288 100 900
L 28H 500 300
EEAEEE 3 R (FH) 5 [ JLe2 2880 900 000
[ JL625 28H .800 400
[ JL627 28H .700 7,100
[ JL629 28H .300 7,600
L631 288 300 6,000
L633 28H .300 7,600
[ JL637 28H 100 100
L639 28H .000 000
HEARRE [ _JL622 2880 300 000
[ JL624 28H 200 200
[ JL626 28H 1200 200
[ JL628 28H .200 400
[ JL630 28H .900 900
[ JL632 28H 1900 900
[ JL634 28H 1900 ,900
[ JL638 28H 1900 900
B (FH)=8% HR CHE) % [_JL6s7 280 .900 600
[ JL689 28H 800 400
691 28H 400 500
[ JL693 28H 400 7,500
[ JL695 28H 400 7,500
697 288 800 7,900
EE% | JL6ss 28H .800 000
[ JL690 288 .300 500
[ JL692 28H .300 300
[ JL694 28H .600 600
[ JL696 28H 300 300
[ JL698 28H .800 800
RRCAHE)=ER. R CHE) % [_JL 288 600 ,000
L 28H 600 600
L 28H 600 600
L 28H .300 100
L 28H 400 7,100
L 28H .400 7.100
[J 28H .400 7,500
L655 28H 400 4,000
ERER L¢ 288 1,300 000
L 288 .900 000
L 28H .900 000
L 28H .900 000
[ L 28H 400 500
[ JL650 28H 400 500
[ JL652 28H 300 500
54 28H 400 500
B EE (FPER) = AL CBr T 28 [ 2 B (P B) 3_JL3 285 300 000
L3 288 700 700
L3 288 400 400
(FLIR BT F %) L3 288 .000 ,900
L3 28H 100 900
28H ,900 800
RRCHE)=-RE R CFIE) % [_JLo7 288 200 ,000
L97 288 200 000
(353 L97 28H .300 000
[ JLo7: 28H 500 600
ALIR (B 35) =8IER FLIR (B35 % |_JL2861 28H 400 900
[JL2863 28H 400 ,900
[ JL2865 28H 400 ,900
L2869 28H 100 ,000
RS 12860 288 ,400 ,900
["JL2862 28H 400 ,900
[JL2864 28H 400 ,900
L2868 288 400 ,900
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Em wa ek iiiad :;”*t N T AGALE ) R EE—TD
- SEAHAR BAMR WEE WESE
HLiR(EX) =R FLIR (F3%) 5 | JL2895 28 H B il 9,800 6,900
RFE | JL2894 2880 9,800 6.900
ALIR () =BfE ALIR (3 % [_JL27: 288 800 200
L2 o 800 200
L 285 800 200
L 285 800 200
L 285 800 200
v of 20 200
% 8,900 7.900
EER L2 28H 8,900 6,900
L2744 285 800 200
L 285 600 200
L 285 800 200
L 285 100 000
. L 285 800 200
AREH =R | AEERE| J 28H 200 200
RE L2816 288 600 500
LR (BB =% @5 ALIR (3 % [_JL2721 288 900 =
[ 285 500 S0
TEARE | J 288 500 300
285 L
RRAE)-EE 280 ',94%% ,%%%
28H .500 300




TEBEISI(2 Lt—IL)IEE
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R B4 ERITAGA L)L) — FEMTBGALE—I)
el magm TR i %
FR (FE) =K (FA) | = (8 % 11,600, +:11,300
2,100, £:11,800
15,600, +:14,300
000, F:13,800
14,500, 1:13,800
500, :13,600
900, +:12,000
800, £:12,000
800, £:11,700
714,500
15,000, +:10,900 0
715,000, %:10900 500
15,300, +:10,900 500
715,400, 1:10900 500
15,900, +:11,300 900
GRS 600, +:11.100 500
100, +:11,100 500
4700, %:11,800 000
114,100, 11,800 10,500
713,400, 1:12.200
::13.400, +:12,000
2,300, F:11,500
TR 3
5Elﬂ 9.0
10500 | 65% il 300 £:10300
+:11.400 45 E Al 11,800 61%  +:10.800
L +:11.400 SEE] | 12400 | 50% | %:14000. F:11,000
£:10,900 45EH] 11900 | 61%  :13400, £:10.500
. +:10900 458 | 10000 | 67% 414,800, £:9000
CRE) =Xk (B%) |z (@) % [_JL221 | wmn £:10.700
[[JL225 | 288 000 64%
| JL229 288 000 64%  +:10,800 0500, +:10,300
KB (BY7E) [ JL220 | 288 400 72%
[[JL224 | 288 200 66%
208 | 288 800 61% 100, £:10,000
R (TR Lso1 | 288 300 61% 12
503 | 288 700 48% _ 7K:19.400_ A:20600, £:21,500
505 288 800 42%  7k:19,600, K:21.400, £:24000 Sl 9 SDD I 20,600, £:23,400
507 | 288 600 44%  7K:19,600. A:21.400, :21,900 9,300, £:20,900, %:21.300
509 288 900 52%  £:21900, +:24,200 700, 7:20.300, £:21,200
288 800 46% 800, 7:20,800, £:21.900 200, :20.300, :21.200
288 300 56% £:20,900, +:21,900 300, +:21,100
288 300 56%  £:19.800. F:20,300 200, £:19.800
288 100 56% £:20,900, 1:19,300 300, 1:18.800
288 100 56% 900, +:19.300 300
288 300 56% ::20,900 300
[JL52 288 300 56% 900 300
|_JL525 288 800 55% 100, :19,300 500
[CuL527 | 288 400 42%  7K:20900. A:21,600. F:20,400 600
[_JL529 288 800 55% 12 1:19,100 900
531 | 288 300 61% % .100
FLIE (FFA)H_JLs00 | 288 200 52% 2 £:23,600
[uLs02 | 288 000 | 48%  £:24000. F:24,900
[JLs0a [ 288 700 51%
[uL506 | 288 700 51% 214
[CJLsos [ 268 100 56% 220,700, E20400 R
288 100 56% 700, +:20400 00, :19.600
288 300 54% k:19,600, £:21,400
288 600 | 53% _ 7K:20.100, £:23,600
288 800 53% 100, £:24,200
[ 288 600 | 53%  £:23,600, +:19,700
[UL520 | 288 600 53% _ £:24800, £:19,700
[[JL522 | 288 800 | 53% _ A:21.400, £:24,800 Aoo :20.900, 20200
|_JL524 288 000 54% 500, £:24,500 500, £:20,100, F:19,100
[[JL526 | 288 000 54%  A:20500, £:22,500 500, :20.100, £:19,100
|_JL528 288 400 58% 12 300
530 | 288 300 61% 900 100
R CHE) % 303 | 288 100 71%  £:15300, F:17,300 000. 000
[[JL30s | 288 000 69%  £:16.200. F:18.200 000, :£:16.400
[ JL307 288 800 51% :21,000, %:21,600, +:20900 200, 7:20,800, F:20,000
[[JL309 | 288 100 48%  7K:22,300. #:23.100, +:20,900 00, :22.100. F:20,000
288 800 51%  7k:21,000, A&:21,600, +:20900 200, 7:20,800, £:19,100
288 100 48%  7K:22,300. #:23.100, +:20,900 400, :22.100, :20000
288 400 51% 100, A:19.400, +:21,100 400, 7:18,500, 1:20.300
288 100 64%  £:22.200. +:19,800 500, :16,000, £:18,600
288 800 65% £:20,600, +:18,100 500, +:17.200
[ 288 600 | 65%  £:20600. F:18,100 000, 7:14,000, F:17.200
|_JL323 288 800 49% :20,000, %:20,700, 1:20,300 :19,000, #:19,700, +:19,300
[[uLs2s | 288 600 49%  7K:20000. #:20.700, F:20,300 100, :18,800, £:18.400
[_JL327 288 800 42% _ 7K:20,700, A&:21,000, 1:20,600 700, 7:20,000, F:18,900
[[uL329 | 288 100 39% _ 7K:22,100. A:23,000, F:20,000 100, A:21.800. F:18,900
[CuLaat | 288 100 39% k22,00 23000, £:9900 ]
[JL333 | o288 800 38% _ 7K:23,000. A:23,500, +:19,900
335 | 288 800 | 38% k23000, A23500, F:19900 |
@EF%E [ Js00 | 288 700 61% 600, +:18.900
[JL302 | 28| 700 61%  £:20,600, I:18,900
[[JLs0a | 288 500 | 59%  A:20200, £:21,000 300, %:20.900
| JL306 288 500 59% K:20,100, £:21,000 400, £:20.500
[CJL30s | 288 100 52%  7K:20,500. A:21.200. F:20,400 500, :20.300, £:19.400
288 300 60%  £:23,100, +:21.400 000, 1:20.300
288 600 | 61%  £:23.100. $:20,300 00, +:18.400
288 100 52% 7} 1:19.500 400, 7:16.700, F:18.400
288 200 52% L :17.900, £:19.500 400, :16.900, +:18.600
| J 288 700 59% 25,600, +:20,800 000, 1:19.800
[[uLs20 | 288 700 50% 600, +:20800 000, £:18.900
[Ur322 [ 288 900 56% 300, £:21,100
[[uLs2a | 288 900 900, £:20.800 800, £:18.800
[_JL326 288 900 900, +:20,800 800, 1:18.800
[(JLs2s | 288 700 600, 22500 F:19300 ] 100, :20.400, £:17.300
[[JLaso | 288 700 600 mwaaﬂ—
[JL3s2 | 288 600 224,600
CRE) =4 (8 | "z (HE) %[ _JLol 288 700 65%  £:23,700. :tZ|700
[[JLoos | 288 600 63% _ £:26,000. F:25,000 000, £:23.900
|_JL905 288 000 57% 000, 1:25,000 000, +:23.900
[CuLoo7 | 288 000 57% 000, £:25. ooo 000, £:23.900
[_JL909 288 000 57% 000, £:25 000, 1:23.900
288 500 54% 200, A:22, aoo £:24200
288 900 | 68%
288 500 71%
288 500 3%
[ 288 900 74%
|_JL923 288 100 64%
[JLo2s | o288 000 64% 600
#l (AR [ JLooo | 28E 900 68% 500, +:17,500
[[JLoo2 | 288 500 73%
[_JL904 288 300 3%
[CJLoos | 288 800 | 70%
|_JL908 288 800 68%  +:17.2
288 000 60% _ %:24000
288 700 59% %2641
288 000 60% | %:23500. F:20,600 400, £:20,500
288 000 60%  £:23500, +:20600 400, 1:20.500
[ 288 000 60% _ £:23,500, F:20,600 500, £:19.700
[JLe20 | 288 700 67% _ £:21400 400
927 | 288 300 | 75%
KR (7 =#LIR (3 F &) | KRR (F#7%) % [ L2001 | 288 100 51%  7K:18,000, £:21,800 17,900, 7:20.700
[[JL2005 | 288 300 58%  7K:18.700, A:21,700 7K:18.100, :18.200
|_JL2009 288 800 71%  +:17500 +:16.500
2019 | 288 600 67%  £:24800
LI (37 F#) % _JL2000 | 28H 700 73%  £:20,300, +:20300
[[L2006 | 288 600 | 69%
[ JL2010 288 800 65%  £:22400, +:22500 20,800
[JL2016 | 288 000 | 65% _ £:22,500, F:22,600 0,900
KB (BT =#LIR (37 F &%) | KB (B8F) % | JL2501 [ 288 400 64%  £:23,000, +:23900 2,900
2505 | 288 200 79%  +:12.800 900
LR (37Fm) 5 JL2504 | 288 300 T7% 140 1,900
2506 | 288 300 62% _ +:18,600 7,500
KR () =4 (BE) | KR (PR 2081 288 100 49% 226,100, 1:26,100 25,100, £:25,100
[JL2087 | 288 400 68%
AR () % [ JL2084 | 28H 400 68%
[JL2088 | 288 100 49% 4588 | 13000 | 71% 217,900, £:19.300
EE=TLR () [EEES 3513 | 288 300 68%  1:23,500 w_ﬁﬂy_wa,wm 900
3515 | 288 300 74%  +:22,600 11,000 | 83%  £:15900. F:20,900
(LR (37 F %) 3510 | 288 200 71% _ £:17,300 45 11,000 83% 15900, £:15,900
[ULasi2 | 288 300 68%  +:23500 45B 8 | 21700 67% k15700, :18.200, %:18500
g FOR (FE) % [_JL565 288 500 65% _ £:21,500, £:21,600 45Elﬂ 9,600 2%
[[uLs67 | 288 400 | 64%  £:22,600. F:21,600 18800 | 65%  %:21800. 21,000
| JL569 288 800 63%  £:22400, +:21,300 11,000 79%
K@z | Js62 | 288 300 64% 11,000 79%
| JL564 288 800 67% £:18400, +:17.900 45EH A 17,000 68%  £:17.900, +:17.400
566 | 288 600 | 67% | £:19.000. F:18.200 45B8] | 9600 | 82%
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FR/ITABALE—IL) I 7BEALtE—IL)
m = W anm |50 [
B51%
R CRE) =8Il W (Fm) % [ JLs51 | £:20,000 9,600 81%  £:11,000
[JL553 . +:21400 17500 | 66%  £:20200. F:20600
[CuL555 +:18.000 458 11,000 | 79%
[JL557 B[ 17600 | 66% %:19.500
Mg [ JL552 £:19.500 18,200 65% _ %:18,800, £:18,500
[uLs54 0 79%
[JL556 68%  %:17.300
[JL558 81%
R (FE) =2 ESAEE:ES 288 800 63%  £:23,500, +:23500 1%
288 900 | 51% 7K:20500, A:21,500 53% 7K:19.400. 20500
285 400 | 66% 2:19,100, +:18.000 78%
HIEESE 288 1900 65% 119,800, +:18.500 78%
285 500 | 69% | £:17,100, F:17.100 72% 216000, F:16.000
288 600 | 63%  £:19.300, F:18,100 81%
R CAE) =K EEAEEE I 288 300 67%  £:20,300, +:20600 81%  #:18700. +:18.700
[[uL575 | 288 400 | 63% | £:19,500, +:19,100 64%  %:18.900, F:18.500
[uLs577 | 288 400 | 63% 2:19,500, £:19,100 78%  £:18.900, F:18.500
579 | 288 300 61% 300, £:18,500 76%
#E%E [ U570 | 288 400 61%  £:20,800, +:22.200 76%  2:13,000, F:13,000
[CuLs572 | 288 500 | 65%  £:20000. F:17,600 66%  £:19.400. F:17.200
[uL574 | 288 500 | 65% £:20000, F:17,600 76%
576 | 288 600 67% 800, £:16,200 81%
R CHE) =B R (Pm) [ _JLses | 288 900 57%  £:20900, :21,200 69%  #:19.700, +:19.800
[JLse7 | 288 100 | 56%  %:20900, 1:19.300 58%  £:18,000. F:18.500
[JL589 | 288 500 | 55%  £:20800, F:18,200 458 10,600 74%
WER | JL584 | 28H 700 | 55% :19.100. +:19,100 45E 8 | 10600 | 74%
[JLsse | 28d 200 56% 300, :17,100 45E8] 17900 57% %:18,000, +:16.800
[JLsss | 288 500 50% 200 45B 8 | 13000 69%
R CHE)=H R CHE) % 288 500 6% 500, £:13500 5 10000 75% :11.000, +:12,500
288 900 60% _7K:15800. F:15,300 ¥ 7K:15.100, :15.200
285 000 | 62%
288 300 62%
286 900 | 60% 15800, £:16,800
288 000 | 62%  £:16,800. F:12,500
EHR 288 000 62%  7K:12,500, +:15900
288 900 60% _ 7K:13.900. A:15,300
286 900 | 60% 7K:13,100, 15,000
288 900 | 60% _7K:15,800, %:16,400
286 900 | 60% _7K:15800, £:16,400
288 500 | 69%  %:15000, F:11,200
R CHE R CHE) % 288 000 59%  £:11900, F:11,900
288 000 | 59%  %:11,900. F:11,900
288 000 | 59% 2:11900, +:11.900
288 000 | 59%  %:11,900. F:11,900
285 000 5
288 000 59% B[ 15300 | 61% ZK:11,000, A:9,500
285 000 | 59% 711900, £:10.700 45E8] | 15300  61% k:11.400, +:10.200
288 59% 7k:11,900, +:10.700 SEE] 15300 | 61% |7K:11,000, A:9,500, £:10200
R CHE)=HE R CHE) % 28ER] 70% 9,000 73%
288 47% _ £:12.100 16700 | 49%  %:16900. F:11,300
285 56%  %:14,700, £:12,500 45E 8 12800 6% %:13500, £:11.600
288 45% _7K:15,600, 7:16,300, F:12,500 B | 9500 | 71%
RER 285 49% %:17,700, +:11.900 1000 674
288 56%  %:16,500, +:12,500 12800 61% 3,600 F:11,600
285 50%  %:17,600, +:12,500 25E A 15500 | 53%  %:17.000, :11.600
288 _ BE | 9000 | 73%
R CHE) =17 R CHE) % 28ER] ¢ £:9.300 45EIf | 7800  66% 77500, £:8,300
288 :10.200, £:10200 Eil 200, £:9.200
23 28ERT ¢ 0,800 Bl
288 00, :10,300, £:8.700
R CHE) =/ R CHE) % 286 £:10,300
288 0,800
285 300
288 300
286 300
28EH |« 0900, F:8.300
IMRFE 28T 30
288 800 48,300, £:8300
28EH] | 9900 300
288 700 00, £:8,100 9600 | 68% |%:0,800, F:7.800
285 700 700, +:8,100 4568 9600 68% £:10600, F:7.800
288 800 710900, 8,300 45B 8 | 8000 | 73%
R (AE) % 288 600 39% k:20,800, £:22600, £:23100 | 458 21,100 45% 216,700, 7:20,100, £:20,600
288 600 41% _ 7K:19,100. A:19,600, £:22,100 4588 | 11000 | 71%  +:20.100
288 400 68% 45HB] 9,000 77%  %:11.800
HREER 288 200 66% _ 458 R 9.500 75%
285 800 | 46% k20200, F:21,600 4588 11,000 71%
288 100 40%  7K:20800. A:21.400, F:22,600 20600 46% 400, :17.600, £:20,100
TR CRE) =W ESAEE:ES 288 300 64%  7K:13,300. 3,200, £:14,000 | 45H881 13200 67% 100, :12,000, #:13.100
288 800 65% _ 7K:13,300. A:13.200, +:13,600 SEE | 0700 | 76% 100, £:12,000
285 500 | 64% k:14,100, A:13,800, +:13,700 13300 67% 000, +:12.200
288 000 62% 700 500
288 200 67% 12,700
TS 288 200 69% 2,300
[uL23a | o288 200 62% 4,800
236 | 288 500 64% 3,200, £:13,700
240 | 288 800 63% 15,400
[Jt242 | 288 800 60% 800
RECHE)=ES R (Pm) [ JL253 | 288 400 65%  K:13,600! 3700, £:13.800
[[JL2s5 | 288 800 64%  7K:14,600. K147
[uL2s7 | 288 400 | 55% 7K:18,300, A:18.200. F:15.100
[[JL259 | 288 300 | 57%  A:17.400. +:15,100 16900 58%
261 | 288 400 | 62% K:14,600, A:14,300. F:14,900 9200 | 77%
[[JL263 | 288 500 | 64%  7K:13,800. A:13,500, :14,100 458 | 13200 68% N N
[CuLz6s | 288 300 62% K:15000, A:14,800, +:13,500 200, :14.100. +:12.400
267 | 288 400 65% _ 7K:14,100. A:13.700, F:12,500 00, :13.200
257 | 288 600 64% k:13,900, A:13,800, £:14,100 000, :11.900_ %:12.200
254 | 288 500 | 59% 7K:16,300, :16,000, +:15.100 100, :14.900
256 | 288 200 65% k:13,800, A:13,500, +:14,000 112400
258 | 288 200 65%  7K:13,800, :13,500, :14,000
260 | 288 700 64%  k:13.700, A:13,500, %:14,600
262 | 288 900 | 58%  %:17,600. +:15,100 X
264 | 288 000 | 56% 7K:17,500, A:17.200 F:15.100 000, :16.700, +:14,000
266 | 288 200 55% 400, £:15,100
201 | 288 600 63% ___
203 | 288 900 60% 300 500, £:10,500
295 | 28H 300 | 60% £:18,500, F:17.200 200, +:16.900
[JL207 | 288 300 | 60% :18,500, F:17,200 200, £:10.200
WwosHE [_JL290 288 800 58%  £:19,700, +:19,200 5
[[JL202 | 288 800 | 58% £:19.700. +:19,200
[CuL204 | 288 300 60% 219,500, :18,500 500, £:10,500
206 | 288 700 63%  £:21.200. F:16,200 900, £:15.900
R CHE)=HE R (PE) % 277 | 288 200 52%  K:17900, 7:17,600, #:18,000 100, 7:15,500
[CuL279 | 288 800 45% _ 7K:20,100. A:19.800, £:20,300 100, :18.800, %:19.200
[JLzss | 28l 000 | 53% 7K:17,700, A:17.400, F:17.900 3
[(JL2s5 | 288 000 55% _ 7K:16,300. A:16,500, F:16,600
287 | 288 600 48%  7:19.200, £:19,500, +:17,600
HESR 276 | 288 300 65%  +:14.500
[uL27s | 288 000 | 47% 7K:19.900_ A:19,300, £:19.400
[CJL280 | 288 000 | 53% 7K:17,.800, A:17.400
[uL2sa | o288 000 | 47% 7K:20,200, £:20500
286 | 288 300 | 49% £:19.700. +:18,500
R CHE)=ES FR (M) K[ JLas3 | 288 900 50% 15700, A:15600, +13900 |
[[JL4ss | 288 900 | 59% 7K:15700, A:15,600, £:13900
[JL4aso | o288 200 59%  k:14.200, :14,000, +:13900
[[JLdei | 288 200 59%  7k:14.200, :14,000, £:13900 00
[CuLa6s | 288 600 58%  K:15,900, A:15,600, +:13900 13,900, :13.200_ F:10500
465 | 288 900 57% _ 7K:15,900. A:15,600, F:13,900 900, A:13.200
ER%x [ J4as2 | 288 900 62% k14200, A:14400, £13900 ]
[[JL4sa | 288 500 | 63% 7K:14.200, :14,000, +:13,600
[JL4se | o8d 500 63% k:14.200, A:14,000, +:13,600
[CJL60 | 288 500 | 63% 7K:14,200, :14,000, +:13,600 00
[CuLae2 | 288 500 63% K:14.200, A:14,000, +:13,600 100, A:12.600, F:10,500
4 | 288 500 63%  7K:14,200. A:14,000, F:13,900 0. A:12.600
EEACEDETN ESAEE:ES 5 | 288 300 58% 15,100, A:14700, +15600 |
7 | 288 500 53%  7K:17,800. A:17.500, F:18,000
9 | 288 200 64% K:14,600, £:15,600
[CJLdsi | 288 500 | 63%  A:14.200. £:15.200 A5B8 | 11300 71%
[JLass | o8l 500 | 63%  :14.200, £:15.200 45EA] | 9900 | 75%
485 | 288 500 55% _ 7K:16,100, A:15.700, F:14,800 A5ER] | 16600 68% 600, :15.400, £:14.300
487 | 288 700 50% k:19.100, A:18,600, +:15900 100, :17.600. F:15,000
IR 474 | 288 300 | 58%  7K:15,300, :15,000 100, +:10.100
476 | 288 100 56% k16,300, A:16,100, %:16,600 <:15,500, F:16.200
478 | 288 500 58%  7K:14,600. A:14.200, +:15,700 000
[CuLaso | 288 500 58%  K:14,600, A:14,200, +:15,700
[(JL4s2 | 288 500 | 55%  7K:16,000, A:15,700, £:16.200 000, :11,700
[CuL4sa | o288 600 50% k:19,000, A:18,500, +:17,200 000, :17.600_ :16,500
486 | 288 000 | 52% 7K:18.300, A:17.900. F:15.900 45B8] | 18200 64% k:17.700, :17.400, :15400
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2868 X 7K:13.400, +:9,500 900, 8900
2895 900
L2894 | 900
741 1:13.800 200
743 +:13.800 200
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755 13200 | 38%
757 45E 8 6900 68  F7900
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R CHE)=XR (B | RECHE) % 600, +:11300, H:8,900 000, £:11,200
200 A58 | 11100 63% ;
600 F:14,300, H:11.100 45E 8 14400 53% £:15.100, :14.200. F:11,000
900, %:15,000 F:13800. B:11,100 458 | 12900 67% A:14.200, $:14500, F:13.700. H:11,000
500, %:14,500, F:13,800, B:11,100 12,900 57% A:13600, £:13.900, F:13.700, H:11,000
14500, £:13600. H:A1.000 | 4587 T 10000 © 67%
3,900, +:12,000, B:11,100 45ER] 12200 60%
2,800, £:12,000, B:11,100 B[ | 9000 | 70%
2,600, F:11,700, B:11,100 4568 11,100 63%
4,500, F:11,300, B:11,700 12700 | 58%
4,800, %:15,000, F:10.900, H:12.400 B 10000 67%
4,800, %:15.000. F:10,900, B:13,500 4 13600 55%
4,800, %:15,300, F:10.900, H:13,500 13600 55%
5,000, &:15.400, +:10900, H:13.500 A5 R | 13600 65% 3,500, :14,900, %:15.200, £:10,800, H:13.400
5,500, %:15,900, +:11,300, H:14.000 45E 8 14100 | 54%  H:14.000, A:15.400, %:15.700, +:11,200, H:13900
GRS 3600, 1:11.100, H:9,000 45181 11900 61% 100, %:13.100, F:11.000. H:8.800
4,100, 3:11,100, F:9.200 4568 10000 67% +:11000. H:9,000
2,300, B:10,300 A5ER] | 14100 54% 5,400, F:12,200, B:9.800
2,300, 6:10,300 4,500, F:12.200, 5:9.800
0300 :12.100, H:9.800
2,000, H:10,600 112900, F:11,900, H:10.100
1,500, H:10,600 110,100
1,700, %:12,300 F:11.300, B:11,100 11,200, A:11.200, %:11.800, F:11,100, H:10,600
1700, %:12.300. F:10.900, B:11,600 200, :11.200, %:11.800. :10800. H:11,500
1,700, %:12,300, F:10.900, B:11,600 000, B:11,500
1700, %:12,300. F:10.900, B:11,600 A58 | 11600 62% 200, :11.200, %:11,800, :10,
1,400, H:14,300 45E 8 12300 | 59% %:13,300, +:10,800, H:14,200
1400, H:14300 A5B 8 | 14500 62% 000, £:11,000, H:14.200
0900, H:13,800 13900 54% 000, +:10.800. H:13,700
0900, H:13.800 45B 8 | 10000 67% 000, :
(AE) =Xk (B&) |"RR@E) %[ _J
[CuL225 500
[JL229 512,100, 10800, H:11,900
KB (BI7E) 58 [_JL220 45HRL 7.000 8
[CuL224 — B 9200 70%
228 100, £:1000 ] 9000 | 70%  %:11600. F9,50
R TF) L501 | 700, +:21300, B:16.900 [ 45881 | 10000 _ 77% %! 120,400
503 <:20,600, £:21,600, £:25000, H:19.000 11,000 75% 100
505 §:20,300, 21,400, £:24,200, +:26800. H:19.700 45E8] | 19300 56% 600, 223600, 23,200, H:19.100
507 1:20,300, :21,400, £:23.000, +:26,600, H:19.700 B[ 19300 | 56%  H:20( 900, %:22.400, +:25.100. H:19,100
509 500, +:25,500, H:19,300 20300 54%  %:19.700, K:19.700, £:23,500, +:24.700, H:18,800
:20,800, £:24,000, £:25,100, H:19.300 19200 56% %:23.400, +:24.700, B:18,800
£:21,900, +:23,000, H:20,000 | 45887 18800  57% 200, H:19.300
721,000, +:21.400. H:20,000 45B 8 | 18800 67% 900, 8:19.300
900, +:20,600, H:20900 18300 58% 800, H:20,400
721,900, F:20,600. H:20,900 12000 | 73% %21, 400
>:21900, F:20600, H:20,900 [ 25887 | 11500  74% & :20.400
[JL52 721900, +:20,600. H:20,900 B[ 11000 | 75% 400
[uL525 >:23,100, +:20600, F:21,700 Bf 10500 | 76% % 221200
[uL527 (20,900, 7K:20,900. :26,500, B:23,100 10000 77% 400
[JL529 >:25,300, +:20,100, H:23.100 B 9500 78% % 00
531 722,100, +:18.700. B:19,000 SEE | 9000 | 79% £:1.200. F:8,000, H:18.300
fFLOR (37 F %) %_JL500 | 200, +:25200, B:19,100 10000 _ 77%
[uL502 300, +:26,500, H:20.700
[CJL504 >:25,200, F:25.700, H:20.700
[JL506 000, +:23,000, H:21.200
[uLs08 800, +:21900, H:21,300 —
722,800, +:21.900. B:21,300 0,600
19,600, 7K:19,600, #:23.700, 21,400, B:22.200 223,100 21000, H:21,500
100, 7K:20,100, %:26,800. 21,800, B:24.700 5,000, F:21,200, B:23.900
:20,100, 7K:20,100, £:26,100, +:21800. H:25,300 25400, +:21,200, H:24.600
[ 300, +:20900, H:25.100 45B 8] | 19800 65% 4,000
[CuL520 27,200, +:20900, H:25,800 4568 19800 55% 2 225200
[JL522 X:20,800, 7K:20,800. £:27.200_ F 21,900, H:25.800 4 20900 624 6,400, F:21,200, B:25.200
[CuL524 :20,000, 7K:20,000, £:26.900, +:20900. H:25,500 4568 20100 54% 25900, H:24,900
[JL526 000, 7K:20,000, £:24,800, +:20900. H:24.200 458 | 20100
[JL528 | >:23,400, +:19.700, H:23.000
530 721,300, +:18.700. B:21,000
F (39E) [ _JL303 | >118.900, +:21,300
[JL305 400, +:22,000
[uL307 524,600, %:26,200F 23,700, H:19,600
[JL309 26,000, £:26,200. F:23.700, B:19,600
200, +:23,700, H:19.600
726,200, +:24,300. B:20,100 45B 8 | 23100
21,500, £:26000, $:23400, B:19800 | 45HAT | 20300  58% A
00, +:21,500, H:20300 45B 8] | 18200 62%
100, F:20,300, H:20,800 [ 45887 18200  62% 2
(iLs2i | 3,100 £20300. B:21000 [ 45HAT [ 16000 | 674
[uL323 600, +:20,300, H:21,700 45ER] | 19700 59%
[CJL325 600, +:20,300, H:21.700 SEE 19700 | 59%
[uL327 600, +:20,600, H:23,700
[JL329 100, F:20,000, H:24,000
[uL3st | 529,100, +:19.900, H:24,000
[uL33s 800, +:19.900, H:25,000
335 800, +:19.900, H:25,000
wmEs | JL300 | 600, +:20,800, H:18.200
[uL302 >:22,600, +:21,000, H:18.200
[uL304 722,600, +:21,000. B:18.200
[JL306 | 600, +:21,000, H:18.200
[JL308 500, +:22,700, H:19.100
>:24,100, 21,400, H:20.300
600, +:20,300, H:20300
>:23,600, +:20,300, H:20,800
£:24.000. £21000. B:22900 [ 45HAI | 18200 6%
[ 600, +:21,700, H:24.200 45E 8 19500 59%
[CuL320 726,600, +:20800. B:24.200 A5B R | 19500 59%
[uL322 523,200, %:26,300 F 21,100, H:25.300 458 14000 71%
(L34 | 700, $:27.900, £:20800, H26300 [ 45HET | 21800 554
[JL326 523,700, %:27.900, F:21,100, H:25.300 458 | 21800 55%
[uL328 726,700, +:19.300, B:24.300 45B 8] | 20800 67%
[uL330 700, F:19,300, 8:24,300 458 13000 73%
[JL332 600, +:18,000, H:22.400 13000 73%
(HE)=9# (BF) | 7mAE) F[_JLoo1 | 000, £:26,000, +:25,600, H:19,500 [ 45881 | 12000  77% _ +:24.10(
[JLo03 000, %:27,100, £:27,500 458 | 20300 62% 3,000, %:26,000, £:26,500, B:19,400
[JL905 100, F:27,500 4568 21300 60% 3,000, #:26,000, F:26.500, H:19,400
[JLeo7 00, £:27,500 45B 8] | 21300 60% 3,000, %:26,000, £:26,500, H:19.400
[JL909 27,100 F:27.000, H:22.200 458 | 21200 60% A:21.700, £:26.000, F:25900. H:20.300
700, %:24.200. F 24,700, B:21,300 458 | 20200 62% 1,100, H:20.300
900, H:17,600 +16.800, H:16,600
300 5200, H:14.500
700
[ %:14,500 2,000
[CuL923 300 H:19.600 g
[JLo25 600, H:20,600 5:13,000, F:11.100
%0 (AR ER) % [_JLo00 | 400, +:18.400, B:16,600
[JLo02 100
[JL904 112,300, 300, H:12,300
[JLo06 45B8] | 12500 76% 413,000, +:13,000, H:13,000
[CuLo08 17,200 620,100 45E8T | 12500 76% 13,000, £:13,000, H:13,000
700, +:23,300. H:25000 458 | 20700 6% 3,700, F:22.200, H:24.000
400, F:23,300, 8:25000 20700 61% %:25400, +:22.200. H:24,000
100, +:23,300, H:25000 5400, F:22.200, H:24.000
24,700, H:26,000 3,700, H:24.900
[ 724,700, H:26000 3,700, H:24,900
[uL920 300, H:24000 0000, H:22,100
922 100 6.600
RBR (B2 =4LIR (3 F i) | KBR (B e [ L2001 | £:22,700, £:27,200, £:27,200, H:17,200 1,600, %:26,000, £:26,000, H:17.100
[JL2005 700, £:22.300, +:22.300. H:19.800 200, %:19.200, £:19.200, H:17.400
(L2009 500, H:17,500 116,500, H:16,500
2019 800, H:19.800
FLIR (37 F ) 5_JL2000 500, £:20,300, +:20.300, H:16.200
[JL2006 800 20800
[UL2010 400, F:22,500, 825,600 2,300 F 20,800, H:25500
[JL2016 400, +:23,500, B:26.700 3,300, F:21,800, H:26,600
KB (%) =4LIR (37 F i) | KR (BAE) & [ JL2501 900, $:23,900, H:17.000 #:22.900, +:22.900, H:16,000
2505 800, H:12,800 29700, F 8,500, H:10.900
(FLIE (37 F2%) H_JL2504 0.700, +:11.900, H:11,600
2506 600, H:23.400 9,100, F:17,500, H:22.400
RIR (B2F) =048 GRER) | KBR (F27%) % [ JL2081 700, £:19,700, H:20,200 9,600, +:19.600, H:19,100
2087
40 GBRER) 3¢ | JL2084 8
[JL2088 300, H:26.100 000 | 71% _ %:17.900. F:18,600, B:19.300
TRRI=FLIR (B F 2 [T 3513 500, 6:23500 500 72% 218200, +:21,900, B:21,700
3515 £:22600 1,000 | 83%  %:15.900, F:20,900, B:15.900
LR (3T F ) 3510 £:17,300, H:22,600 1,000 83%  #:15900, +:15900, H:20,900
[JLas12 50 8500 | 72%  %:18.200, +:21.700. H:21.900
g FOR (FE) % [_JL565 221,500, £:21,600, H:18,200 9,600 2%
[uL567 722,600, 21,600, B:19.100 18800 65%  %:21800, F:21,000. H:18,600
[JL569 700, +:21,300, H:22,500 11,000 79%
@A | _JL562 K 11,000 9%
[uLs64 >119,300, 1:19,300, H:21,300 B 18400 _ 66% %:18.800, F.18,800, H:20,100
566 000, +:18.200, H:20500 45B8] | 9600 | 82%
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3/5-11
EFITABALE—)L) FB/IIBEALE—)
=G| (23 - T=H
% T %
R CRE) =8Il W (Fm) % [ JLs51 | 800, +:20,600, B:18500 81%  +:11,000
[JL553 900, +:22.900, H:19.200 66%  £:20.200, F:21.900. H:18,400
[CuL555 20,700, +:18,000, H:20000 79%
[JL557 i1 (:18,300, £:21,500, H:20000 66% /917400, J:17.400, %:21,100, B:19,000
MBI | JL552 19,700, 1:19,500 i B 65%  £:19,100, F:18.500
[uLs54 717,900, H:19.400 79%
[JL556 >:20200, F:17.300 F:19.800 B 68%  2:19600. 16,800, H:19.200
558 718,500, F:15.900. B:18.200 5EH 81% H:17.100
R CHE) =3I R CHE) % >:24.200, :25.100 81%
21,500, %:24,600. F:26.700, B:19,700 62% 720500, %:23.500, F:20.200, B:18,700
519,100, +:19,100, H:20,800
sz 2:19800, +:19800, 18000 |
520,500, 21,300, H:19.700
719,300, +:18.300. B:22,100
R (FE) =%k ESAE:ES 20,300, £:22,400, B:16,200
[uL575 719,500, F:19.300, B:19,500
[CuL577 >19,500, +:19,300, H:19,500
579 300, £:18,700, H:24.200
FLEFE [ JL570 >:21,300, +:22,200, B:18,300
[uL572 720,100, +:17,600. B:19,700
[CuL574 >:20800, F:17,600, H:20,500
576 720,100, +:16.700. B:20,700
TR CRE) =B F () [ _JL5es | >21,100, +22800. @:18300 122,500
[JL587 723,500, +:21,800. B:19,800 17300 58%  £:23.000. +:18.700. H:19,100
[JL589 400, +:18,800. H:20800 B | 10600  74%
WAER | JLbs4 721500, 21,900, H:20,000 45EI||U 10600 74%
[CuLs86 >:18,300, 1:17,100, H:22,100 000, 16,800, H:20600
588 721,500, +:19.200, B:23.400 300
R CHE)=H R CHE) % 500, :13500, B:11.200 500, H:10.200
900, £:14.900, H:14900
0
800, H:16.800
HERE 000, F:15,900, H:15,000
900, +:15.900, H:15.900
900, 15,900, B:15.900 600, 15,800, F:15,800, H:15,800
800, B:16.400 15800 60% 100, 416,700, B:16.300
800, H:16,400 15800 | 60% 12,100, %:16.700. H:16,300
200, H:15.000 10000 75% 10,200, B:14.600
R (HE ESAEE:ES 000, A:16,000, H:10,700 11,400, H:10.200
000, 7:16,000, H:10,700 300, 7K:15,300, 7:15,300, B:10;
11,900 +:11,900 400, %:11.400. +:11,400
900, %:11.900 300
800 500, F:16,500
800 500, £:16.,500
16,800 F:10,700 300, %:16,500, F:10200
800, 1:10.700 500, £:10.200, B:11,400
TR CHE)=RE R (PE) %
; 7,400, £:11.600, B:11,600
500, H:12,500 3500, £:11.600, B:11,600
100, +:12500, H:12.500
EEES 500, H:12,500
500, B:12500 12800 61%  %:13.600, F:11.600. H:11,600
500, H:12,500 2581 15500 | 53% %:17,000, F:11,600, H:11,600
R CHE) =17 R CHE) % 00, B:8,300 300, H:7.300
200, +:10200. H:10800 200, £:9.200_ H:9.800
23 800, H:10,300 800, H:9.300
300, %:10.800_ F 8,700, H:9.700 700, H:8.700
R CHE) =/ R CHE) % 300, B:8,300 0,000
1 800, H:8.300 0500, H:8,000
0! 500, H:8000
288 800 £:8,300. 58,300 9700 67% 000, 58,000
288 800 300, H:8,300 000 734
288 900 E . 5:8,300 7000 | 77% | %:8000
INAFE 28EH] | 9900 0 45EE] | 7000 7%
288 800 £:8.300. 4588 | 8000 | 73%
285 900 300, B8 s:xco 9800 | 67% 8000, H:8,000
288 900 £:8,300. H:10300 9800 | 67% 48,000, B:10,000
288 900 110,900, 1:8,300, H:10800 800, F:8000, B:10,500
288 800 9,900, 7:9.900. £:10900, F:8,300, H:10.800 00
R CHE) % 288 400 44 K:22,600, %:23,100, $:23,600, H:22,600 100, %:20,600, £:21,100, H:20,100
288 600 49% 00, +:22,600, H:21.600 45EI||U 11,000 71%  +:20.100
288 400 684
FRERR 288 ,200 66% _
285 800 46% | 821600, +:21,600, H:22,600
288 400 44% 0,600, F:20,100, H:21,100
R CHE) =R R (AE) % 288 300 67% 14,300, H:13600 | 3,200, B:13,100
288 300 67% A 3,600, H:13.500 100, 7K:12.100. A:12,000
288 100 | 65% 3,700, B:13,700 000, 12,200, H:12.900
288 000 | 62%  F:15.100, A:14,800, :14, 4800 A5E R | 13500 66% 00
286 800 68% 13200, %:13,200, F:12,700, H:11.7 45E 8 12500 | 69%
3 288 100 70%  3:12,000. A:12.200, %:12.200, 2300 B.11,700 A5ER] | 11000 72%
[Culz3a | 288 300 62% A:15200, %:15,200 +: 48 900 65% 000, F:13,300, B:13600
236 | 288 300 67% 100 70% 12, 00
240 | 28H 900 63% 900 | 65% 000, £:10,000, H:100
247 | 288 800 60% ; 300 62% 600, H:13,600
RRHE)-BE | RRCHE) % | Ji253 | 268 600 67% 3300, 13,700, 1 700 765 A1 £11600, k11600 FA1800 |
[[JL2s5 | 288 600 64% 300, A:14,700, %:14,800, +:14,800. 600 69% 2,800, %:12,800, £:14, 4
[CuLz57 | 288 300 55% 200, £:18,400, £ 200 75% £:18,000, 7K:18,000.
[[JL259 | 288 300 57% 400, :17,400, % 4,000
261 | 28H 600 4% 100, A:14,300, % 4,900 E14.900 £:14,000, K:14,000_ A:13,500
[[JL263 | 288 800 66% 600, A:13,500, %:14,100. % 4500 B:14.100 1,700, %:11.900, 113200 §:13.400
[Jizes | 288 000 | 634 800, £:15300, 3.5 14,400, F:12.400, H:12,400
267 | 288 100 65% 000, :13,700, %:14400, % zsoo 512,500 3,500, 7K:13,500, 7&13200
252 | 288 900 66% 800, £:14,100, £ 4.3 :
254 | 288 300 60% oo B.15.100
L256 | 288 200 | 65% 3500 | 1
258 | 288 800 66% 4,000, H:13.900 12,400, %:13.100, 113000 §:13.300
260 | 28H 700 66% 4,700, B:14500 (11,800, 7K:11,800. A:11,600
262 | 288 900 58% . 5,700, :16,300, £:14,
264 | 28H 500 57% 5,100 16,700, £:17.400, F:14.00
266 | 288 600 57%  F:17,500. A:17.400, &:18; 5,100, B:15.100
291 | 288 600 63%  +:18.200, H:16,200
203 | 288 900 60% _ %:18,500. F:18,300. H:18,500
1295 | 28H 300 60% 218,500, %:17,200, H:20900
[JL207 | 288 300 60% _ £:18,500. F:17.200, H:20,900
WwosHE [_JL290 288 800 58% 19,700, +:19,200, B:17,700
[[JL202 | 288 800 58%  £:19,700, F:19.200, B:17,700
[CuLz0a | 288 300 60% 219,500, +:18,500, H:20800
206 | 288 700 63%  £:21,200. F:16.200, H:20,500
R CHE)=HE R (PE) % 277 | 288 900 53% 600, £:18,000, +:18.200, H:18200
[CuL279 | 288 100 47% 800, %:20,300. F:20800. B:19,500
[CuLz83 | 288 700 53% 400, %:18,000, +:17,900, H:17,900 g
[(JL2s5 | 288 300 57% 700, :16,500, %:17.000. F:16,600, H:17,000 :10,000, B: mooo
287 | 288 300 49% 7K:19.600, A:19,200, %:19,500, F:17,600 118,500
HESR 276 | 288 300 65% 4,500, H:14.500 :10,500
[CuLz78 | 288 400 49% 919,800, 7K:19.900, 719,300, +:20,000, H:17900 :18,500 17,900, £:18,400, H:15,100
[CJL280 | 288 800 53% _ A:17.400. %:18,000, +:18,000, H:18,000 11,000, H:11,000
[uL2sa | o288 200 7% 000, %:20,500, F:20,000, H:20900 +12,000, H:12,000
286 | 288 300 49%  £:19,700. F:18,500, B:19,900 — 8.700
R (FE) -5 R (AE) % 453 288 700 60% §:15,400, A:15,600, £:15900, % 3:1 £13,600, :13,000
[[JL4ss | 288 700 60% _ f3:15400. A:15,600, £:15,900, £:13.900, | 4,100, F:10,500, B:10,500
[CuLass | 288 200 64% | J3:13400, A:14,000, %:16,200. ;t-_ 112,900, A:12,600
[[JLdei | 288 500 60% 600, 15,200, %:16.200. 13900 | 0,500
[CuLa6s | 288 900 59% 000, :15,600, £:16,600, T Rl 114,800 F:10,500, H:10,500
465 | 288 900 50% 000, :15,600, £:16.900, +:13.900. B.1 1 3,900, A:13,200
ERE [ 452 288 200 714,400, £:14,900 ;t 3.1 3l K:12,900, 7:12,600
[[JL4sa | 288 200 . 14,000, %:14500, F:13.61 3,300, +:10,500, B:10,500
[CuLase | 288 200 14,000, %:14,500 ;t-_ :13,000, :12,600
[CJL60 | 288 200 . A:14,000, %:14500. F:13,600, ¢
[Cutace | 288 200 4000, 14500, 13600,
4 | 288 200 100, :14,000, %:14500, %:13.9(
R CHE) =B R (PE) % 5 | 288 100 :14,700, £:16.300, F
7 | 288 800 55% 700, :17,500, %:18.500. F:18,000, B:1
9 | 288 400 664 600, 7K:14,600, £:14.200, &
[CJLdsi | 288 500 63% 100, :14,200, %:15.200, B:13.
[Cutass | 88 500 _6an 3,400, 714,200, %:15.200, B
485 | 288 100 50% 1,900, :15,700, £:17.500, £:14;
487 | 28H 100 | 51% 900. M
IR 474 | 28H 300 61% 600, A:15,000, £:16.300, :16.3
476 | 288 100 | 59% 300, 7K:16,300, :16,600. - _5500 16,200 H13,500
478 | 288 600 63% 500, A:14,200, %:16,500, £:15, 1 o
[Cutaso | 288 600 __6an 2500, 414200, 16500, £ 51
[(JL4s2 | 288 000 59% 900, :15.700, %:17.500. F:16.200, B:1 12, ooo\ 7K:12.000, A:11,700
[CuLasa | 288 000 524 700, :18,500, £:19.600 ;t-_ 1 2581 18000 54% K:17.600, 418,600, +:16,500. H:17,500
486 | 288 300 | 53% 200, A:17.900, :19.000, £:15 4588 | 17700 | 65% H:17.100, :17.400, %:18.200. F:15400. H:17,000
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TRFEBIBALt—))EERBAS~11BERS)
BEBAA :2023/01/06 ~
R B4 ERITAG L)) FEMTBGALE—I)
% ER %
R CHE R (PE) % 491 288 16,500, +:16.400, H:15.100 9,700 +10,600, X:11,000, 7K:11,000, #:10,700
[[JL4es | 288 172 5.500 45E|nu 11,000 0,600, A:10,700, %:11,500, +:11,300, H:10500
[CuLass | o288 16,100, +:15,600, H:14.200 9,600 900, X:12.600 7K:12.600. £:12.300
[CuLde7 | 288 17,000, +:15000. H:15.800 10,500 eoo 7)< 10500 & 10900 +:10.800
[JL4g9 | 288 19,200, +:15,500, H:17.900 10
BARIFE | JL4%0 | o28H 137 4,900 700 7&10900 ﬁusoo 111700 8:11,200
[CuLas2 | o288 14,900, £:16,100, :15.900 :10.700, 7K:10,700.
[CuLdoa | 288 14,900, %:15800, %:15.200 A5 R X 500 :10400, %:11.100. 111200 §:10,600
[CuL4se | o288 17.700 ;t-_|531m H:16500 2581 9700 | 77% 500, 10,600, 7K:10,600, K105
498 | 28H 15 A5ER] | 10500 75% 700, £:10,600
R CHE) =#al R (AE) % 431 288 15800 i 16.900. F:16.500 45 B A 13,800 67% 200, 7K:15,200, %:15,000, %:16,200, £:15,900
[[JL4ss | 288 19,700, +:19,500, H:15.800 5EH 700, 2K:18.200, 7K:18.200, A:17.600
[JL4ss | 88 16,300, 2:16,800, 1:16,300 900, £:10900, +:13.200. H:12.800
[CuL4s7 | 288 17,000, +:16.200, H:15.300 A5BR] | 11500 73% 00, :9,600, H:9,600
[uL4so | o288 18,700, +:17,700, H:19.200 45EHE 17200 59%  5:16.800 A:17.000, :17.900, H18.800
[JLass | 288 20,200, +:18.200 9600 77% 200, :X:18.900, 7K:18.900, :18,300
LS | JL4so | o8l 19,700, +:19,000. H:14.200 100, J:16,800, 7K:16,800, :17,000
[[JL4s2 | 288 18,700, +:18,100, H:14.200 700, :16,800, %:17.600, +:17.400. H:13,800
[uL4sa | 88 17,000, +:16,200, H:15,300 100, %:12.100. F:14.400, H:14,600
[[JL4se | 288 17,500, :16400, H:17.300 900, %:10,000, +:10,000, H:10,000
[CuL4ss | 288 18,900. ;t-_ 16,200, H:18,100 200, X:17.500, 7K:17,500, £:17.200
4 288 18,700, +:16,000, H:17.000 458 | 16900 60% 100, A:16.500, %:17,400, +:15,100, H:16400
R CAE) =AM ESAEE:ES 288 00
288
288 +16,000
288 000, B 15000
AT 288
288 600 3 000, B:17.400
285 600 63% 15,900 H.21.000 400, +:14.900_H:19.900
288 400 68% 400 +:13.200. H:16.400 000, F:11,000, H:14,000
R CHE) =K% R (PE) % 1 288 800 60% 800, +:20500, B:17,000 900, +:18.200, H:15,000
[JLe63 | 288 800 58% 19,000, A:22,400, :24.400, £:22.900. H:18.000 800, K:19.800, £:21.900. 20300, H:16,300
[CJL6es | 288 800 60% 418,000, A:18,900, £:20,800 ;t-_zazau 617,900 300, +:18.300. H:16,700
[CuLe67 | 288 900 50% 000, 7K:18,800, £:20,800, +:20200, H:18.600
[CuLe6s | 288 300 50% 800, 7:19.400, %:21,300, F:19.900, H:20.200
671 | 288 400 58% 18,900, 7K:18,900, £:21.300, +:19.900, H:20200 uoo 814000
KN | JL662 288 100 61% 900, #:20,600, +:21,300, B:17,900
[CJLeea | o288 100 61%  j3:18.900. £:20,600, £:21,300, H:17.900 400 £:18500, H:15400
[CuLe6s | 288 800 60% A
670 | 288 800 | 60% F:18.900, X:18,000, $:19.000, £:19.900. H:19300 ]
672 | 288 700 56% 3:21.200, K:19,900, £:24,000, +:21700. H:23.000
674 | 288 800 60% 000, 7K:18,000, £:20.900, +:19.800. H:20800
RE(FE)=-R§ FR(CHM)%|_JL605 | 288 300 66% §:18,100, £:20,300, +:21,000, B:17,100 1 5
[CuLeo7 | 288 800 57%  A:22500. %:25,500, £:24,400, H:20500 700, %:23.900, £:22.400, H:18,700
[CuLeos | 288 800 63% 000, %:20,400, F:19,400, H:18,500 200, +:18,300, H:17.400
611 | 288 800 63% 000, %:20,400, +:19400. H:18.500 200, £:18.300, H:17.400
613 | 288 800 63% F:19.300, %:21,700. %:19,000, H:21800 16,000
[JL6i5 | 288 800 63%  3:19,300. :21.700, £:19,000, H:21.800
RE% | JL606 | 288 800 63% 000, %:20,700, %:21,700, H:17.800
[JLe0s | 288 800 63% _ 7K:18,000. £:20,700, £:21,700, B:17.800
610 | 28H 800 63% 220800, +:20,300, H:22,400
612 | 288 400 54% 800, 7:22,500, £:25400_ F 22,700, B:22.800 600, £:20,100. H:20600
614 | 288 400 54% | :23800, A:22,500, 25400, +:22,700, H:22800 600, +:20,100. H:20,600
616 | 288 000 65%  £:22,500. F:19.800, H:22,100 500, B:19.100
R (FE) =X R (AE) % 623 288 300 66% K:17,100, £:18,500, +:20,300, H:15,300
288 200 64% _ A:18,000. %:19,400, :21,300, H:16.200 400, B:14.800
288 800 59% 000, %:20,400, F:22,300, H:18800 900, H:16,300
288 000 62% 400, +:20,400, B:17,.800 900, 8:16.100
285 000 | 62% %:19.400, +:20400, B:17,800 000
288 800 61% 18,000, £:20,300, F:19,800, H:19.300 300, £:16,500, H:17.400
288 800 61% 18,000, £:20,300. %:19,800, H:19,300 300, F:16,500, H:17.400
288 200 58% 800, %:23,700. F:20,300, B:22.200 000
285 800 200, F:22,200, B:17.800 000
288 800 4:20.200, +:21,000, H:18.300 700, K:17,000, £:18,300, :18,300. H:16,000
288 800 200, F:21,000, B:18.300 700, 17,000, %:18,300, +:18.300, B:16,000
288 800 000, 7:18,000, £:20,300 F:19.800, B:19.300 400
288 800 18,000, 18,000, £:19,500, +:19,800, H:21300 300, F:17,400, H:18,300
288 800 k18,000, 7:18,000. £:19.500. F:19.800, H:21,300 300, £:17.400, H:18.300
288 600 63% | X:17.100, 7K:17,100, :22,200. ;t-_ 18,900, H:20,400 200, 7K:15,400, %:20,200, F:16.200, B:18,000
288 600 63% 100, 7K:17,100, %:21,300. F:18.90 ; 200, 7K:15.400, $:20.300, :16.200. H:17.800
R CHE) =28 FR (3@ 5 [_JL68T 288 000 67% 800, :16,800, £:17.800, +:18.900 800, +:17.300
689 | 288 800 65% 800, +:19.300, H:16.000 00, +:17.000
691 | 28H 800 65% 900, F:19.400, 8:17.300 000, F:17.400, H:15600
[[JL693 | 288 000 67% 800, %:19,100, :19.400. B.1 500
[Cuteos | 288 000 67% | /:17,300, 16,800, %:17,800 ;t-_naau H:19.300 600 %:16.100, F:16,100, H:17.400
[JLee7 | 288 800 65%  £:19,800. F:17.800, H:19,300 000, B:17.400
B | JL68s | 28H 800 65% 900, +:20300 000
[CJL6g0 | 288 800 65% 000, %:18,100, £:16,100, H:16000 300, £:16,500, H:14900
[Cuteo2 | 288 000 | 67% 16,800, %:17,600, +:17.800, H:16,500 600
[CJL6oa | 288 800 65% 16,000, 7K:16,000, %:17.800, :17,.800. H:18.300 00, %:16,100, F:16.100. H:16,500
[CuLess | 288 800 65% | X:16,000, 7K:16,000. £:19,400, F:17,800, B:20,300 200, +:16,100, H:18,300
[JL69s | 288 800 65% 300, +:17,.800, H:17.800
FE)-ERS ESAEE:ES 300 70% K:17,500, £:20,400, +:22,400, H:14,300
300 | 64% _ A:18.400. :21.400, 24,700, B:17.300
300 66% 400, %:23,300, 1:25,200, H:16.300
200 | 68% 400, %:21,400, +:20400. H:19.300
200 68%  F:18.400, %:21,400, 1:20,400, H:19,300
200 68%  3:19,300. £:22,100, £:17,300, H:20.300 L E
200 68% | :20300, £:22,100. %:19.400, H:21200 800, 8,700, %:8,700. H:9.100
200 68%  3:20300. £:22,100, £:19,400, H:20.300 700, £:7 uou, 5:9.100
ERER 300 70% 21,300, +:21,300, H:14,300 600, £:8,10
300 66% _ £:21400. F:23.200, B:16,300 500, X:9 100 9,200, %:12,000, £:9.200
200 68% 221,400, +:22,400, H:15200 500, X:9,100, £:9.200, %:12,000. :szoo
200 68%  £:17,300. F:17.300, B:16,400 8500 12000, B:9600 |
200 68% 20300, %:21,300, 1:17,300, H22,100 13,700, A:11,600, #:12.600. H16500 |
300 66% 321,200, :22,100, £:18,300, H:23,600 700, A:11,600, £:12.600, H:16,500
300 66% 221,300, +:18,300, H:21,600 0,600, 8,600, £:9.600, H:13,500
200 68%  £:20200. F:17.300, H:21,300 600, :7.600, £:7.600, B:11,500
KR () =BaAR [ KBR (5 & 300 62% K:20.400, £:21,700, +:21,700, B:19.200 1,500, £:11,500, H:11,500
BES 200 60% _ A:22.400. F:22,500, H:23,800 1,500, £:11,500, H:11,500
B E (D) =40 (F F & [B A E () 200 65%  £:21,100, +:22.200 1,000, +:21,600
400 70% 3,900, £:13,900, B:13900 2,800, F:12,800, B:12.800
200 73% 2,800, :12,800, H:12,800 500
fFLIR (37 F %) 400 70% $:13900, +:13,900, H:13.900
600 62% A:19.000, %:18,300, F:18,500, H:20300 700, %:17.700, F:17.700, H:18.900
500 64% 000, %:18,300, +:18,500, H:20400 200, £:18.400, H:20.300
R CHE)=RE R CHE) % 100 | 37% 700, B:48,700 000, +:18,000
700 40% 300, H:46,300 uoo +.16.000
RIER 800 400, B:45400 B
100 £:48,700, H:48.700 K .uoo‘ :18,000
AR GFFR) =ZBA LR GFR) 000 900, £:8,900 :8.300, 18,300
800 £:8.900. H8,900 8,300, H:8.300
800 900, B ¢ 8 900
ESEEES .900 N 800, £:8.900. H:8.900
800 213900 :t s 900, B:8.900

AR () =8IER IR (EH) %

000, +:8.900, H:8,900
400

400, H:13.400

100
9,500, H:19.100

2900, B:12.900
3.19.000

[ 400 50% 900, £:7.900, H:19,000
oEE [ 100 28% 9,000, +:19,000, H:19,000
400 50% 500, 7:19.100, 119, |oo £:19.100 900, :19.000, %:19.000. F:19,000
400 | 50% | 5:0,500, A:19.100, £:19, ¢ 19,000, %:19.000
100 28% 500, 7K:13400, +: 9‘500‘ B.:13.400 900, 7K:12.900, +:8.900. H:12,900
AR (EH=RR ALAR (3 % 800 900, E1:6.900
800 900, H:6.900
AR (B3 =B HLIR (E3) 5 000 +:13,800, H:13,800 200, H:13.200
000 +:13,800, H:13,800 200, B:13.200
000 +:13,800, H:13,800 200, 6:13.200
000 +:13,800, H:13.800 200, 8:13.200
800 | 35%
800 35%  H:18000
900 | 58%
EER 900 58%
000 E.13.800
000 B:13,800
000 513,800
000 B:13,800
000
000 3:13.800
AR (B3 R EAGESE 700 56%  +:15600, H:15,600
= 700 | 56% _ +:15600. B:15,600 45EE 11700 60% | $:9.500. £:0.500. Bl 9500
R (EH=-%ER  [R(EHR 800 900, H:8900 45Elﬂ| 13,200 54% | £:6,900, H:6,900
[ 800 £:8.900._H8,900 6900 | 76%  +:8.300. B:8.300
KEAE | 800 513,900, +:8,000, 58900 45Elﬂ 6900 76%  :8300
800 413,900, +:8.900._H 8,900 458 | 6900 76%  %:13.300, £:8300
RRPE)-BE [EZGIEE 100 600, 145,600 45B 8] | 15000  79% 418,000, £:18,000
EHR 100 £:45.600. B :45.600 45181 15,000 79%  H:18,000. H:18,000




[R——%BERALE—IL)EERBA2~4BEESD)
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R % FH — A= —RBEALE—IL)
AR
B gzx
RRCAB)=KR () | RREB) R [_JL 556 .900 7% 900, £:10.
L 55H 800 71% 200, £:10,
L 55H 12.300 50% 00, £
L 558 12,700 58% 00, A:
L 55H 200 60% 200, A:11,
L 550 .900 67% .00, £:12.
L 55H .800 64% 700, £:10.
L 558 900 71% $:0,400, £:1
L 55H 200 66% <:10,400, :
L 55H 800 4 200, £:10.
L 558 900 .900, £:8
L 558 .800 700, £:10.
L 55H .800 .800, £:10.
55H .800 800, £
L 55H 300 59% 00, £
RR(FFHE [ JL 558 ,300 73% 1,400, £:10.
L 550 400 69% 900, £:1
L 55H 12.300 59% 00, £
L 55H 11,800 61% :11,900, .
L 550 9,400 69% 0.200
L 550 11,100 63% 1200, £:10500
L 550 ,900
L 550 200
L 550 200
L 550 400
550 .200
L 550 .700
L 550 300
L 550 800
L 550 900
RRCAE)=KIR (&) | "R CRE) % [_JL221 55H 900
225 | 550 200
L229 55H .900 7 #:10.200, £:10,000
KB (B§F) % [ JL220 558 .900 7 £:7,500, £:7.500
224 | 550 600 7 +8700
55H .900 7 .300, £:9.200
HRE (HE)=4R FFm) | RREEE [ J 558 900 7 100, £:17.900
556 900 75% 00, £:2
55H 100 4T% 00, A:
55H 700 48% 00, A
55H 500 49% 00, K:
55H 200 49% 00, A
550 900 59% 00, +
55H .000 57% 00, A:
550 400 63%
550 900 | 73%
550 400 74%
550 900 75%
550 400 76%
550 .900 77%
550 400 79%
550 ,900 80%
550 900 77%
550 400 76%
550 1900 75%
550 400 74%
550 900 73%
550 400 63%
550 100 54%
558 200 49%  7K:18,800, A:1 NE=]
550 600 48% | 7K:18,800, 7:19,300, F:19,100
55H 100 56% :21,900, £:18.200
550 100 56% | 4:23,000.
550 000 48% 7k:19.400. X
550 700 | 48% | K:18,700, 7:19.200, F:17.100
550 000 52% |7K:18.400, :18,700, F:17.100
550 400 76% _ £:19.500
[J 550 9,900 77%
R (FIE) =48R RRERCAE)%E [_J 55H 9,900 79%
550 900 75%
550 300 68%
550 600 59%
L. 550 400 62%
L. 550 600 59%
L. 550 700 65%
L. 550 500 59%
L. 550 300 70%
L. 550 600 61%
550 100 54%
550 700 55%
550 800 50%
550 600 45%
550 700 46%
550 900 75%
550 1900 75%
550 900 75%
550 900 7%
550 000 58%
550 200 60%
550 900 56%
550 500 66%
550 400 66%
550 600 59%
550 600 59%
550 700 63%
550 800 65%
550 900 | 71%
550 900  6l%
550 900 61%
550 000 50%
550 900 75%
550 1900 75%
RECHE)=48(BR) | RRCABE [_J 55H .900 78%
550 400 3
550 00 3" 1200
550 00 3 200
55H 00 7' K:19.200, £:21.200
550 700 7
550 200 3
550 700 |74
550 300 |77
550 400 78%
550 900 79%
550 .900 1%
AR % [ 55H 900 1%
550 700 80%
550 200 79%
55H 400 77% .900, £:12.900
558 400 7% 12,900, £:12,900
550 800 66% | 4:20900
L 550 300 | 65% 223,
L 55H .300 65% :20.400, £:17.400
L 550 500 63% 400, £:17.400
[ L 55H .500 63% :20.400, £:17.400
[JLe20 [ 558 900 70%
L922 | 558 500 78%

KR (P =4L0% (BT F ) | KBk (FFFH) & [_JL2001 558 700 58% _ 7K:17,800, A:18,500
[JL2005 | 558 900 70% _ £:17.300, £:17.300
[JL2000 | 558 800 74% _ +:15500

L2019 | 558 400 79%
LI (37 F %) %[_JL2000 558 9.400 82%
[JL2006 | 558 400 79%
L2010 | 558 000 66% _ £:20,100, £:18,500
L2016 | 558 200 66% 00
KB (BEFR) =#LO% (37 F#%) | KB (B7w) % | _JL2501 558 900 76% 00
L2505 | 558 400 82% 0
FLIE (B F#%) %[ _JL2504 558 400 82%  £:10,600, £:11.000
L2506 | 558 12,900 76% N 00
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FH A—N=RFEALE—I)
=30] fiE:]

BABR | ame LW [

KR (FFH =48 (BT | XIR(FHSE [ J 558 12,900 71% _ £:22.800, 1:22.800

[V 550 .900 78%
AT R [ 55H 900 78%

55H 900 71% 400, £:18.800

BE=FLIEFHTR) 558 200 74% 500, £:20.900
55H 900 83% 900, £:18.700

FLIR (F &) 558 900 83% 14,900, £:14.900
[J 550 900 70% 700, :17.200. £:17.500
RECHE)=Z@5 RRERCAE)%E [_J 558 500 82%
550 200 68% _ 2:20.300, £:19.100

550 1900 80%

B3 556 1900 80%
550 100 74% 2114700, £:15.100

[J 550 500 82%

R CRE) =Rl RRERCAE)%E [_J 55H 500 81%  +:10,900
550 500 70% _ £:18,500, £:19,000
550 1900 | 79%

550 200 70% _ %:18.900
FIIES 550 600 70% _ £:17,000, £:16.000
550 900 79%
550 800 71% %1600
[J 550 9,500 1%
EEACEE T RRERCAE) % 55H 9,500 81%
550 700 57%  JK:16,800. :17.700, £:20.800
550 900 79%
ElEEES 556 900 79%
550 1900 77% 2114200, £:13,500
550 500 1%
RRCHE)=HIE RRCAE R 556 500 81%  £:16,700, £:16,900
550 200 68% _ 2::17.600, £:16.600
55H .900 78%  %:17.600, £:16.600
550 1900 76%
ETR 556 1900 | 76%  2::12.900, £:12.900
550 200 70% _ 2:18,500, £:16.300

550 900 76%

[J 550 500 1%

B (FIE) =BfE RRERCAE)%E [_J 558 900 69%  £:16,300, 1:16.400
550 200 63% _ 2:17.200, £:17.200
550 500 75%

E3E] 556 500 75%
550 900 59% 2117000, £:15.800
[J 550 900 | 69%

R CHE) =K RRCAE R 556 200 74% 79,900, %:9.900

550 100 72%
550 100 72% [ £:10200
550 200 74%
550 400 76%
550 ,900 78%
EE3 55H ,900 78%
550 400 76%
550 11,100 72%
550 11,100 72%
550 11,100 72%
55H .900 75%  7k:10.200, £:9.100

HR(HH) RR(FE) % 55H 000 74% [7K:0,400, £:9.400

550 000 74%

550 000 74%

55H 400 79%  7K:9,900

550 300 7

55H .300 7 7:9,400

55H 000 7: #:14.100, £:9,500

55H 100 6 7K:10.000, %:9,400, £:9.500

R CFIE)=E RRECHE) % 558 8,900 7
550 15000 55% 215700, £:11.00
550 11,500 65%  £:12.200
550 9,400 72%

HER 55H 10,900 67%
550 11,500 65% 213,100
550 14000 | 58%  %:15.700. £:11.500
550 ,900

EAEEETA RRECHE) % 55H 300

550 200

ITZ3 55H 700
550 400

R CHE) =M RRECHE) % L 558 900
L 550 10.700

L 550 600

L 550 600

L 550 1900

L 550 .900

IMLFE L 55H .900

L 550 900

L 550 700

L 550 500

L 550 500

L 550 1900

AR (FH)-mEEE | RRCAER L: 55H 700
L: 550 900

L: 550 ,900

mREER L. 550 400
L: 550 900

L: 550 12.400

RR CRE) =R RRCAEF [_JL 558 12,500
L: 550 600

L: 550 10,900

L: 550 13,100

L: 550 8,900

[ENTES L: 55H 10,900
L: 550 13,300

L: 550 10.700

L: 550 9,900

L: 550 14,900

B (FE)=ES RRERCAE)E [_J 55H .600
550 12,700
550 10,100
550 15,600
550 100
550 400
550 700
550 100

LEE% 558 900
550 100

550 100

550 200

550 100

550 100

550 .000

550 100

BR(FHE)=LOFH | RRCAB R 55H 700
550 400

550 600

[J 550 100

WO [ J 558 600
550 600

550 400

550 500

B (CHE)=HE RRECHE) % 558 400
550 600
550 ,900
550 900
550 700

HER 55H 400
550 800
550 ,900
550 900
550 800

JAL
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=p s ﬁigm — A==k BEALE—IL)
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R (HHE) -8 R R [ J 558 9,300 76% _ 7K:12.600. 7:12.200
550 13100 67% sK:12,600, :12.200, £:10,000
55H 9,400 76% K1 00
550 9,600 76% i
550 13400 66% 1800, £:10000
550 ,900 77%
e 55H ,900 77% K
550 12400 68% 00, 00, £:10,000
550 400 76% 00,
550 600 76%  +:10.000
55H .800 70% 700, £:10.000
558 800 70% 400, £:9.
EEAEETN RR(HE) % 558 500 73% $:10,000,
550 400 58%  7K:16.000, :15,600, £:15.700
558 500 73% 000, £:10,000
55H .200 71% <:10,900, £:11.700
558 9,800 75% 200, 7:10.900
550 800 60% 100, 12,700, E:11.300
550 700 55% 00, A:16.700. £:12.300
B 558 500 73% 000, £:10.000
55H 100 61% .900, A:13.500, £:14.000
550 500 73% _ +:11.900
550 500 73% | £:12.100
55H 800 75% 00, A:11.600
550 800 55% 100, :16.700, £:13.400
550 000 57% 6.700. :16.400. £:12.400
ESACE RRCAE R 558 000 76% 600, +£:9.600
550 000 76%
55H 400 75%  4:9,500, £:9.500
550 000 76%
55H 000 76%  £:9,000, £:9.000
A 550 000 76% _ +:10.200
55H 000 76% £:9,000, £:9.000
550 000 76%
55H 000 76% $:9,600, £:9.600
550 000 76% |
R (HE) =2l RR(HE) % 558 800 65% :12,600, A:12.800, 1:14.300
55H .900 74 5,500, A:15.800
55H 500 75" 0.400, £:12.300
55H 100 74 500, £:9.500
550 500 100, :14,600, £:14900
L443 55H 500 600, A:16.100
O | JLa30 556 500
[JLa32 | 558 16,500
[JLasa | 558 11,700
[JLa36 | 558 900 76% _ JK:10
[JLass | 558 900 74% 100, A:15,600
L440 550 300 61% | 7K:15.200, A:14,700, £:13,100
RRCRE)=ILAM RR(HE) % L37: 558 500 66%
L37: 550 500 68%
L37 550 900 7%
L37 550 900 7%
FEAMFE L37 55H 900 75%
L37: 550 700 67%
L37 550 700 67%
L37: 550 900 | 75%
B (HE)=X5 RRECHE) % L661 55H 200 70% .000
63 | 558 400 67% 000, :14,600, £:15.300
55H .500 71% 900, :14.400
550 900 | 72%
55H .500 71% .900, :14.800
550 900 | 72%
K535 55H 900 72% 00
550 500 71 200
550 000 7 800
550 000 7 800
55H 000 6 100, £:14.300
550 200 7
B (FH) =R RRERCAE)%E [_J 558 700 7
550 500 69%
550 200 74%
550 200 74%
550 900 75%
550 900 75%
RIGZ 55H 900 75%
550 600 71
550 900 |73
550 000 |67
550 000 |67
550 600 |75
R () =X RRERCAE)%E [_J 558 8,900 81!
550 100 |73
550 900 | 67"
550 700 71
550 900 |73
550 300 72%
550 300 72%
550 900 73% X
33 55H 900 73% | £:14900
55H .200 7: 2:14.400, 1:14.700
55H 400 7: :14.600, £:15.100
550 900 7
550 900 7 900, 7:13.200, £:13.100
550 900 7 900, :13.200, £:13,100
550 300 7 .000
550 300 7 1000
HR(HH) =B85 REREBE [ J 558 300 7 400, A:12,500, £:13,500
550 300 74% | £:13400
550 300 7 i
550 900 | 75%
550 300 74% | A:12.500
550 1900 | 75% [ €:13,900
BT 556 900 75%  £:14,000
55H 400 74% _ #:12.500, £:12.500
550 900 | 75%
55H 600 70° 2,000, #:12.700, £:12.300
550 300 74 3,900
550 300 74 3400
RER(FH)-ER. RR(HE) % L 558 700 87" 600, 1:9.600
L¢ 558 400 81 ,600. 7:7.900, £:8.700
L 550 11,600 77" :8,600, :8.500, %:9,600
L 550 100 82%
L 550 100 82%
L 550 200 82%
[J 550 600 83%
L655 | 558 1900 84%
EREHE L 55H .900 86%
L 550 .000 82%
L644 | 558 400 83%
L 550 900 82%
[ L 550 11600 77%
650 | 550 11,600 77%
2 | 550 600 83%
4| 550 600 85%
R () =BfE AR (R % [ JL2123 55H 400 80%
AR (2124 | 558 400 80%
B B (A =ALIR (37 F R |8 & 2 (P ) F_JL: 556 .900 67%
| 550 400 79%
L: 550 ,900 82%
FLIE (TR L 556 400 81%
L: 550 400 68%
55H .900 76%  %:16.700, £:16.700
R (HE)=RE RR CRE) % | JLo7 556 900 | 80%  €:17.900, £:17.900
L97 550 900 | 83%  £:15900, £:15900
EE L97: 550 900 8%
L97. 550 900 80%
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HEEFFR) =K@ [HLIREFFTR) L 558 10,600 3% £:7.800
L2 550 10,200 4% +:7.800
L2 550 400
ESCEIES L 558 10,600 7,800
L2 550 400 10,200
L2718 | 558 600 7,800
ALIR (B 2) =HIER FLIR (EE3R) 5 [ JL2861 558 900 14 12,200
[JL2863 | 558 900 44 12,200
[JL2865 | 558 200
[ JL2869 [ 558 200 800, £:7.800
fzEsE [ JL2860 | 558 7.800 1,900, 1+:14.900
[JL2862 | 558 900 44 200
[JL2864 | 558 200 900, 214,900
12868 | 558 900 44 200, 1:8,200
ALIR () =BfE FLIR(E3) % [ JL27: 55H 700 100
L2 550 700 7 100
L2 550 700 7 100
L2 550 700 7 100
L2 550 100 38%
L2 550 100 38%
L2 556 6,800 68%  T:7800
B3 L2 556 6800 68%
L2 550 700 7
2744 | 558 700 7
L2 550 700 7
L2 550 700 7
L2 550 700 7
L2 550 700 7
LR (B =% @5 R(ER R 55H 200 4% | £:6.800
556 800 6% +:7.800
TEpE [ J 558 800 76%  +:7.800
[J 558 .800 76% _ £:10,200, £:7,800
HER(HHE)=-Ed BER@ER)E[ J 556 14,900 79%  £:17.900, £:17.900
BEE L936 558 14,900 79%

JAL



[R—N—%FGAERALE—IL)BEXRGBAS~1THEES)

EEEMA : 2023/01/06 ~
3/5-11
& % 8 _ A=R=RBEALE—L)
AR
PR i s
R PE)=AR(FH | RRCHE) R [ JL 550 7% 900, £:10,400
L 55H 67% 200, £:10,700. H:9.100
L 550 58%
L 550
L 550
L 550
L 550
L 550
L 550 66%
L 550
L 550
L 550
L 550
550
L 550 59%
KB (P L 558 73%
L 550 67%
L 550 59%
L 550 61%
L 550 69%
L 550 63%
L 550 71%
L 550 66%
L 550 66%
L 550 69%
550 66%
L 550 65%
L 550 58%
L 550 60%
L 550 67%
RECHE)=XR (&) | RRCAB) % [_JL221 55H 1%
225 | 550 ¥ 66% 9
1229 | 558 ,900 7 1,300, £:10,000, B:11.300
KRR (B§7E) % [_JL220 558 900 7 500, £:7,500, H:7.500
[JL22a | 558 600 7 £:8;
228 | 550 ,900 7 1300, £:9,200. B:11,100
BRCHE) =R EFHFTR) | RRAEE [ J 55H 900 7 00
550 900 75%
550 400 58%
550 400 58%
550 400 56%
550 300 58% 00, +£:23.100. B:17.300
550 900 59% 00
55H 900 50% 00, %:19,500, £:20,000, H:18.400
550 400 63% 00, B:1
550 900 | 73%
550 400 74%
556 900 75% 00
550 400 76%
550 .900 77%
550 400 79% 0
550 ,900 80% 900, H:17,400
550 900 77%
550 400 76%
550 1900 75%
550 400 74%
550 900 73%
550 400 63%
L 550 300 6% kil 22.300, £:19.800. H:20.700
Lt 55H .200 56% ] 23,100, £:20,000, 0
L 550 300 56% Al 23,600, £:20,000, H:21.700
550 100 56% 22 22400
550 100 56% 22 22400
550 000 54% ki 24,600, N 0
550 200 56% K 25,000, F:18,000, H:22.400
550 700 57% |k 23,100, £:18,000, H:21.300
550 400 76%
[J 550 .900 77%
R (FIE) =48R RRERCAE)%E [_J 55H 900 79%
550 900 75%
550 600 57%
550 400 55%
550 500 57%
550 200 56%
550 600 1
550 200 4
550 200 4
550 ,900
550 ,600
550 ,600
550 ,900
550 .800
550 800 7
550 900 5%
550 1900 75%
550 900 75%
550 900 7%
550 400 57%
550 000 58%
550 400 55%
550 500 64%
550 200 64%
550 200 64%
550 200 64%
550 300 62%
550 300 62%
550 900 | 71%
550 600 57%
550 600 57%
550 800 59%
550 900 73%
550 900 73%
RECHE)=48&(BH) | RRCABE [_J 55H .900 78% 00
550 200 62% 00, %
550 500 61% 600, £:23.900, H:17.400
550 500 61% ,600. +:23.900. H:17.400
55H .700 65% 00, £:23,600, £:22.900, H:17.900
550 700 67% 800, H:17.900
550 200 73% 500, H:15.400
550 700 74% 800, H:14.100
550 300 77% 700
550 400 78% 00
55H .900 79% 900, £:11.400
550 .900 1% 900, £:11,000
AR % [ 55H 900 1%
550 700 80%
550 200 79% 00, £
55H 400 77% ,900, £
55H 400 77% 00, .
55H .300 65% 00, £
L 55H .300 65% 100, £
L 55H .300 65% :23,100, £
L 55H 500 61% 500, £:19.
55H 500 61% 500, £:19,
[JLe20 [ 558 300 67% .400
L922 | 558 900 76% 300
KR (FFH =4L0% (BT F ) | KB (FFFH) & [_JL2001 558 500 66% 00, £
[[JL2005 [ 558 000 68% 00, F:
[JL2000 | 558 800 74% 500, B
L2019 | 558 400 79%
LI (37 F %) %[_JL2000 558 9.400 82%
L2006 | 558 11400 79% H:18500
L2010 | 558 18,000 66% 220,100, £:18500, H:23,100
L2016 | 558 19,000 | 65% 221,100, £:19.500, H:24200
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R (BI78) =FLOR (B F %) | KB (BI#E) & [ JL2501 558 12,900 76%  £:19.300, £:20.400, H:13.800
12505 558 .400 82% [£.9.600, £:8.400. H:10.800
FLI% (3 T ) % _JL2504 | 558 .400 82%  £:10,600, £:11,000, B:1
L2506 558 12,900 76%  £:17.400, £:15.900, H:20.40(
KR (FFH =8 (BF) | KMk (FFH) 5 [ JL2081 558 12,900 71%  £:19.500, £:19,500, H:17.000
550 .900 78%
AT R [ 55H 900 78%
55H 900 7 400, £:18,500, B:1
BE=FLIEFHTR) 558 500 7! 00, B:1
550 900 8 00, B:1
FLIR (FF ) 558 900 8 00, H:1
[J 550 500 7 00, H:2
RECHE)=Z@5 RRERCAE)%E [_J 558 9,500 82%
550 200 68% | 420,300, £:19.100, H:17.700
550 900 80%
B3 556 1900 80%
550 900 68% | 2:17.900, £:17,600, H:17,200
[J 550 500 82%
R CRE) =Rl RRERCAE)%E [_J 55H 500 81%  +:10,900
550 500 70% | 4:19,000, F:19,000, H:16,200
550 1900 79%
55H .200 70%  H:15,000, X:15,000, £:20,300, H:16.300
JENIES 55H .600 70%  £:17.000, £:16.000
550 1900 79%
550 500 70% | 4:18,500, £:14,800, H:18,300
[J 556 500 81% _ H:15.600
EEACEE T RRECHE) % 55H 500 81%
55H .800 67% _ A:17,700, #:21,700, +:19,300, H:16.100
550 900 79%
ElEEES 556 1900 79%
550 100 70% | 4:17.400, £:17.400, H:16.100
550 500 8%
B (CHE) =R RRECHE) % 55H 500 81% &1
550 200 68% &
550 900 | 78% &
550 900 76% A
HILRFE 556 900 | 76% &
550 200 70% &
550 900 | 76% H:18,
[J 550 500 81%  H:18,
B (FIE) =BfE RRERCAE)%E [_J 558 .900 69% &1
550 200 63% &2
550 500 75%
B3 55H 500 5%
55H .900 59%  $:17.000, £:15.800, H:19.300
[J 55H 900 600
R CHE) =K RRCAEE [ _JL 558 .900 200, H:9,100
L 550 11,100 .200
L 550 11,100 200, H:14,300
L 550 200 £:11,900, H:15.100
L 550 400
L 550 ,900
EE3 L 55H ,900 X
L 550 400 400
L144 550 11,100 500, H:11,900
L 550 11,100 .900, H:12.500
L 550 11,100
L 550 900 75% 100, H:10,200
R CHE)= RRCAEE [_JL 556 400 76% 0,000, H:9.500
L 550 000 ___74% 500
L 550 000 74% 4,100
L 550 400 79% 2,100
L 550 300 74% |
L 55H 400 76% 10,300, £:10.300
L 55H 000 74% 4,100, £:9,500
L 55H 400 76% :14,100, £:9,500, H:10,000
HR (HH)=-HE RR(FE) % L 558 900 73% ,600
L 550 500 53% 00, £:11,500. B:11,500
L 550 11,500 65% 00
L 550 9,400 72%
HER L 55H 10,900 67%
L 550 11,500 65% 213100
L 550 14000 | 58% 215700, £:11500, H:11500
L 550 ,900
RRCHE) =1L RRCAEE [_JL 558 ,300 800, H1:6.800
L17 55H .200 700, £:8,700, H:9,300
ITZ3 L17: 55H 700 E:
L17 55H 400
R CHE) =M RRECHE) % L 558 900
L 550 10.700
L 550 600
L 550 600
L 550 1900 7,500, H:7,500
L 550 .900 7,900
AR L 550 ,900
L 550 900 7.500, H:7,500
L 550 700 7.500, H:7.500
L 550 700 7.500, H:9.500
L 55H 700 10,700, %7500, H:10,000
L 550 1900 7.500, H:10,000
HR(PH)-AEAE | RR(PER L 558 400 17,700, £:18,200, £:18.700, H:17.700
L: 550 .900 17.700
L 558 ,900 10.400
ARREER L: 558 400
L: 550 900
L: 550 12.400
R () =R RR(HE) % L 558 10,700
L: 550 600
L: 550 10,900 800
L: 550 13,100 400, H:13,000
L: 55H 8,900 300
[ENTES L: 55H 10,900
L: 550 13,300
L: 550 10,400 500, H:10,800
L: 550 9,900
L: 550 14,700 200, H:13.400
B (HE)=LES RRERCAE)%E [_J 55H 600 700
550 12,500 000, H:13.400
550 10,100 800
550 15,500 800, H:13,800
550 100
550 400 400 H:1
550 500
550 100
L% 558 .900
550 500
550 9,100
550 100
550 100
550 400
550 600
550 700
BR(FE)=LOFH | RRCAB R 558 700
550 300 31
550 700 £ 16,600, H:18,300
55H 100 600, :16.700
WO [ J 558 .600 100
550 600
550 900 400, H:10,400
550 ,000 500, H:17.600
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3/5-11
=p s ﬁigm _ A= R—FBEALE—IL)
WEE
B (CHE)=HE RRECHE) % 55H 200
550 600
550 ,000
550 900
550 700
HER 55H 400
550 400
550 100
550 700
550 800
B (HE) =8 RRERCAE)%E [_J 558 300
550 12,600 100, £:10,000, H:10,000
55H 400 700, :10.500
550 600
55H 12,100 3:1 400, £:10,000, H
558 ,900 77% 300, 100, 7K:12.100, 7:11.800
ERRE 558 900 7% 0,700, A:11,000
550 11400 71%
550 9,400 76%
550 9,600 76%
550 800 70%
550 800 70%
EEAEETN RR(HE) % 558 500 73%
550 000 59%
550 500 73%
550 200 71%
550 9,800 75%
550 100 67%
550 100 59%
BINRE 558 500 73%
550 900 65%
550 500 73%
550 500 73%
550 9,800 75%
550 100 56%
550 700 |57
R (HE) ESHEE 556 000 7 600 "F.:9.600. H:9.600
550 000 7
55H 400 7 H:10.200. 9,500, £:9.500, H:9,500
550 000 7
55H 000 7 9,000, £:9.000, H:9,000
A 550 000 76% _ +:10.200. H:9,800
55H 000 7 19,000, £:9.000, H:9,000
550 000 7
55H 000 7 19,600, £:9.600, H:9,600
550 000 7
R (HE) =2l RR(HE) % 558 400 7. 2,600, 7K:12.600, 7k:12,800, %:14,800, 114,300
550 900 7
550 400 7
550 100 7 500, H:9,500
[J 550 100 6 6500, 114900 H:17.400
L443 | 558 500 7
PAIIES [ JLa30 558 500 77
[JLa32 | 558 100 62%
[JLasa | 558 800 72%
[JLa36 | 558 400 75%
[ JLass 55H 900 74% 6.100, K:16.100, Z:15.600
L440 55H .200 64% 4,700, %:16.300, £:13.100, H:15.700
RRCRE) =AM RR(HE) % L37: 558 500 66%
L37: 550 500 68%
L37 550 900 7% 900, H15900
L37 550 900 7% ,900, H:15.900
FEAMFE L37 55H 900 75% 00
L37: 550 700 67% X 1
L37 550 700 67% 500, £ 8.900
L37! 55H .900 75% 00, £
HR(HHE)=K5 BER(FE) R L661 556 100 68% 100, £
63 55H 100 68% 00, &:
55H 800 68% 00, 7k:
550 900 | 72% 00
550 800 68% 00, 7K:14.700. %:16.600. £:15.300, H:1
550 900 | 72% ,900, H:13.900
K535 55H 900 72% ,900
550 400 69% 700, £:16,800, H:13.700
550 900 | 72% 00 __
55H 100 70% 800, £:15.300, £:15.300, 400
55H .000 66% 100, %:
558 100 70% 300, £:1
HR(HH)=R& REREEFE [ J 558 300 74% 13,500, &:
55H 700 69% 15.900, -
558 100 72% 300, £:1
55H 100 72% 00, &:
550 900 75% 00, B
550 900 75% 00, B
RIGZ% 55H 900 75% 00
550 900 | 77% ,900, &
55H 10 72% 00, & .
550 .70 69% 00, 7K 200, B:17.100
550 .70 69% 00, K- 200, H:17.100
55H 10 72% .200, £ 3:1
R CHE)=fEA RRCAE) % | J 550 8,900 1% 900, £:11.900
550 200 70% 100, £:17.100, H:13.300
55H 100 69% 00, &:
55H 100 71% .500, £
550 900 | 73% 500, 1
55H 200 70% 500, &
55H 200 70% 500, F:
550 900 7% ,900, H:15
A 550 900 7% ,900
550 300 70% 100, 7K:14.100, £:15.700, £:16.400, H:13.700
550 600 00, K12, N 0, H:13,900
550 900
550 100
550 100
550 200
550 200
B (FH)=8% RRERCAE)%E [_J 55H 400
550 300
550 300
550 900
550 300
550 900
ECES 55H 900
550 400
550 900
550 300
550 300
550 300
RECHE)=ER RRECHE) % L 55H .600
L 550 900
L 550 500
L 550 100
L 550 100
L 550 100
550 600
550 400
EREH L 55H .900
L 550 100
L644 | 558 100
L 550 900
550 11,600
550 11,600
550 8.600
550 7.600
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[R—IS—E£BARALtE—IV) BERBAS~1TBEED)

EEEMA : 2023/01/06 ~
T A—N=RFEALE—IL)
B B2 | mamm =
WEE %
RIR () =BtE xn&(ii’ﬂ)% 12123 | 558 400 1,400, £:11,400. H:11.400
EHAER L2124 | 558 400 L
B B (P AR =ALIR (37 F R |8 & 2 (P &) F_JL: 558 .900 000, £:19.200
L 55H 400 300, £:12.300. H:12.300
L 550 ,900 400
HLIE (TR L 558 400
L: 55H 400 00
55H .900 700, £:16.700, H:18.900
B (FE)=R1E RRECHE) % L97 55H 900
L97 550 900
EE L97 550 900
7. 550 900 X
LREFFR)=-Z@BH  [fLIRFHTR) [ 55H 600 £:7,800, H:7.800
L2 550 .600 £:7.800. £:7.800
L2 550 400 7,800
ESCEIES [ 55H 10,600 +:7.800, B:7.800
L2 550 400 210,600
L2718 | 5580 .600 +:7,800, H:7.800
ALIR () =8R8 FLIR (E3R) % [_JL2861 558 900 14 2,200, H:7,800
[JL2863 | 550 900 14 2,200, H:12,200
[[JL2865 | 550 200 4,900
[ JL2869 [ 558 200 ,800, £.7.800, H:14.900
fzEsE [ JL2860 | 558 7.800 4,900, £ 900
[[JL2g62 [ 558 200 ,200, R
[[JL2g86d [ 558 200 ,200, R
L2868 | 5581 900 44 200, 7K
ALIR () =BfE FLIR(E3R) % [ JL27: 55H 700 100,
L2 556 700 100,
L2 556 700 100,
L2 556 700 100,
L2 556 100
L2 556 100 17.700
L2 550 6.800 7,800
EEER L2 558 6,800 1:7.800
L2 556 700 100
L2744 | 558 700 100
L2 556 700 100
L2 556 700 100
L2 556 700
L2 556 700 13,100
LR (BB =% @5 R(ER R 55H 1,100 1 .800, H:6.800
550 6,800 6% +:7.800. H:7.800
ESCEIES 558 6,800 76% 17,800
[J 558 6.800 76% _ £:11,100, £:7,800
HER(HHE)-Ed BER@ER)E[ J 556 14,900 79%  £:17,900, £:17.900
BERE L936 556 14,900 79% 17,900, H:17.900
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EEEMA : 2023/01/06 ~
3/12-16
R B ﬁigm — A= —RBEALE—I)
BRER gx s
RECHE)=XR(F/) | RRCAE) % L 55H 7.000 7%
L 55H 9,900 67%
L 55H 700 58%
L 55H 200 63% 700, H:10,300
L 55H 200 63% 200, H:10,300
L 550 000 | 67% ¥
L 55H 200 63% _ A:11,700, B:10.300
L 550 9,000 70% _ H:10.200
L 55H 200 66%
L 55H 700
L 550 000
L 55H .900
L 55H 1900
550 1900
L 55H 400 59%
RR(FFHE [ JL 558 ,300 73%
L 550 10,000 | 67%
L 55H 12400 5%
L 55H 11,900 61%
L 550 9,500 69%
L 55H 11,100 63%
L 550 000 70%
L 55H 200 66%
L 55H 200 66%
L 550 500 69%
550 200 66%
L 55H 700 65%
L 55H 700 58%
L 55H 200 60%
L 550 000 67%
RECHE)=XR (&) | RRCAB) % [_JL221 55H 000 70%
550 200 66%
550 000 70%
PNACEE I 55H 000 7%
550 600 72%
550 000 70%
BRCHE) =R EFHFTR) | RRAEE [ J 55H 000 7%
550 000 75%
550 400 56%
550 400 56%
550 800 55%
550 500 56%
550 100 56%
550 700 57%
550 200 61%
550 000 7%
550 500 74%
550 000 75%
550 500 76%
550 000 77%
550 500 78%
550 000 79%
550 000 77%
550 500 76%
550 000 75%
550 500 74%
550 000 7%
550 200 6l%
L 556 700 60%
L 556 700 55%
L 556 700 55%
550 200 54%
550 200 54% X
550 400 53% | 9:20000. &:21.200,
550 600 55% 200, A:20.400.
550 400 56%
550 500 76%
[J 550 000 77%
R (FIE) =48R RRERCAE)%E [_J 55H 000 79%
550 000 75%
550 600 57%
550 400 55%
550 500 57%
550 200 56%
550 600 1
550 200 4
550 200 4
550 000
550 600
550 ,600
550 ,900
550 .800
550 .800 7
550 000 5%
550 000 75%
550 000 75%
550 000 7%
550 400 57%
550 000 58%
550 400 55%
550 500 64%
550 200 64%
550 200 64%
550 200 64%
550 300 62%
550 300 62%
550 000 7%
550 600 57%
550 600 57%
550 800 59%
550 000 7%
550 000 7%
RECHE)=48&(BH) | RRCABE [_J 55H 000 7%
550 200 62%
550 500 61%
550 500 61%
550 700 65%
L 55H 700 67%
L 55H 200 73%
L 55H 700 74%
L 55H 300 77%
550 500 78%
550 000 79%
550 000 81%
AR % [ 55H 000 81%
550 800 80%
550 300 79% 300
550 500 76% ,000
550 500 76% ,000
550 300 65% 300
L 556 300 65% 300
L 556 300 65% 300
L 556 500 61% 100
550 500 61% 00
[JL920 | 550 000 | 66%  A:17.300. H:20400
L922 | 558 900 76% | B:15.300
AR (D =ALIE G F#) | KIR (B % [_JL2001 558 500 66%  A:19,300, H:14,700
[[JL2005 | 550 000 | 68%  k:15.900, H:14900
[(JL2009 | 550 800 74% | B:15.500
2019 | 5580 500 79%
4LI% (37 F#) F[_JL2000 [ 55H 9,500 82%
L2006 | 558 11,500 79%  H:18.500
12010 | 5580 18000 66%  H:23.100
L2016 | 5580 19.000 | 65% | H:24.200
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3/12-16
) F4 ﬁigm ] EBEGALE—IL)
WEE %
R (BI78) =FLOR (B F %) | KB (BI#E) & [ JL2501 55H 13,000
L2505 | 558 9,500
FLIR (T ) 3| _JL2504 | 55H 9,500
L2506 | 558 000
KR (FFH =8 (BF) | KMk (FFH) 5 [ JL2081 55H ,000
[J 550 000
R R [ 556 000
550 ,000
BE=FLIEFHTR) 558 500
550 1000
FLIR (F &) 55H .000
[J 550 500
RECHE)=Z@5 RRERCAE)%E [_J 558 9,600
550 800
550 1000
ESTES 558 .000
550 900 68% 16,400, H:17.200
[J 550 600 82%
R CRE) =Rl RRERCAE)%E [_J 55H 600 81%
550 500 70% _ H:16.200
550 000 79%
550 000 71% [ K:15.200, A:15.200. H:16.300
JEIES 558 600 70%
550 000 | 79%
550 800 67%  7:15,600, H:18.300
[J 556 9,600 81% _ [:16.200
EEACEE T RRECHE) % 55H 9,600 81%
550 500 66% | F:16.800, A:18.700. H:16.100
550 000 78%
ElEEES 556 000 78%
550 800 69%  7:15,100, H:16.100
550 600 1%
B (CHE) =R RRECHE) % 55H 600 81%
550 200 68% _ H:17.600
550 000 78%
556 000 76%  H:19.700
HILFE 558 ,000 76% _ H:16.200
550 200 70% | B:18,200
556 000 76% _ H:18.700
[J 556 600 81% _ [:18,900
B (FIE) =BfE RRERCAE)%E [_J 558 .000 69%
550 200 61%  7:15,200, H:18,000
550 600 74%
E3E] 55H 600 74%
550 000 59%
[J 550 000 69%
B (FE)=H RRECHE) % 55H 000 75%
550 100 72%
550 100 72%
550 200 74%
550 500 76%
550 000 77%
EHRE 556 000 7%
550 500 76%
550 100 72%  H:11900
550 100 72% 12500
550 100 72%
55H 000 75% _ H:10200
B (FE) RRECAE) % 55H 500 76%
550 000 74% _ H:9.500
550 000 74% _ H:14.100
55H 500 78% _ A:14.100
550 300 74%
550 500 76%
550 000 74%
55H 500 76% _ ©:10,000
R CHE)=-HE RRCAE R 556 000 73%  H:8,600
550 500 53% 11500
550 11500 65%
550 9,500 71%
HER 558 11,000 67%
550 11500 65%
550 14000 58%
550 000 73%
RRCHE) =1L RRCAE R 558 ,300 68%
550 200 65%
ITZ3 55H 700 67%
Li7 550 500 68%
R CHE) =M RRECHE) % L 55H .000 73%
L 550 700 64%
L 550 600 68%
L 550 600 68%
L 550 ,000 73
L 550 000 7
INASE L 556 000 7"
L 550 ,000 3 7,500
L 550 700 7 7,500
L 550 700 7 500
L 550 700 7 0,000
L 550 ,000 3 0,000
RRCHE)-AiEE | RRFRSE L 556 12,400 68% 7700, H:17.700
L: 550 11000 71%
L: 550 9,000 77%
mREER L: 550 9,500 75%
L: 550 000 7%
L: 550 400 68%
RR CRE) =R RRCAEE [ JL 558 700 73
L: 550 600 |73
L: 550 900 |73
L: 550 100 | 67"
L: 550 000 | 70°
[ENTES L: 55H .900 73
L: 550 300 | 67"
L: 550 400 |74
L: 550 600 66%
L: 550 700 63%
B (HE)=LES RRERCAE)%E [_J 558 500 72%
550 500 69%
550 000 61%
550 600 62%
550 200 68%
550 400 72%
550 500 67%
550 500 69%
LEE% 558 .900 1%
550 500 64%
550 2500 69%
550 2100 70%
550 700 7%
550 400 65%
550 600 62%
550 700 61%
RRCAB)=LOFH | RR@EEDR 558 1,900 67% 14,800, A:14.500, H:14.400
550 300 62% _
550 700 6l% 600, H:18.300
[J 550 600 61% :16,600, H:10.200
WO [ J 558 .600 63% 200
550 600 63% 700
550 900 65% . H:10,500
550 000 67% 600
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[R—N—%BERALE—IV)EER(BR12~16BEFS)

EEEMA : 2023/01/06 ~
a_/éz—we
FH A—N=RFEALE—I)
B B8 | mamm Corz
BB wmm
HR(HH)-HE RR(HE) % 558 200 60% :15,000, H:10
550 600 51% 200, 811
558 .000 61% :14.300, H
558 ,000 66%  7:12,400, 7
550 700 53%  B:16.700, B:17.
HES 558 400 70% 500
558 400 57%  A:16,100, A&
55H 100 60% 00, B
558 700 51% 400, H:12,
550 800 53% 700, H
R (HH) -8 R [ J 558 600 68% 00, K
558 600 68% 00, K:
558 700 73% .000, A:1
550 600 76% 00
558 100 69% 00, A:
558 100 69% . K.
BEE 558 700 7. el
558 400 7 ES
550 400 7 ES
550 9,600 7
550 800 7
550 800 7
EACEE=TA RRECHE) % 558 500 7
550 000 59%
550 500 73%
550 200 71%
550 200 71%
550 100 67%
550 100 59%
BINRE 558 500 73% 00
550 900 | 65% | A:13,000, :13,500, H:11,200
550 500 73% 300
550 500 73% 400
55H .900 70% 3:11,000, A:11.600, H:9.900
550 100 56% ,000, :16.700, H:16.700
550 700 57" .000, :16.400, H:16.500
HR(HH) RR(FHE) % 558 000 7 700
550 000 7
55H 400 7 H:10.200. H:9,600
550 000 7
550 000 7 H9,100
B 558 000 7 H:9,800
550 000 7 H.9,100
550 000 7
550 000 7 H9.700
550 000 7
R (HE) =2l RR(HE) % 558 400 7. 2,600, 7K:12.600, 7k:12.800
558 .500 6 3:14,500, A:15.800, H:11,000
550 400 75% 0,500, H:12.100
550 100 74% 600
[J 550 100 64% ,900, A:14.600. H:17.400
L443 | 558 600 61% 1
ENTTE I ) 556 800 65%
[JLa32 | 558 100 62%
[JLasa | 558 800 72%
[JLa36 | 558 400 75%
[JLass | 558 100 62%
L440 550 200 64%
RRCRE) =AM RR(HE) % L37: 558 500 66%
L37: 550 500 68%
L37 550 000 7%
L37 550 000 7%
FEAMFE L37 55H 000 75%
L37: 550 700 67%
L37 550 700 67%
L37: 550 000 75%
HR(HHE)=K5 RR(HE) % L661 558 100 65%
63 | 558 500 67%
550 800 68%
550 000 | 72%
550 300 67%
550 000 72%
RA% 556 ,000 72%
550 300 67%
550 000 | 72%
550 800 68% H:16.200
550 100 65% H:17.800
550 100 68%
HR(HH)=R& REREEFE [ J 558 300 72%
550 900 | 69% | J:15.700, 7:16,000, H:15,500
550 1007 800, 7K:14,800, H:15.800
550 1007 800, 7K:14,800, H:15.800
550 000 7 000
550 000 7 000
RIGS 556 ,000 7
550 000 76% | H:14,000
550 100 70% | K:14,800, 7:14,800, H:16,800
55H .200 6 .800, K:17.200, 7K:16.600, A:15.400
55H .200 6: .800, K:17.200. 7K:16.600, A:15.400
550 100 7 H:17.100
R () =X RRERCAE)%E [_J 558 000 8
550 300 7
550 300 68% | A:15.500, A:15.400. H:15.700
55H 100 69% _ X:14,900, 7K:14,900
550 000 | 73%
55H 500 70% _ F:15.200, 7K:15.000, H:16.700
55H 500 70% _ H:15.200, 7K:15.000, H:16.700
550 000 73% | H:16,000
A 550 000 7%
550 300 68% 14,900, H:15.900
550 500 68% 14,900, 00
550 000 | 73%
550 800 69%
550 800 69%
550 700 69% 4,300, H:17,600
550 700 69% 300, H:17.600
HR(HH) =B85 R [ J 558 000 73%
550 300 72%
550 300 72%
550 000 75%
550 300 72%
550 000 75%
B S 55H 000 75%
550 300 7
550 000 7
550 000 7
550 300 7 00, H:17,000
550 300 7
RECHE)=ER RRECHE) % L 55H .600 8
L 550 900 84
L 550 500 83
L 550 100 82%
L 550 100 82%
L 550 000 82%
550 600 83%
550 500 83%
EREH L 55H 1000 86%
L 550 100 82%
L644 | 558 100 82%
L 550 000 82% B9
550 11,600 77% 2,800, H:13,000
550 11,600 77% 2,800, H:13,000
550 8.600 83% 59800, H:10000
550 7.600 85% A8
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EEEMA : 2023/01/06 ~
a_/éz—we
FH A—N=RFEALE—I)
=30] fiE:]
R (7 =BfE AR (B % [ JL2123 55H 500 79% H:11.500
?@‘Eiﬁ L2124 | 558 500 79% | H:11,500
B B (P AR =ALIR (37 F R |8 & 2 (P &) F_JL: 556 .900 67%
| T 558 500 78%  H:12.300
L: 550 000 82%
FLIR (FTF ) L 55H 500 80%
L: 550 400 68%  H:16.200
556 000 75%  H:18.900
B (FE)=R1E RRECHE) % L97 558 .000 80%
L97: 550 000 8%
EE L97: 550 000 8%
7 550 000 80%
LREFFR)=-Z@BH  [fLIRFHTR) [ 558 600
L2 550 600
L2 550 500
ESCEIES L2 558 10,600
L2 550 500
L2718 | 558 600
ALIR () =8R8 FLIR (E3R) % [_JL2861 558 900 14
[JL2863 | 558 900 7
[JL2865 | 558 200
[JL2869 | 558 200
HipExE [ JL2860 [ 558 7,900 70%
[JL2862 | 558 200 4 14,
[JL2864 | 558 200 4 200, 7:14.900
12868 | 558 900 44 200, 7K:12,200, H:12,200
ALIR () =BfE FLIR(E3R) % [ JL27: 55H 700 7 100
L2 550 700 7 100
L2 550 700 7 100
L2 550 700 7 100
L2 550 100 38%
L2 550 100 38%  H:17.700
L2 550 6,900 68%
E3E3 L2 556 6,900 68% 7800
L2 550 700 7 100
L2744 | 558 700 7 100
L2 550 700 7 00
L2 550 700 7 00
L2 550 700 7
L2 550 700 7% F:13.100
LR (B3 =%@5] LR (EBR) £ [ JL2721 558 1,100 1% | A:12.200. H:6,900
55H 900 6% H:7.800
ESFES 55H .900 76%
[J 550 ,900 76%
AR (FHE)=8d RREERE] J 55H 15,000 79%
BERE L936 558 15,000 79%  H:18.000, H:18,000

JAL



[R—N—%BERALE—IV)EERBR1T~21BEES)

EEEMA : 2023/01/06 ~
3/17 3/18 3/19 3/20 3/21
o) B FH A=/ R BEA L) | A=/ EBEA L) | A=/ —RAEA L) | A=A~ RBEA L) | A~ BB L=
. AR P E

pus-t:f WEE -t :f WEE us-t:f

RECHE)=XR(F/) | RRCAE) % L 8,000 700 400 .000 000
L 800 000 900 .000 800

L 300 400 ,900 .900 ,900

L 700 900 400 .400 400

L 200 700 400 .400 400

L 200 600 400 500 400

L 700 .800 400 .400 400

L 9,500 .700 200 000 500

L 700 .700 200 .200 500

L 200 .400 400 .400 .000

L 200 .900 900 500 300

L 700 .400 200 200 700

L 800 .400 800 800 ,900

L 800 .400 800 800 ,900

L 300 .900 300 300 400
KB (P L ,300 600 700 ,000 ,300
L 10,000 .700 800 .000 500

L 12,700 200 400 500 10,100

L 12,200 .700 900 .000 600

L 500 .700 900 .000 600

L 11,100 .700 900 .000 600

L 000 .900 100 500 600

L 10,500 .200 500 .200 700

L 10,500 .200 800 .200 ,000

L 500 500 500 500 500

L 500 .000 200 .200 500

L 000 500 200 ,200 400

L 000 .900 300 300 400

L 500 .400 800 800 ,900

L 800 000 800 .000 ,900
RECHE)=XR (&) | RRCABE) % [_JL221 .800 11,500 .800 .900 .000
[ JL225 700 11,500 10.200 .300 600
L229 000 10,600 12,000 .000 100
KRR (B§7E) % [_JL220 000 100 900 000 000
[ JL224 200 100 600 900 100
[ JL228 800 500 600 100 300
R CHE) =R FF &) | R CHE) % [_JLs01 100 .500 ,000 000 ,000
[JL503 600 .300 000 ,000 000
[ JL505 800 .300 ,000 ,800 800
[ JL507 500 .300 ,000 .000 300
509 300 .300 100 ,900 900

L 300 .300 300 ,900 ,900

L 400 800 700 700 700

L 300 200 300 900 300

L 700 .200 300 400 300

L 700 .200 300 400 300

[ JLs2 300 400 500 ,000 300
[ JL52: 300 600 ,000 000 300
[ JL525 500 700 500 500 300
[ JL527 400 000 000 1000 800
[ JL529 000 ,000 500 500 300
L531 700 000 000 000 500
FLUR (37 F ) F{_JL500 000 400 000 000 ,000
[ JL502 500 700 000 ,000 000
[ JL504 000 .200 000 000 000
[ JL506 500 .200 700 500 700
[JL508 000 700 100 400 100
L5 900 700 100 400 100

L 000 700 300 300 300

L .000 700 .000 .200 .000

L 500 700 100 .300 100

L 100 300 600 .000 600

[ JL520 100 300 600 .000 600
[ JL522 100 300 600 .000 600
[ JL524 100 600 100 .200 100
[ JL526 600 000 ,000 700 ,000
[ JL528 500 ,000 300 200 300
[ JL530 300 000 100 400 100
HR (FH)=fER BR(F@E) % [_JL303 ,000 ,600 3,000 ,000 2,000
[JL305 900 800 4,200 300 4,400
[JL307 300 100 7,500 500 7,500
L309 400 100 7,500 500 7,500

L: 300 .200 6.600 600 6,600

L: 400 100 7,500 500 7,500

L: 700 600 7,600 100 8,600

L: 400 .000 6.400 700 8,100

L: 200 .000 5500 .200 7,800

L: 500 .000 6.400 100 8,700

L: 600 600 7,500 600 7,800

[ JL325 700 700 6.600 700 7,000
[JL327 400 900 8,800 400 100
[JL329 000 200 8,500 600 100
331 100 300 7,600 700 200

[ JL333 600 200 500 300 100
L335 000 ,000 000 ,000 000
[JL300 000 600 800 000 500
[JL302 900 600 700 500 6.400
[JL304 300 ,000 300 500 7.300
[JL306 7,100 ,000 7,000 500 7.300
L308 100 ,900 7,900 100 800

L: 300 300 400 100 800

L: 400 800 500 1100 ,900

L: 600 600 100 200 800

L: 500 100 100 100 500

L: 600 100 100 100 200

[ JL320 700 200 600 200 400
[ JL322 600 100 8,800 600 800
[ JL324 300 .900 7,800 600 800
[ JL326 300 .900 7.800 600 800
[ JL328 500 600 7,600 400 600
[ JL330 100 500 500 300 500
[ JL332 700 000 500 ,000 600
BER(RE) % [_JLo1 ,000 000 ,000 ,000 ,200
[JL903 400 ,900 600 000 800
[JL905 400 ,900 600 .000 800
[JLoo7 400 ,900 600 ,000 800
909 400 100 200 700 800

L 100 000 200 800 800

L 000 1000 100 200 500

L 900 .000 500 700 000

L 000 300 300 300 .700

L92 600 .900 .900 .900 300
[ JLo2: 700 600 600 1900 100
[ JL925 700 500 500 500 800
% (ARER) % [__JL900 .000 500 000 800 ,200
[JL902 800 800 600 ,600 900
[JL904 300 600 600 300 300
[ JL906 900 100 100 ,800 500
L908 900 100 000 800 ,000

9 400 200 500 300 100

L 7,900 200 500 300 7,100

L 7,900 ,200 500 300 8,900

L 100 ,200 300 500 8,900
[ L 100 200 300 500 7,100
[ JL920 800 400 .700 ,000 5,800
L922 000 200 400 300 8,100
KB (FFH) =#L0% (B F#%) | KB (FFH) % | _JL2001 400 900 7,800 000 5,400
[JL2005 100 900 000 500 7.200
[(JL2007 .700 900 000 500 7.200
["JL2009 800 .000 100 800 400
L2019 500 000 000 000 500
FLUR (37 F %) 3¢ _JL2000 500 100 100 700 ,900
[(JL2006 500 ,000 900 400 500
L2010 200 000 000 ,000 800
L2012 200 000 400 ,000 800
L2016 400 600 800 700 800

JAL



[R—N—%BERALE—IV)EERBR1T~21BEES)

EEEMA : 2023/01/06 ~
3/17 3/18 3/19 3/20 3/21
) B FH A=/ R BEA L) | A=/ EBEA L) | A=/ —RAEA L) | A=A~ RBEA L) | A~ BB L=
. AR P E
us-t:f WEE us-t:f WEE us-t:f
KB (FFFH =% (%) | KER(BFFD & [ J 400 .800 100 000 000
400 500 400 400 400
H|OBT R [ J 400 400 400 400 .200
[J 400 000 500 400 400
RR(FE)=%@5 RR(HE) R [ JL ,000 .000 000 .600 300
000 000 000 600 300
000 ,000 000 200 000
B3 000 500 000 000 000
100 100 000 000 000
[J 600 600 000 1000 000
R CRE) =Rl RECHE) % [_JL .500 .600 100 .000 .000
300 600 100 000 100
200 500 ,000 700 200
200 000 000 800 200
JENIES 500 .900 500 000 500
,000 800 ,900 700 500
800 700 ,000 500 600
[J 9,600 000 000 500 500
R CHE) =HIEE RRCAEF [_JL 6.700 500 ,600 400 ,000
L 7.500 500 ,000 ,000 000
L 6.000 .000 700 .000 700
ElEEES L 1,000 ,000 000 000 500
L 200 200 000 700 700
L 600 700 000 ,000 600
R (HE)=HEK R (FE) % [ JL 700 000 000 000 000
L57: 000 ,600 ,000 ,000 ,900
L57 000 500 ,000 ,000 300
L57 300 300 000 900 200
ER3 L57¢ ,000 600 000 000 000
L57; ,900 600 ,000 ,000 ,600
L57: 000 600 ,000 ,000 600
[ 57! 000 ,000 300 300 500
E e e B (FE) % [_JL585 100 900 ,000 ,000 900
[ JL587 600 900 600 .000 900
[ JL589 300 300 000 100 300
RS | _JL584 600 500 200 000 000
[ JL586 700 200 ,900 500 900
[ 588 ,000 ,000 000 200 ,900
R CHE)=H RRCAE)F [_JL1a1 ,000 100 ,000 000 900
L143 900 1900 000 100 100
L145 900 100 ,900 500 200
L147 100 600 ,900 300 600
L 500 9,500 500 500 500
L 000 9,000 000 000 ,000
ERRE L 000 000 ,000 000 9,000
L 500 500 500 500 9,500
L 900 ,200 800 200 600
L 900 600 100 700 200
L 900 900 300 700 900
L 000 900 600 000 100
RRCHE RRCAEE [ JL 500 700 600 9,500 9,500
L 10,700 .700 600 9,600 9,500
L 10,700 .700 12,300 400 14,400
L 500 500 500 500 14,400
L 000 11,000 10,500 .800 11,000
L 000 11,000 10,500 500 500
L 400 9,500 10.200 .500 10.700
L 400 9,500 500 500 10,700
RRCHE)=#H TR (FEF [ JL 9,000 11,400 000 000 000
L 15,000 12,800 11,900 12,000 100
L 11,500 10,900 11,700 11,700 .700
L 9,500 9,500 9,500 9,500 500
HER L 11,000 13,100 11,000 11,000 000
L 11,500 11,500 11,500 12,100 600
L 13,600 11,500 11,500 12,100 600
L 000 000 000 000 300
R CHE) =1L R (FE S [ JL 500 100 600 500 500
Li7 10,100 100 10,100 10,400 10,600
ItZ3 L17: 10.100 600 10,100 10,100 10,100
L17i 500 500 500 500 10,000
R CHE) =M R (FE S [ JL ,000 10,700 200 ,000 500
L 10,700 11,200 500 .000 500
L 700 10,300 200 .000 500
L 10.200 .200 600 .300 900
L 000 500 500 ,000 700
L 000 000 000 000 700
IMRFE L 000 700 000 000 000
L ,000 700 500 ,000 500
L 700 .700 200 .000 700
L 10,500 .200 600 .700 900
L 10,500 .200 600 .700 200
L 000 500 500 ,000 200
HR(PH)-ARAE | RR(PER L: 18,200 700 17,700 ,400 400
L: 17,200 700 16,700 12,400 400
L: 10,400 400 9,000 9,000 400
HIEER L. 9,500 400 9500 9,500 400
L: 11,000 000 7.700 11,000 700
L: 18,200 7 700 17.700 700
EEC R R CAE) % | JL231 10,900 .1 700 15,700 600
L233 700 .7 700 700 700
L237 10,700 .7 700 700 15,700
L: 13,000 7 700 16,300 700
L: 9,000 000 000 000 000
[=TES L: 9,000 000 000 000 000
L: 300 700 17,000 16.7 700
L: 700 700 700 .7 15,700
L: 000 000 18,400 17.7 18,000
L: 900 16,700 18,400 17,71 18,000
R (HE)-LE R (FE) % [_JL2 700 700 700 7 700
[ JL255 12,700 17.700 17,300 .900 18,000
[JL257 10,200 17,600 19,300 .200 10,200
[JL259 15,500 700 700 700 18,800
L261 200 200 200 .200 200
[JL263 800 16,100 700 700 16,700
[ JL265 700 700 ,000 900 700
L267 200 10.200 200 10,200 10,200
LRE% [ JL252 ,100 16,100 200 700 17,000
[JL254 200 10.200 0,200 10,200 10,200
[JL256 200 200 9,200 500 200
[ JL258 200 16,100 7,000 700 400
[JL260 200 10,200 200 200 200
[JL262 100 700 700 ,200 200
[ JL264 000 500 000 ,700 ,900
L266 200 .200 200 200 200
RRCAB=LOFEH | RRFE) R [_JL201 700 400 ,800 400 600
500 500 500 500 500
,900 800 500 500 500
200 200 200 200 200
WWOFHFE | Ju 200 200 200 200 200
400 500 500 500 500
500 500 000 500 500
600 400 500 600 900
R (HE)=HE RRCAE) 5 | JL217 500 500 500 500 500
L279 400 300 200 500 600
[JL283 000 1000 000 000 ,000
[JL285 000 700 ,900 400 700
L287 200 500 500 500 500
HER 276 .500 .000 .500 500 500
[JL278 800 500 700 500 500
[JL280 000 600 1,000 800 000
[JL28a 000 000 3,700 000 100
L286 800 .200 0,700 100 ,900

JAL



[R—N—%BERALE—IV)EERBR1T~21BEES)

EEEMA : 2023/01/06 ~
3/17 3/18 3/19 3/20 3/21
T A=/ HBEA L) | A RBEALEN) | ARG L) | A RBEALE—L) | A= HBEA L)
B B2 | maim
us-t:f WEE us-t:f WEE us-t:f
ES G E ) BR(FE) ¥ [ JL453 9,400 9,400 9,400 400 9,400
[JL4s5 13,100 17.400 17,200 .900 18,700
[JL459 9,500 17,400 9,500 500 9,500
Ld61 9,600 9,500 17,200 500 17,400
[ JL463 13,400 17,400 9,500 14,900 9500
L465 000 9,000 9,000 9,000 9,000
BEBRE | Jus2 000 9,000 9,000 9,000 9,000
[ JLdsa 12,400 9,500 17,900 9,500 17,500
[ JL456 500 17.400 500 14,100 9,500
[ JL460 600 9,500 18,700 500 17,800
462 12,700 17,400 18,500 .900 17,800
L464 500 500 500 500 500
EEACEETN RRCAE) 5 |_JL4T5 100 10,100 10,100 100 10,100
L477 400 16,500 16,700 16,400 18,500
L479 100 10.100 10,100 10,100 10,100
L481 .700 .900 900 900 900
1483 9,900 900 300 100 400
[ JL4ss 5,800 600 100 100 100
L487 7,700 100 100 100 100
i3 L474 100 100 100 100 100
L476 100 100 100 500 100
[JL478 500 600 700 .200 100
[ JL480 500 .900 9,900 .900 900
[Jras2 ,900 900 18,800 .900 17,900
[ JLdsa 17,800 300 1,700 .700 21,400
L486 10,100 100 100 100 10,100
HR(FH) BER(FE) R L491 700 ,600 700 700 700
[ JL493 10,000 600 000 400 18,600
[JLa95 600 600 600 600 600
[ JLdo7 10,000 ,600 700 100 18,600
L499 100 100 100 100 100
wmHSE | JL4%0 10,000 100 100 100 100
[ JL492 100 ,600 000 ,700 18,600
[ JLdo4 10,000 100 100 100 100
[ JL496 700 700 .700 700 600
L498 000 ,600 000 100 600
HR CRIE)=# L RR(HE) % L431 800 600 ,200 7,000 400
[JL433 000 700 000 11,000 000
[JL43s 500 600 600 9,600 600
[Jr4s7 600 600 1,400 17,900 18,600
[JL439 16,500 600 600 600 600
L443 600 600 600 600 600
WILFE [ _JL430 600 600 600 600 600
[JL432 500 600 19,200 600 500
[ JL43a 700 ,600 600 400 600
[ JL436 000 000 000 000 000
L438 000 000 600 000 500
L440 300 500 400 800 200
RECAE) =AM RRECHE) % L373 .500 .500 .500 .500 .500
L375 500 500 500 500 500
L377 000 000 000 000 000
L37: 000 000 000 000 000
FEAMFE L37 000 ,000 600 000 000
L37 500 500 700 900 700
L37 500 .000 700 500 700
L37 000 000 400 000 400
B (FE)=X5 RRECHE) % L661 .700 400 600 800 .500
L663 500 800 100 500 100
[ JL665 400 800 200 .900 600
[ JL667 800 600 300 ,900 300
[ JL669 000 600 700 ,900 400
L671 000 ,000 000 000 600
KA%E | JL662 ,000 000 000 ,000 000
[ JL664 400 .300 200 200 500
[ JL668 500 ,900 ,000 100 200
L670 100 300 800 400 300
L672 100 000 100 800 600
L674 000 ,900 700 100 800
B (FH) =R RECRE) % [_JL605 .900 .800 200 800 .000
[ JL607 800 800 000 800 600
[ JL609 900 300 200 500 400
L611 900 300 200 500 400
L613 000 .000 700 000 800
L615 ,000 ,000 ,900 000 000
RIER [ JL606 000 500 400 .900 6,900
[ JL608 000 300 200 100 5,600
L6 900 .000 400 800 6.100
L 300 600 600 800 7.300
L 300 600 600 800 7,300
L 500 600 200 500 200
RRCAE) feh R CPE) % | JL62 000 .900 000 000 000
900 500 500 100 500
000 .900 100 .000 100
900 300 200 600 ,900
900 300 200 600 ,900
300 400 600 700 100
400 .900 600 700 7.100
| 400 000 000 000 7.700
AR ,900 400 ,000 000 4,400
600 .900 200 ,600 5800
800 1900 400 .200 7,100
100 ,000 000 000 7,900
100 ,100 ,900 ,800 6.700
100 100 ,900 ,800 6.700
400 300 100 400 7,800
7.400 700 100 .900 7,800
B (FH)=8% RECFE) % [_JLes7 .900 200 .300 500 300
[ JL689 900 600 .700 500 .700
L691 400 600 700 500 900
[ JL693 000 700 100 500 100
[ JL695 900 100 900 500 400
L697 000 000 500 000 400
HEFE | _JL6ss 000 400 100 ,000 000
[ JL690 400 400 500 700 300
[ JL692 000 ,000 300 .900 200
[ JL694 400 800 300 100 200
[ JL696 000 700 300 300 200
L698 100 ,900 500 300 700
RECHE)=ER RRECHE) % L641 .500 .900 .800 000 .000
L643 500 ,600 800 .000 ,000
L645 500 .900 800 .000 ,000
L647 100 400 ,000 12,500 700
L649 100 400 ,000 11,500 700
L651 100 100 ,000 000 900
[ JL653 500 500 800 12,500 500
L655 000 000 8,500 10,000 000
BERER L 600 500 9,000 000 000
L 600 ,000 300 ,000 ,000
L644 600 ,000 300 000 ,000
L 600 000 300 ,000 000
[ 500 800 800 400 400
[ JL650 500 ,800 800 400 7,400
[ JL652 500 .800 800 300 7.400
4 500 .800 800 300 100
R () =BfE AR (R % [ JL2123 .500 .900 100 100 .200
IR L2124 300 400 200 .200 900
RBEE (FED)=ALIR F T [2 S B (F5D) F[_JL3101 .600 .600 900 000 .300
[LJL3io7 300 .300 400 400 400
_I L3117 000 400 200 1,200 200
FLIR (37 F %) 3[_JL3106 300 900 ,900 2,000 ,400
[JL3tig 500 400 ,900 7.400 200
[J3iis 600 500 ,900 6.000 300
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[R—N—%BERALE—IV)EERBR1T~21BEES)

EEEMA : 2023/01/06 ~
3/17 3/18 3/19 3/20 3/21
) B FH A=/ R BEA L) | A=/ EBEA L) | A=/ —RAEA L) | A=A~ RBEA L) | A~ BB L=
. AR P E
us-t:f WEE us-t:f WEE us-t:f
RRCHE)=RE RRCAE)F [ JL971 ,000 600 5,200 500 500
L973 000 600 4,200 ,000 000
RER L972 000 .000 1,000 800 700
74 ,000 200 7,000 500 800
IR FFR)=%BH  [fLIR FTFH) L2 700 800 800 500 500
L2 700 800 7,800 11.200 11,700
L2 500 800 7.800 11,200 11,700
ESFES Lz 700 800 7.800 11,200 6,500
L2 700 800 6,500 6,500 700
L2 700 800 7,800 200 .700
ENAGEOE FLOE (B3 % [_JL2861 ,800 12,200 7.900 900 200
[JL2863 800 12,200 200 900 200
[ JL2865 200 12,200 200 900 200
[JL2869 7,900 7.900 800 200 800
BEExE [ L2860 ,800 800 ,200 900 900
["JL2862 800 ,800 200 ,200 200
[JL2864 800 200 200 ,200 200
L2868 800 200 200 200 200
ALIR () =BfE FLIR (B3 % [ JL27: .900 —— 100 700 100
L2 900 100 100 700 900
L2 900 100 100 700 100
L2 900 100 100 700 100
L2 100 100 100 100 100
L2 100 00 900 100 900
L2 900 — 6,900 6,900 ,900
B3 L2 900 900 7,800 6,900 900
L2 900 .900 —- 700 900
L2744 900 .900 900 700 900
L2 900 .900 900 700 900
L2 900 .900 100 700 100
L2 900 .900 100 700 100
L2 900 .900 100 700 100
FLIE () HLIR(EB) 2 | JL2 500 500 500 8,500 —
=iR3E 6 .500 .500 500 8,500 —
R (EH)-Z A LR (B3 % [ JL2721 11,700 .900 .900 11,700 11,700
L2727 ,900 800 800 900 900
B3 L2720 900 800 6,900 .900 ,900
["JL2726 12,100 800 6,900 ,900 ,900
AR (FE)=8d HECRE) % | JLo31 23,000 38,100 33,100 20,000 000
BEE L936 20,000 20,000 23,000 29,700 ,100

JAL



IS RFEALt—IV) EE

EEEMA : 2023/01/06 ~
3/22-25
R % ﬁiglﬁ TN ERBELLt—IL)
us-t:f
RECHE)=XR(F/) | RRCAE) % L 7 7.000
L 7 9,500
L 7 200
L 7 400
L 7 800
L 7 800
L 7 400
L 7 000
L 7 300
L 7 800
L 7 300
L 7 300
L 7 400
L 7 400
L 7 900
KB (FFFH L 7 7,700
L 7 10,000
L 7 12,100
L 7 11,600
L 7 500
L 7 10,600
L 7! 10,000 67% ,000, +:10,600
L 7! ,900 67% ,000, +:10,700
L 7! ,900 67% 000, £:10.600
L 7 500 69%
L 7! 900 67% 000, £:10.200
L 7 500 65%
L 7! 400 59% 300, £:11.100
L 7 900 61% 800, £:10,600
L 7 000 67 %:14.400. £.5.000
RR(HE)=-AR (%) | RmCRE) &% [ JL221 7 .200 66%
7 000 | 67
7 000 7 0,400, +:9.800
ENAGCGEIE N 7 000 7 100, £:7.300
7 400 76% 7.
7 800 .000
HRE (HE) =R FFm) | RREEE [ J 7 000 000, ;t\:nou
7 000
7 100
7 .700
7 300
L 7 300
L 7 100 56%
L 7 100 50%
L 7 000 50%
L 7 000 73%
[JL52 7 500 74%
[ JL52: 7 000 75%
[Js25 [ 7 500 76%
[Js27 [ 7 000 77%
[Js29 [ 7 500 78%
L531 | 7! 000 79%
FLIE (FF ) & 500 7! 000
[JLs02 | 7 500
[JLs504 | 7 000
[JL506 | 7 500
[JLs08 | 7 000
L5 7 600 8,600, :18,500
L 7 100 6,400, A:17,000, £:18,400
Lt 7! ,400 58% 900, %:20,800
Lt 7 400 58% 2:21,200, £:17.300
Lt 7! 400 60% 500, £:15.800
[JL520 | 7 7400 | 60% £:21500, £:15,800
[JL522 | 7 7400 60% | %:21.500. £:15800
[ JL524 7 ,900 6 000, £:15.300
[JL526 | 7 900 20,700, £:15.300
[Js28 [ 7 500 9300
[Js30 [ 7 000 7.300
R CHE) =&/ B (W) % | JL303 | 7 000 ,000, £:15,000
[JL305 | 7 800
[JL307 | 7 600 6
L309 | 7 400 62%
L: 7 400 64%
L: 7 400 62%
L: 7 800 65%
L: 7 100 69%
L: 7 800 69%
L: 7 700 67%
L: 7 600 63%
[JL325 | 7 7400 _ 64%
[JL327 | 7 000 62%
[JL329 | 7 700 59%
331 | 7 000 60%
[JL333 | 7 000 60%
1335 | 7! 000 | 69%
[JL300 | 7 000 69%
[JL302 | 7 800 63%
[JL304 | 7 8200 | 62%
[JL306 | 7 7700 63%
L308 | 7 0000 58%
L: 7 6700 65% 417,800, 17300
K 7! 7500 64% 5,900, #:16,100, £:17,000
L: 7 5800 67% 7500, £:16,700
L: 7 6000 | 67%  £:19,200, £:16,700
L: 7 1200 56% 7300, A:17. 400 £:16.800
[JL320 | 7 7100 64% 200, £:16.
[JL322 | 7 600 55% 600, A:17.
[JL32a | 7 600 50% 000, £:16,500
[ JL326 7 ,600 59% 000, £:16
[ JL32s 7 100 60% 400, £:15
[ JL330 7 ,300 60% 500, £:16.
[ JL332 7 .000 69% 000, £:14,
RECHE) =% @5 RECFE) % [_JL565 7 600 82%
[ JL567 7 500 69% _ 7K:14,400, K:14,200, £:15,600
L569 | 7. 000 79
ESSTES L562 | 7 .000 79%
[ JLs564 7 ,200 72% _ 7K:14.600, A:14,900, £:14.700
[ JLs66 | 7 9,600 82%
B CRE) =Rl RECHE) % [_JLs51 7 9,600 81% £:11,000
[ JL553 7 7,000 67% _ 7K:12,000, A:13,500, %:14.500
[JLss5 [ 7 000 | 79%
L557 7! 500 72% _ 7K:13,000, A:13,300, £:12,300
JENIES 552 7! .500 80% [#£:13,800, £:14.100
[JLs54 | 7 000 79%
[ JL556 | 7 000 | 77% _ %:13000
[ JL558 7 .200 82% [£:0,600
R (CFIE) =8IER RRECHE) % Lt 7 600 81%
Lt 7! ,400 70% _ 7K:14,500, #:14,800
L 7 000 78%
ElEEES L 7 000 78%
L 7 900 73%  %:15500, £:14,800
L544 | 7' 9,600 81%
HR(HE)=FE RR(HE) % Lt 7 9,600 81%  #:11,700, £:14,600
L57' 7! 600 71% __ 7K:13,600, A:14,200
L57 7 .000 78%  £:14,600, £:14.600
L57 7 000 76
HLFE L57( 7 000 7 £:13,000, 1:13,000
L57: 7! ,400 7. #:15,200, £:14700
L57: 7 000 7
[ JL57 7 9,600 8
HR (FH) =B R (FE) % [ JL585 7 ,000 69%  £:18,000, £:19,000
7 700 69% _ %:15,000, £:15,500
7 600 74%
E3E3 7 600 74%
7 200 66% _ %:15,200, £:14,000
7 000 | 69%  £:12,000

R (BA2~25BEFS)

JAL
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) B4 FH — TN EBELLt—IL)
AR EEE E=%: WE
EETE
HR(FH)= RR(FE) % L 7 000 75%  +:13,000
L 7 .000
L 7 000
L 7 100
L 7 500
L 7 000
BB L 7 000
L 7 500
144 | 7 000
L 7 .000
L 7 000
L 7 000
RR(HE) % L 7 500 76%  1£:13.400
L 7 900 75%  %:13,400, F:13,400
L 7 900 75%  %:13,400, F:13,400
L 7 500 78
L 7! 10,200 74 400, +:13,400
L 7 500 7 400, +:13,400
L 7! ,900 7! 400, +:13.400
L 7 500 7
R CFIE) =B RRERCHE) % L 7 .000 7
L 7 14800 55%  %:15500, £:11,000
L 7 11000 67% _ 2:11,400
L 7 9,500 7%
HER L 7! 11,000 67%  1:10,600
L 7 11000 67% _ £:11,500
L 7 13200 60%  %:13,600. £:11,000
L 7 9,000 7%
HRE(HE) =% RR(HE) % L 7 7.200 69% $:7,500, £:8,700
Li7 7 7,100 67% %8800, 0
=3 L17: 7 7.200 69% 2:8.800, £:8,800
L17 7 500 68% 200
R CHE) =M RRECHE) % L 7 000 73%
L 7 10,600 64%
L 7 400 68%
L 7 500 68%
L 7 000 73%
L 7 000 7%
INAFE L 7 000 7%
L 7 000 73%
L 7 400 68%
L 7 600 68%
L 7 600 68%
L 7 000 73% 00
RRCHE)-AiKEE | RRFRSE L 7 17,000 56% 700, 7:16,000, £:16.500
L: 7 10700 | 72%  %:15,500, £:16,000
L: 7 ,000 7% 600
mREER L. 7 000 7%
L: 7 10700 72%
L: 7 11,700 70%
HR CFIE) =fE L RRECHE) % L 7 11,300 72%
L: 7 500 79%
L: 7 ,900 75% _ £:9.800
L 7! 12,200 69%  7K:12,100, A:11,900, £:10.500
L: 7 500 81%
[=TES L: 7 500 81%
L 7! 12,600 68%  7K:12.300, A:12,100, £:11,400
L: 7 ,900 75% _ +:9.800
L: 7 000 7%
L 7! 14,000 65% _ 7K:13.500, A:13,400, £:12,700
B (FH)=ES RECHE) % [_JL2! 7 8,500 79%
[ JL255 7! 11,500 72% _ 7K:11.300, £:10,700
[JL257 [ 7 9,000 78%
[ JL259 7 14,700 64% _ 7K:14.600, A:14,500, £:13.200
261 | 7 8,000 80%
[ Jr263 7 11,700 71% _ 7K:11.500, A:11,300, £:11,200
[ JL265 7 12,600 69%  7K:12,500, A:12,300, £:11,200
267 | 7 500 79%
EB% | J252 | 7 10,600 | 74% 7K:10,400. £:10,100
[JL25a [ 7 000 78%
[ JL2s6 | 7 000 80%
[ JL258 7 ,200 77% _7K:8.900, 1:8.700
[JL260 [ 7 500 79%
[ Jr262 7 14,100 65%  7K:13,600, A:13,400, £:12,200
[ Jro64 7 15,000 63% _ 7K:14.600, A:14.400, £:12,200
L266 | 7' 9,000 78%
HER(PHE)-=LOFH | RRPER L291 7 11,600 74%
[JL293 [ 7 9,900 78%
[Jr205 | 7 13300 71%  %:13,500, £:12,300
[JL297 [ 7 9,900 78%
WOFESE | J290 | 7 9,900 78%
[Jr202 | 7 13800 70% _ £:14,700
[J29a [ 7 9,900 78%
1206 | 7 12000 73%  %:16,000, £:11,200
B (CHE)=HE RRECAE) % L277 7 9,900
279 7! 17,400 7K:17,000, 16,700, £:16.500
[Jr2s3 | 7 9,900
[Jr2s5s | 7 9,900
287 7! 13,200 65% _ 7K:12,500, A:12,800, £:11,000
HER L276 7 .900 74%
[ JL278 7! 12,400 67% _ 7K:12,000, £:11,500
[JL280 [ 7 900 74%
[JL28a [ 7 10500 | 72%
L286 | 7 13900 63% _ £:14500
R (HE)-EE RRCPE) R | JI453 | 7 ,900 7%
[ JLas5 7 12,200 69% _ 7K:11,400, K:11.200. £:9.500
[JLase [ 7 900 7%
461 | 7 200 77% 19500
[ JLa63 7 12,200 69% _ 7K:11,000, K:10.700. £:9.500
L465 | 7! 900 80%
mERE [ Jus2 7 1900 80%
[ JLd54 [ 7 11,600 7 7K:10,500, #:10,300. £:9.500
[JLase | 7 8,900 77"
[ JLd60 | 7 9,200 77% 19500
L462 7! 11,900 7 7K:10,800, #:10,700, £:9.500
L464 | 7! 8,900 7
R (HE) =B R (FE) % [ JL4T! 7 8,900 T
LAT 7! 11,800 7 7K:11,300, £:10,800
L47! 7 8,900 7
L48 7! 11,600 7 7K:11,100, 7:10,800, £:10.200
L48: 7 8,500 78%
[ JLass 7 14,900 62%  7K:12,200, A:11,900, £:10.100
487 7! 16,900 57%  7K:16.100, A:15,800, £:10.600
BINRE La74 | 7 8,900 77%
L476 7! 14,600 63%  7K:13.100, A:12,800, £:12,500
[JLa7s | 7 200 T7% _ 7K:9.100
[JL4so | 7 10,100 74% _ £:10,500
[JLasa [ 7 900 7%
[ Jrass 7 12,400 68%  JK:11.600, A:12,300, £:10.400
L486 7! 16.200 59%  7K:15.500, A:15,300, £:11,200
R CHE)= RRCPE) R | J491 | 7 500 79%
[JLd4e3 | 7 700 77"
[JLags [ 7 900 81
[JLde7 | 7 700 77"
499 | 7 900 81
BEFE [ _JL490 7 700 77
[JLag2 [ 7 900 81
[Jrdea | 7 700 77"
[JLage [ 7 500 79%
1498 | 7 700 77%

JAL
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3/22-25
R % ﬁiglﬁ o TN EBELLt—IL)
wEg e i
R (HE) =2l R (AR % L431 7 13,500 68% _ 7K:11,800, A:12,000, 1:11,400
[JLass [ 7 900 76%
[ JL435 7! 10,100 76% _ 7K:10,000, £:11,000
[JLa37 [ 7 900 79
[ Jra3g 7 15,600 63%  7K:14.100, A:13,700, £:11,600
L443 | 7! 900 79
L% | Juas0 | 7 ,900 7
[ Jra32 7 11,000 74%  7K:10,500, £:9.700
[JLdsa | 7 10100 |76
[JLase [ 7 900 7%
438 | 7 900 76%
L440 7! ,000 64%  7K:14.000, A:13,600, £:11,800
RRCRE)=1LAM R (A% L37: 7 000 67%
L37 7 000 | 69% |
L37 7 000 | 75% £:15000
L37: 7 000 | 75% £:15,000
FEAMFE L37 7 000 | 75%
L37 7 200 68%
7 7! 200 68% 000, £:13.400
L37 7 000 | 75% ,000, :10,800
B (HE)=X5 RRECHE) % L661 7 600 1%
L663 | 7 300 69%
[ JL665 | 7 700 71%
[ JLe67 | 7 000 72%
[JL669 | 7 000 72%
671 | 7 000 74 X
AHFE [ Je62 | 7 000 7 000
[ JL664 7 ,700 7 100, £:15,000
[ JL668 7 .800 7 700, £:12.700
L670 7 ,200 7 2:13,100, £:13,100
L672 | 7 000 72% _ %:13,400, £:13,400
674 | 7 300 |74 100, £:13,400
RRCHE)=RK RECHE) % [_JLe0s | 7 700 7! ,400, £:14,300
[ JL607 7 ,400 7 900, £:14.300
[ JL609 7 ,000 7 900, £:13,900
L611 7 ,000 7 900, £:13,900
L613 | 7' 000 7 400
615 7! ,600 7 ,000, +:14,100
RIGH [ JL606 7 600 7 +
L608 | 7 900 7 100
L6 7 ,400 7 ,900, +:13,900
L 7 400 7
L 7 400 7
L 7 700 7
B (CFE) =X RECFE) % [_JL62: 7 ,000 7
7 800 69%
7 300 68%
7 ,600 70% 400, 1:16.000
7 ,600 70% 14,400, £:16,000
7 100 66%
7 200 66%
7 800 | 65%
33 7 000 | 69%
7 100 66%
7! ,800 65% 700, £:16.700
7 000 | 69%
7! 500 68% 700, £:16,000
7 500 68% :15,700, 16,000
7 200 66% 18,100
7 200 66%  %:18.400
R (FH)-ERS RR(HE) % L 7 600 87% :7.100, F:8,000
L 7 500 83% 2:10,000, £:10,000
L 7 500 83% 2:10,000, £:10,000
L 7 500 81% 500, £:15.900
L 7 500 81% 500, £:14.900
L 7 500 81%
[J 7 000 82%
L655 | 7 000 82%
ERER L¢ 7 500 85%
L¢ 7! 9,500 8 .300, £:15,100
L644 7! 13,800 7: 500, 7:9,200, £:10,300
L¢ 7! 500 8 .300, +:15,100
[J 7 12,000 |76
[ JL6s50 | 7 12,000 |7
[ Jies2 | 7 000 82%
[ JL6sa | 7 000 84%
B (FE)=R1E RRECHE) % L971 7 000 75%
L973 | 7! 000 79%
RER L972 7 000 79%
74 | 7 000 | 75%
IR FFR)=%EBH  [fLIRFTFH) L. 7 200 78%
L2 7 200 78%
L2 7 200 78%
TS L2 7 200 78%
L2 7 200 78%
L2 7 200 78%
ALIR (E2) =HIER FUIR (BB % | JL2861 | 7 14,800 4
[(JL2863 | 7 14800 | 4
[[JL2865 | 7 6900 7
[[JL2869 | 7 6,900 7 —
fies [ JL2860 | 7 7,900 7 4,800, +:6.900
[(JL2862 | 7 800 4 2,100, £:6.900
[(JL2864 | 7 800 4 2,100, £:6.900
12868 | 7 ,800 4 2,100, £:6.900
ALIR () =BfE FLIR (B3 % [ JL27: 7 600 1:6.900
L2 7 7,600 7 .900
L2 7 7,600 7 .900
L2 7 7,600 7 .900
L2 7 900 68%
L2 7 900 68%
L2 7 900 68%
E3E3 L2 7 900 68%
L2 7 600 7
2744 | 7 7,600
L2 7 7,600 7
L2 7 7,600 7
L2 7 7,600 7
L2 7 7,600 7
LR (BB =% @5 FLIR(EBR) % [ JL2721 7 200 8%
7 200 78%
ESTES 7 200 78%
7 200 78% 00
RR(HE)=8d ESAEEE] 7 000 | 75% 221,000, £:21,000
BHRE 7 ,000 75%  £:21,000
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